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Sage O00OOO0OO0O0O0O0O0OOOO0O0OOCOCOOOOOOOOOOOOOOOOOOOOOOOOOOOO0O
OO0OO00OO0OOoOOO0OOoOOoOoOOSage00O0DOO0OO0OOOOOOOOOOOOOOOOOOOOOOOODODOO
coobooooooooboooOoooOoOoOoOoboOoO0oOOo0oOoOOoOoOoOoOOcO0ObOOOODbOOOOoOoOboOoOoDn
OOOO0OOO0O0OO0DDOOoOMapledl MathematicadMagmalMATLABOOOOOOOOOOOOOOOOODO
coooooooocooboooo
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010

oy

ooooooooooooooooooOoOOOCOcOOOoO0O0O0o0ooooooo0O0OHdHT™ML OO PDFOODOOO
O0000000DSage0 0000000000 O0DOOOO(@MODOOCODOOOO Sage00O0O0O0O0OOO
OOO0OO0OO0O0O0OO0O00 Help,OOO Tutorial DOODODODODO)O

Sage 00 OO0OODOO PythonOODOOODOOOOOODODOODOOOOOO0OODOOODOOOOOODO PythonO
00000000000000 PythonOO0O0O0O0O0D00OO0OO0OOD(@MOOODOOOOO)DODOOOOOOOODO
[PyT]O [Dive] 0000000 OCCOCOOO0O0O00000000O0O0O0O0O0O0O0OOODODOO SageOdOOO00O0O
oooboooooooobo0ooooOooobooooooooooooDO:

sage: 2 + 2

4

sage: factor (-2007)
-1 % 372 %= 223

sage: A = matrix (4,4, range(l6)); A
[0 1 2 3]
[ 4 5 6 7]
[ 8 9 10 11]
[12 13 14 15]

sage: factor (A.charpoly())
xX"2 % (x"2 - 30xx - 80)

sage: m = matrix(ZZ,2, range(4))
sage: m[0,0] = m[0,0] - 3

sage: m

[-3 1]

[ 2 3]

sage: E = EllipticCurve([1,2,3,4,5]1);
sage: E
Elliptic Curve defined by y"2 + xxy + 3xy = x"3 + 2xx"2 + 4xx + 5

over Rational Field
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sage: E.anlist (10)

[OI 1/ lr OI 71! 73/ OI 71/ 73/ 73/ 73]
sage: E.rank()

1

sage: k = 1/(sqrt(3)+I + 3/4 + sqrt(73)%5/9); k
36/ (20xsqrt (73) + 36xIxsqrt(3) + 27)

sage: N (k)
0.165495678130644 - 0.0521492082074256*1I
sage: N(k,30) # O0O0O 30000

0.16549568 - 0.052149208%1
sage: latex (k)
\frac{36}{20 \, \sqgrt{73} + 36 i \, \sqgrt{3} + 27}

11 000000

OO0 Sage 000ODO0D0O0DO0ODO0OOOODDOODOOODOOOOOODOOOOOODOOOOOO
http://sagecell.sagemath.org 00000000000 OODCOOOO

Sage 000000000000 DODOOCOOOOOOODODODOOOD SageOODOOOO [SAJOOODOOOO
OOO0OO0O0OO “Sagelnstallation Guide”’ 000 00000O0O0OO0OOOCOOOCOOCOOOOOOUOOOOOO

1. Sage 000 0000000000000 O0O0O0O0ODO0O0OOODDOSage D Python, IPython, PARI, GAP,
Singular, Maxima, NTL,GMP 0 0 0 00 0000000000000 0 Sage D 000000000000
00000000000000000000000000000Macaulayd KASHOOOOOOOOOO
000000000000000 Sagee 0000000000000 O0O0O00000O0O0O0O0O0OOOOO0O
00000000000000000000000000 (CO0000000000000000000
0000, sage —optional 00000 DOD0D0D0D0O0 Sage00000O0D “Download”’ 0000000
00)0

2. 0000000000000 Sage(Sage OO0 O0O0)00O0OO0OO0O0U0UOO0DODODODODODOOOOOOOOO
gbdbobobooobobouobuobdobdbotb sagedbgbobobobobooooooon

3. SageTeXOOODOODOOODOODOODOO (SageTeX O Sage OO0 O0OODO LaTeXOOOOOOODODOO
O00D)HDODOOO0O0 TeXOOOOOOOODOOO SageTeXOODODOOOODODOOOODOOOOOO
O O Sage installation guide O O “Make SageTeX knownto TeX” 0 0 000000 (DOOOOOOOODO
00 0ooO0oOoOoOOO0O0OO0OO0O0OOOH)OODOODODOODODDODOODODODOODOODOOOOOOODOO TeXOO
0000O0oooooooo 10o0b00ooooooooon

SageTeX 0 00O O O0ODODODOSSAGE_ROOT/local/share/texmf/tex/latex/sagetex/ 0 OO0
S$SSAGE_ROOT 0 Sage 00D DDDODODUDODODODODOOOOODDODOOODO /opt/sage-4.2.1 00000
ooooooo

4 010 0000
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1.2 Sage 00000

Sage 00O 0OD0O0ODDOOODODOOODOO

- JO00C00ODOCODOOOCOOOOOOODOO:-0O0O00O0OODOOOOODOOOOOOOOOODOOODn
oooboooooobooobboooobo booooo

s JO000O0O0O0OOO:000000 00000

- J000000:Sage0 000000000000 ODOOOOOOOOOODOO0OO0OO (SageOOODO
oooooooooooooooooOooOo)ooon

«J00000D0:Sage 0000 UIDOOOUODOOOOODO PythonOOOODOOODO (OOOODO
Python/Sage DO 000 OODODO).

1.3 Sage 00000

«000:Sage 00000000000 O0O0O0O0O0O0OO@CODOOODOOODOOODO)OC0O0O0OOO00O0O0O
ooboooooobooooboooboooooooOooboOooobooOoooooOooDbDoOooobooOoOoOooon
O0Sage 0000000000000 O0O0DODOODOOODOOOODOOOOOOOOOODODODODODOOOO
OO0O0000O0000000000000C0O0Saged 000000 OO0ODOOOOOOOOOOOOOO
ooooooooon

«J00:000000000Saged GMP,PARL GAPNTLOOOOOOOOOODOOCOOOOOOOO
ooooooooOo0oobooooooooooooboboOoooooo

e Joobooobbboob-000bbooobboobobboobbooobboobboboobboon
OD0000 Sage0 0000000000000 0ODOOOCOOOOO0O0OOODOOOOOOOOOODOO
oboboboooooooobobobobooobooboooooDobobobobobobooooooboo
goboodoobooboobobooboooboobooboobboobboobbooboobbooboOoo
O000DO0O0CO0ODCOODO0O0O0O0ODO0O00O SageOOODOODOOODOODOODOO SageO DO
000000000000 DO00D0O0000dOO0OSage0000O0OO0ODOODOOOOODOOODOOOOODO
gboboboooooooboobob

- J0000000:SageJ0Linuxd OSXOOOO WindowsOODOOOOOOOOOOOODOODOOO
000000000000 00000000000000000 Sage00000O0OO0O0O0O0OODOOOO
ooo

e 00O 0O: Sage O OPARIO GAPO Singulard Maximall KASHO Magmal Mapled O O O Mathematica O O
000000000000 DO00DO00C000O00O00DU0DOoU0OOOSagedOO0O0OOOOOODO
gogbooooboobboooboo

e Jopob0O0o0:0000DbOO0O0DOO0ODLDbOOODODbOO0ODLDbOOODbOOODLDbOODDLDbDOOn
gbobobooobobobobobobooooobobobob

1.2. Sage 00O 5
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OJO00:000000O0CO0O0C0O00OO0O0DOOOOOODOOOOOOOOOODOOOOOOOOODO
ooobooooooooboboooooooooboooDboboOoooboooooon

JO00D0O00OO0COO0:0000D00O0O0O00O0COOO0OODOOODOOODOOOOCOOOOOODOODn
ooooooooooobooooo0oooooOooDOo0ooooooooOoo0oDOoOooDoOoOoOoooOn
oooooo
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020

Sage 00000

OO0O0O0O0O0Sage0 000000000 O0O0OOOOODOOOOODOOOOD..00000O0O0O0O0O0ODOO
O00O000000 “Sage Constructions” 00 000000000000 OCOO0O0O000O0O0DOOOOD “Sage
Reference Manual” D 0000 0000000000000 Sage0000000 HelpOOOOOOOOOOOO
oobooooooooobocoobooboooboooo

(0000000000 Sage00OO00ODOOO0ODOOOOOOOODOOOODODOOODOOOODO shift-enter
0000000 shift-enter 00000000000 O00O0COOO0OCOODOCOOO0 OO0O0OMacOOODO
OO0 shift-enter 0000 shift-return00000000000O0O0O0O)

21 0000000000

0000000000 00D0Sage00000O0DOODO PythonODOOODOODOOOPythonOOOODOOODO
Sage 00O O0OOOOOOOO

Sage 0000000 =0000000 ==0<=0>=0<0>00000

sage: a = 5
sage: a

5

sage: 2 == 2
True

sage: 2 == 3
False

sage: 2 < 3
True
sage: a == 5

True

oooooooooooobog:
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sage: 2x%*3 # *x+» 0000O0OD0OCOO

sage: 2”3 # ~ 000000000000 (PythonOOOOODOO)
sage: 10 % 3 # UOO0OOOOO % 0Omod, OOOODOOODOO

sage: 10/4

5/2
sage: 10//4 # 000000 /00000

sage: 4 *« (10 // 4) + 10 & 4 == 10
True

sage: 372x4 + 2%5

38

32«4 + 2%50000000000000000000O0ODOODOODOOOOOOODODODODOODOOODO
oobooooooocoobocoooog

Sage 00000000000 DOOOOOOOOOOOOOOODOOODOOOOOOOODODOOODOODOOOOO
oooo:

sage: sqrt(3.4)
1.84390889145858
sage: sin(5.135)
-0.912021158525540
sage: sin(pi/3)
1/2%sqgrt (3)

ooobooooooooboooooooooobo0oooboOo0oooooooobOo0ooDbOooobooOoOooooboOooD
00000 nO00D0D0OO0D0O0nO00O0@EIODOCO0OO0DOCO0O0 numerical_approxO0OO00O00O0ONDO
n000000) 00000000000 000000 prec0000000D00O0ODOODO digitsOOOOO
O0O000 S300000ooooooooo

sage: exp(2)

en2

sage: n(exp(2))

7.38905609893065

sage: sqgrt (pi) .numerical_approx()
1.77245385090552

sage: sin(10) .n(digits=5)

-0.54402

sage: N(sin(10),digits=10)
-0.5440211109

sage: numerical_approx(pi, prec=200)
3.1415926535897932384626433832795028841971693993751058209749

Python 000 O00OO0OO0O0DOOOOOOCOOOOOOOOOOOOOODOOOOOOOOOOOOOOOOCOOO

8 020 SageOOOQOO
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CooooooPpythonOOOOOOOOOOOODODODOOOOOOOOOOOOCOOODOOO:

sage: a = 5 # alO0O0O

sage: type(a)

<type 'sage.rings.integer.Integer'>
sage: a = 5/3 # aUO0O00000DO

sage: type(a)

<type 'sage.rings.rational.Rational'>
sage: a = 'hello' # OO0 aUO0OOO
sage: type(a)

<... 'str'>

000000000 CO00DoU0o0oDU00o00Do0oDo000o00o00U0DDO00o00o0o0og @Gnt)yO0O
oboboooobooboobobobooooooobooobooboon

22 000000

Sage 00 0OO0ODOOODOOOODOOOOUODOODO@MOO)00DODDODODOODUODDOODOUODO ?O0DO00ODOO
gbobooooooooog:

sage: tan?
Type: <class 'sage.calculus.calculus.Function_tan'>
Definition: tan( [noargspec] )

Docstring:

The tangent function

EXAMPLES:
sage: tan(pi)
0
sage: tan(3.1415)
-0.0000926535900581913
sage: tan(3.1415/4)
0.999953674278156
sage: tan(pi/4)

1
sage: tan(1/2)
tan(1/2)

sage: RR(tan(1/2))
0.546302489843790
sage: log2?

Type: <class 'sage.functions.constants.Log2'>
Definition: 1log2( [noargspec] )
Docstring:

The natural logarithm of the real number 2.

22. 000000 9
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EXAMPLES:
sage: log2
log2
sage: float (log2)
0.69314718055994529
sage: RR(log2)
0.693147180559945
sage: R = RealField(200); R
Real Field with 200 bits of precision
sage: R(log2)
0.69314718055994530941723212145817656807550013436025525412068

sage: 1 = (1-log2)/(l+log2); 1
(I - log(2))/(log(2) + 1)
sage: R(1)

0.18123221829928249948761381864650311423330609774776013488056

sage: maxima (log2)

log(2)

sage: maxima (log2) .float ()

.6931471805599453

sage: gp(log2)

0.6931471805599453094172321215 # 000 32000

0.69314718055994530941723212145817656807 # 000 64000

sage: sudoku?

File: sage/local/lib/python2.5/site-packages/sage/games/sudoku.py
Type: <... 'function'>

Definition: sudoku (A)

Docstring:

Solve the 9x9 Sudoku puzzle defined by the matrix A.

EXAMPLE:
sage: A = matrix(zz,9,(5,0,0, 0,8,0, 0,4,9, 0,0,0, 5,0,0,
0,3,0, 0,6,7, 3,0,0, 0,0,1, 1,5,0, 0,0,0, 0,0,0, 0,0,0, 2,0,8, 0,0,0,
o,0,0, 0,0,0, 0,1,8, 7,0,0, 0,0,4, 1,5,0, 0,3,0, 0,0,2,
0,0,0, 4,9,0, 0,5,0, 0,0,31)

sage: A

[50008004 9]
[00 05000 3 0]
[06 730000 1]
[1 5000000 0]
[00020800 0]
[000O0O0O0O0OT1 8]
[7 0000415 0]
[03 000200 0]
(4 9005000 3]

sage: sudoku (A)

[5136872429]
[84 95216 3 7]
[2 67 3495 81]

10 020 Saged 0000
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[1 5846 397 2]
[9 7 4218 36 5]
[326 79541 8]
[7 82 93415 6]
[6 3517 28 9 4]
[4 91856 72 3]

000 SageODO0OO0OOO0OOOOOODOOOODOOO ITABOOOOOOOODOOODOOOOOODOOOOOD
0000000000 taO0O0OODO TABOOOODOOOSaged tachyon, tan, tanh,taylord0000
0d0o00dbOoOO00obOO0o0bOo0o0oo0bOO0o0bOO00bDoO0o0obOO0o0obOoOOoobOOoOooOoboOooboOooo

23 00,000000000000

Sage 00 OO00O0ODOO0ODODODOO0Odef000000OO0DOOO0DOOOO0ODDO :DOO00ODODODOOODOOOO:

sage: def is_even(n):
e return n $ 2 == 0

sage: is_even(2)

sage: is_even(3)

oo:0o0o0ooooooooooobOooobooooooooopooobooooDo 20000000000 ....0
oooboooooboooooboooooooooboooobo0oooooooobOooOoboOoOoobooOoOooooboOooon
OO0000OO00000000000000000000O00000000 Return/Enter 000000000
ooboooooboooobooooooono

ooooooobooooboooooooooooobo0ooooooooooobooooobooOooooboOoon
Oob00O0oOo0o0O0o00DbO0O0n divisorOOOOOOOOOOOO divisor=20000000000:

sage: def is_divisible_by (number, divisor=2):

)

e return number % divisor == 0

sage: is_divisible_by (6, 2)

sage: is_divisible_by (6)

sage: is_divisible_by (6, 5)

booooobodboboooboboooobooooooboooobooooboooobobOoboooooogn
ooooocoooocooooooooo:

23. 00,000000000000 11
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sage: is_divisible_by (6, divisor=5)
False
sage: is_divisible_by (divisor=2, number=6)

True

Python0 00000000000 0000000D0000OOObbeginend00000O0OOODOOOOOOOOOO
O00O00O0Python OO OO00O0O0ODOOOOOO0O0ODODOODOOOO@OO)ODDODODOODOOOOOODOOO
000 return000000000O00O0OC0O0O0O0O0COOCOOO0ODOOOOOOOOOOOOOO0OOOO
ooooog:

sage: def even(n):

e v =[]

et for i in range (3, n):
et if i & 2 == 0:
e v.append (i)
el return v

Syntax Error:

return v

oooooooooooboooboooooooooboooooog:

sage: def even(n):

e v = []

e for i in range(3,n):
et if i & 2 == 0:
el v.append (i)
et return v

sage: even(10)

(4, 6, 8]

gd0oOod0oDbDoO00ooOoO0OoOoOoUooOo00oDOo0OooOoUoOooO00ooOoOooOooOOobOUlODoDOoooOoo
gogbooobobooboobobooboobboooog:

sage: a = 5; b =a + 3; ¢ =Db"2; c
64

1000000000000 00000000Ooo00o0oDooooDoDOoooDoOoon:

Sage 00 00000000O00O0O0O0O0OOOOOOOOOOOOOOOOOOODOODO 1000 C++0 JavaO
000 for(i=0; i<3; i++) 0000OD0OODOODO:

12 020 Saged 0000



: for i in range(3):

print (1)

0000000000 for(i=2;1i<5;i++) 000D0ODOOO

: for i in range(2,5):

print (i)

range

goboobboobuoobbooob,0bbOodb for(i=1;i<6;i+=2) 0000O0ODOO.

: for i in range(1,6,2):

print (i)

SageJO0O0O0O0O,0000 8.0

Sage 0000000000 OOCOO0OOOCOOOOOOOCOOOOOOOOOOOOODOOOOOOOOOOO
oo000ooo0o0o0ooo0o0ooboooobo 6000000 OOOODOOO20030000000000

sage: for i1 in range(5):
..... print ('$6s %6s %6s' % (i, 172, i"3))
0 0 0
1 1 1
2 4 8
3 9 27
4 16 64

SageOOOOOO0OO0O0OOOOOOOODOOODOOCOOOOCOOODOOOODOOOODOOOOOOOOOOO
00000 rangeO0O0O0O0O000O0O000O0O0O00OO

sage: range(2,10) # optional - python2

(2, 3, 4, 5, 6, 7, 8, 9]

sage: list (range(2,10)) # optional - python3
(2, 3, 4, 5, 6, 7, 8, 9]

oooooooobooooooog:

sage: v = 2/3,

= [1l, "hello", sin(x"3)]

sage:
[1, 'hello',

\4

2/3, sin(x"3)]

23. 00,000000000000 13
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gooooooooooooooooooooooooooobooboo

sage: v[0]
1
sage: v[3]

sin (x"3)

vilooooooouoU 1len(vy U000 vOOOOOODODODODDDDODDODOOOOO v.append (obj) O
OO00vO:00000000000000del vii1000:

sage: len(v)

4

sage: v.append(l.5)

sage: v

[1, 'hello', 2/3, sin(x”3), 1.50000000000000]
sage: del v([1l]

sage: Vv

(1, 2/3, sin(x”3), 1.50000000000000]

ocoooooooooooooooooooo(@obooooooo)boboooooooboOooooooOoooon
ooooooooooooooooOoooooooooooooooooooooooooooo@@ooooo
ooooOoOooooooooooooo)o

sage: d = {'hi':-2, 3/8:pi, e:pi}
sage: d['hi']

-2

sage: d[e]

pi

oobOoobOoobooobOoooOoobOOoOoOooooooooDooobOOoobOOobobOOoOobOOoOooOoOoooOoonn
Sage 00000000 O0DOOOO0OOOOOOOOOOOOOOOOOOORO0000000O0DOOOOOO
oooboOo0o0ooOocOo0obooOo0DOoOn0 1ist0000oooo

sage: class Evens(list):

e def _ init_ (self, n):

el self.n = n

e list.__init__ (self, range(2, n+tl, 2))
(self) :

el return "Even positive numbers up to n."

et def _ _repr

gboobobodobooboboboobobob _4init. 000000000 _repr__ OOO0OO0OO0O0OO0OO0ODO
Oo0000__init_ 0000020000000000000000000000 EvensOO00OOOODO
oooooooobooooooog:

sage: e = Evens (10)
sage: e

Even positive numbers up to n.

14 020 SageC OO0
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el00000O0O0OO0COOO0 _repr  OOO0OO0COOOOOOOO0ODOOOOOCOOCOOOOOOOODOO
Do00D0O0 1ist 00000

sage: list (e)
(2, 4, 6, 8, 10]

nddoooOoOoobo e0bOO0OO0OoOOOOODOOODOO

sage: e.n
10
sage: e[2]
6

24 00000OO00OO

Sage 00000000000 OOOOOOOOOOOOOOODOOOOOOOOOOOOOOOOODOODOOO
0000000000000 000000000000000D000 Sage Constructions0000000000O0O
ooooooooon

241 000000

oooooooood

solveUOOOOOOOOOOOOOOODOOODOOOOOODOOOOOOOOOOOODOOOOOOOOODn
Ooo0(@OoOooooo)boboo0000n solveOOOOOOODODODO:

sage: x = var('x")
sage: solve(x"2 + 3%x + 2, X)
[x == -2, x == -1]

oobooOooooooobOocOoOobOobocOooboOoooooOon:

sage: x, b, ¢ =var('x b c")
sage: solve([x"2 + b*x + c == 0],x)
[x == -1/2xb - 1/2+sqrt (b2 — 4%c), x == —-1/2+b + 1/2xsqrt (b"2 - 4xc)]

ooooooooooooogon:

sage: x, y = var('x, v')
sage: solve ([xty==6, x-y==4]1, x, V)
[[x == 5, v == 1]]

24. 0OD0O0OOOODOO 15
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SageJOOQOO0OOO,0000 8.0

OO0 JasonGrout 000 00000OSageO0OOOOOOOOOOOOOOOOOOOODOODOODOOODOODO
ooooog:

sage: var('x y p gq')

(2, v, P, Q)

sage: eqgl = ptg==9
sage: eqg2 = gxytpxx==-6

sage: eqg3 = gxy 2+p*xx"2==24

sage: solve([eql,eqg2,eq3,p==1],p,d,%,Y)

[[p==1, g ==8, x == -4/3%sqrt (10) - 2/3, y == 1/6xsqrt(10) - 2/3], [p == 1, q == 8,
—x == 4/3%sqrt (10) - 2/3, y == —-1/6xsqrt(10) - 2/3]1]

coooOooooocoOoboooboooon:

sage: solns = solve([eqgl,eq2,eq3,p==1]1,p,d,x%x,y, solution_dict=True)
sage: [[s[p].n(30), s[g]l.n(30), s[x].n(30), slyl.n(30)] for s in solns]
[[1.0000000, 8.0000000, -4.8830369, -0.13962039],

[1.0000000, 8.0000000, 3.5497035, -1.1937129]]

nddooodooooooooobo.n0b0000000000O000O0O0O00OO00O0D0OO0

cooooooood

OO00o0o0oo0@OoOo00o0)000 solvelOOOOOOOODOOOODOOOOOODOOODOOOODO
oobo000obbO find_reot 00O0OO0OO0OOO0OOO0OO0OO0OOODOOOOOOOOOOOOOODOOOOODO
U solveOOOOOOODOOOOOOOOOOO

sage: theta = var('theta')
sage: solve (cos (theta)==sin(theta), theta)
[sin (theta) == cos(theta)]

000000 find_root 00000 0<¢<7/2000000000000000000DOODOO.

sage: phi = var('phi'")
sage: find_root (cos (phi)==sin(phi),0,pi/2)
0.785398163397448...

242 000000000

Sage 00000000 DOO0OODODOOOOOOUODOUOODOD sin(uw) 0 «w00D000D0O0DO0ODOODOOOOO:

sage: u = var('u'")
sage: diff (sin(u), u)

cos (u)

16 020 SageC OO0
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sin(z?) 0 40000000000:

sage: diff(sin(x"2), x, 4)

16*xMxsin (x™2) — 48xx"2*xcos (x"2) — 12%sin(x"2)

22417420 20 y0OOODDODDODODO00O0O0O0OOOOO:

sage: x, y = var('x,y")
sage: f = x"2 + 17xy"2
sage: f.diff (x)

2%X

sage: f.diff (y)

34xy

000000000000 [asine?)de0 ) 555 dz000000000

sage: integral (xxsin(x"2), x)
-1/2%cos (x"2)

sage: integral (x/(x"2+1), x, 0, 1)
1/2%1og(2)

l DOoOoOoO00O0DODOO0O:

z2—1

sage: £ = 1/((1+x)=(x-1))
sage: f.partial_ fraction (x)
-1/2/(x + 1) + 1/2/(x - 1)

243 D0O00OODOOO

Sage 0000000 0DOOOOOOOOOOOOOO Z+2x—1=000000:

sage: t var ('t") # 00O t OO0

sage: X function('x") (t) # x 0O t OOOO0OO
sage: DE = diff(x, t) + x - 1

sage: desolve(DE, [x,t])

(_C + e™t)xe” (-t)

000 Sage 0 Maxima [Max] 00 0000000000000 00D0000000O00O00O00OO SageOJOOODO
00000000000 0000D00D00000D0000 2(t)=¢ete'+¢)00000000000OO

00000000000000D0000¢%' —sin(t)0000000000000000000:

sage: s = var("s")
sage: t = var("t")

sage: f = t"2+exp(t) - sin(t)

24. 0OD0O0OOOODOO
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sage: f.laplace(t,s)
-1/(s"2 + 1) + 2/(s - 1)"3

coobOooooOoocooboooOoOoOoOoOoOoOoO0oOobOOoO0O0OObOcOoOobOOOoOoODOOoOOObOOODO

—————— N/N/N/N/\N===Imassl|——-\/\/\/\/\/-——-Imass2 |
springl spring2

00002000000

ml.Tlll + (l{?l + ]{?2)5(51 —koxo =0

mgl‘g =+ k‘g(.’L‘g — 371) =0,

00000O000oO0o0oD0DO0D ;00000000 2z, 000000 /000000000000 0OD K OO0OG0
gboboooo

00: 00000000000000 my =2,mg =1,k =4,k =2, 2(0) =3, 2)(0) = 0, 22(0) = 3,
25(0)=00000Sage 00000000000

00:001000000000000000 (000 x=x1,y=220000):

sage: del = maxima ("2+xdiff(x(t),t, 2) + 6xx(t) — 2xy(t)")

sage: ldel = del.laplace("t","s"); 1ldel

2x ((—%at ('"diff(x(t),t,1),t=0))+s"2«"laplace(x(t),t,s)—x(0)+*s)-2x"'laplace(y(t),t,s)+6%*
—'laplace(x(t),t,s)

00000000000000000000000
—22(0) + 252 - X(s) — 252(0) — 2Y'(s) + 6X(s) =0

000000 (@O0O000D00000 2(t)0D00000D0O00O0DO0O0O0 X(s)DOODOOOD)D200000
obobooooooooo:

sage: de2 = maxima("diff(y(t),t, 2) + 2xy(t) — 2xx(t)")

sage: lde2 = de2.laplace("t","s"); ldez

(=%at ('diff(y(t),t,1),t=0))+s"2x"'laplace(y(t),t,s)+2+"laplace(y(t),t,s)—-2x%
—'laplace(x(t),t,s)-y(0)*xs

gooooogogo
—Y'(0) + s?Y (s) + 2Y(s) — 2X (s) — sy(0) = 0.

0000 z(0),2/(0),y(0) 0000 /(0)0000000002000000 X0YODOODO:

sage: var('s X Y'")
(s, X, Y)
sage: egns = [(2%x872+6) xX-2xY == 6xs, —2%X +(872+2)*Y == 3xs]

sage: solve(egns, X,Y)

18 020 Saged 0000
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[[X == 3x(s"3 + 3%s)/(s"4 + 5xs"2 + 4),
Y == 3% (s"3 + 5%s)/(s"4 + 5%s°2 + 4)]]

ooooooooooooboooon:

sage: var('s t')

(s, t)

sage: inverse_laplace ((3*xs"3 + 9xs)/(s"4 + 5%8"2 + 4),s,t)
cos (2*t) + 2%cos(t)

sage: inverse_laplace((3xs"3 + 15%s)/(s"4 + 5%xs"2 + 4),s,t)
—cos (2xt) + 4xcos (t)

ooooooooooooon

x1(t) = cos(2t) 4+ 2cos(t), x2(t) = 4cos(t) — cos(2t).

oooooooooooobooono

sage: t = var('t')
sage: P = parametric_plot ((cos(2xt) + 2xcos(t), 4xcos(t) - cos(2xt) ),
ce..t (t, 0, 2xpi), rgbcolor=hue(0.9))

coooocooooooooon

sage: t = var('t")
sage: pl = plot(cos(2+t) + 2xcos(t), (t,0, 2xpi), rgbcolor=hue(0.3))
sage: p2 = plot(4xcos(t) — cos(2+t), (t,0, 2xpi), rgbcolor=hue(0.6))
sage: show(pl + p2)

oobooooo0o ooboodb0 boooooobooooooooobooooooooooooan
[NagleEtAI2004] 0 5.500000000000000

244 000000000 ODOOOOOOO

goooool10000200000000000000000000O00O0O0O0O0O0O0O0O0O0 10000000
oooboooooboooobbooooooooooooobooo

y = f(z,y), yla)=c,
000000000000 000b>e00000 z=b00000000000000000000

ooooooooon

24. 0OD0O0OOOODOO 19
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000 h>000000000000000000000000000000000000 f(z,y(z) ~
Yeth (@) noppoo000 yle+h) 0000000:

y(x+h)=y(x)+h- fryx)).

(00000000000000000)A-f(z,y(z))0 “000”0000 y(z)0 yO “0000 (old)”, y(z + h)
0y0“0000 (ew)’0000000000000000

Ynew %yold+h'f(mayold)-
ooooobooooood

000 00 bVOODOOO0OOnOO0OD0OO0OO0OODOODO h:ZFT“DDDDDDDDDDDDDDDDDDDDDD
ooooooooooobooooboooboooo

x y h-fz,y)
a c h- f(a,c)
a+h c+h- f(a,c)

a+2h

b=a+nh | 77?

0000000000000 000000DO00L0000D0OUOLU0DLOOy)OODODDOODODOODOOOooOoO??7?
ooopoooooog

oobooooooooobocoobooboooboooo

O0:2' +t2+2=0,2(0)=1,2/(0)=000000 t=10000 2()00400000000000000
000000000000

0000000200000000 (z2=2y¢y=2000)0001000000000000000000O0O0
ooooooooon

sage: t,x,y = PolynomialRing(RealField(10),3,"txy") .gens()

sage: f =y; g=-x -y *x t
sage: eulers_method_2x2(f,g, O, 1, 0, 1/4, 1)
t X hxf(t,x,vy) y hxg(t, x,vy)
0 1 0.00 0 -0.25
1/4 1.0 -0.062 -0.25 -0.23
1/2 0.94 -0.12 -0.48 -0.17
3/4 0.82 -0.16 -0.66 -0.081
1 0.65 -0.18 -0.74 0.022

000000 2(1)~ 0650000

0 (zy) DOODDODODODOODOODOODDODOODOODDODOODODODDODODDODDOUODODODDODODOGO
eulers_method_2x2_plot 00000000 OODOOOD (4, z,yy OODDODDODODODOOOOO fOg0OO
coooocoooooooon

20 020 Saged 0000
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sage: f = lambda z: z[2] # f(t,x,y) =y
sage: g = lambda z: -sin(z[1l]) # g(t,x,y) = —-sin(x)
sage: P = eulers_method_2x2_plot(f,g, 0.0, 0.75, 0.0, 0.1, 1.0)

oooooCocpO200000000000D0O00DO0ODOODOzO0tO0O00ODOOODOPIOIDOOOYDY
gogboobobdgeibooboobboboboobbooboobooobg:

sage: show(P[O0] + P[1])

(ooooooooooo boobooooooon)

245 0000

O00000O0O0O0DOO0O0O0OODOOPARI/GAP]ODOO Maxima /Max)] 00 0000000000000 O0OODO
O Sage0O0OOOOOOOOOO" Orthogonal polynomials” (00O O O) O Special functions” (D OO 0) 00O
ooooooo

sage: x = polygen(QQ, 'x'")

sage: chebyshev_U (2, x)

dxx"2 - 1

sage: bessel_TI(1,1).n(250)
0.56515910399248502720769602760986330732889962162109200948029448947925564096
sage: bessel_I(1,1).n()

0.565159103992485

sage: bessel_I(2,1.1).n()

0.167089499251049

OO0000000000Sage0 000000000000 DOOO0ODODOOOO (wrapOOOOOOOO
0000000000000 0oUooUU0 MaximaODOOODOODOOOOODOOOODODOOOO

sage: maxima.eval ("f:bessel y (v, w)")
'bessel_y (v, w)"'
sage: maxima.eval ("diff (f,w)")

' (bessel_y (v-1,w)-bessel_y (v+l,w)) /2"

25000000

Sage 0000 2000003000000000000000000
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251 2000000

Sage0 2000000000000000O0ODO0OO0O0OOOOO0ODOOOO0DOOOOOOOOOOOODOOOO
gooooooooooOoOoOOOODOOOODOOOOODOOOOOOOODOOODODODODOOODDDDO
0000000000 Sage 0000000000000 00000 00000000 00 MaximaOODODO
Sage Constructions 000000000

ooooooooooooooooo1oooo0Oooog:

sage: circle((0,0), 1, rgbcolor=(1,1,0))

Graphics object consisting of 1 graphics primitive

gobooboboooboooo

sage: circle((0,0), 1, rgbcolor=(1,1,0), fill=True)

Graphics object consisting of 1 graphics primitive

ooboboooobooooboooooooooooooboOooooOooooboOoobooooboooOoo

sage: ¢ = circle((0,0), 1, rgbcolor=(1,1,0))

0000000000000 c.show() OO0 show(c) OOOOO:

sage: c.show()

0ddd c.save('filename.png') ODOOO0O0O0OO0OODOOO0 cO0OD0O0OO0OO0OO0OO0OOOOOOOOA.

gogooobooboobooboooboobooobooboobboobbobDboobboobbooboOoo
gbood:

sage: c.show(aspect_ratio=1)

O0OO00ODD0OD0D0ODO show(c, aspect_ratio=1) 000000000000 OOOOOOOOODODODDO
c.save ('filename.png', aspect_ratio=1) JOOOOODOOO

ooooooooooooo:

sage: plot(cos, (-5,5))

Graphics object consisting of 1 graphics primitive

gogboobbooboobboobooboboooog:

sage: x = var('x')
sage: parametric_plot ((cos(x),sin(x)"3), (x,0,2xpl), rgbcolor=hue (0.6))

Graphics object consisting of 1 graphics primitive
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SageJO0O0O0O0O,0000 8.0

ooooooboboobooooooOoOooooOoOobOoOoboOoboOobOOobOOobOOoOoboOobOOobOOobOOoOooOooOoon
gooooooooooooooooooogoogoogo(@obonD)ooooooooooooogoog

sage: plot(x"2, (x,300,500))
Graphics object consisting of 1 graphics primitive

oobooooooboooobooboboooooooooooooobooOgn:

sage: x = var('x')

sage: pl = parametric_plot ((cos(x),sin(x)), (x,0,2+pi),rgbcolor=hue(0.2))
sage: p2 = parametric_plot ((cos(x),sin(x)"2), (x,0,2+pi),rgbcolor=hue(0.4))
sage: p3 = parametric_plot ((cos(x),sin(x)"3), (x,0,2+pi),rgbcolor=hue(0.6))

sage: show(pl+p2+p3, axes=false)

ooooooOooo0ooo0o0oooo0ooooooooooooo0o0o0o0(@oboob0 Liooo polygonO0OO
gbobooboooooobooobooboboboboobooboooobooboboboboon:

sage: L = [[-1+cos(pi*1/100)* (1+cos(pi*1/100)),

c...: 2xsin(pixi/100)x (1-cos(pi*1i/100))] for i in range (200) ]
sage: p = polygon (L, rgbcolor=(1/8,3/4,1/2))

sage: p

Graphics object consisting of 1 graphics primitive

show (p, axes=false) UO000OO0O0O0O0OOO0OCOOOOOOOO

oooooooooooboooooogn:

sage: L = [[6*cos(pix1/100)+5xcos((6/2)+pixi/100),

....: 6%s5in(pi*i/100)-5xsin((6/2)*pi*i/100)] for i in range (200) ]
sage: p = polygon (L, rgbcolor=(1/8,1/4,1/2))

sage: t = text ("hypotrochoid", (5,4), rgbcolor=(1,0,0))

sage: show (p+t)

OoOO0OOoO0Carcsin00000000O0O0O0O0OOOOOOOOODOOODOODODOOODOOOOOOOOOOOD
0000000000 20 —2r00 27000 y=sin(x) 0000000 45000000000000000
OOO0OO0O0OD0ODb SageOOOOOOOOODOODOODOODO:

sage: v = [(sin(x),x) for x in srange(-2xfloat (pi),2+«float(pi),0.1)]
sage: line(v)

Graphics object consisting of 1 graphics primitive

OO0 (tan) D00 sin000000000000Caresin000000000000O00O0OODOOOXx-000O0
ooooooooboooobooooon:

sage: v = [(tan(x),x) for x in srange(-2+float (pi),2+«float(pi),0.01)]

sage: show(line(v), xmin=-20, xmax=20)
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Sage DO O(@OOOCOOOOOOCOOO)OOOO0OO0OOCOOOOOODOOOOOOODODOOOOOOOOO
ooobDoooooooooooobooon:

sage: f = lambda x,y: cos (x*y)
sage: contour_plot (f, (-4, 4), (-4, 4))

Graphics object consisting of 1 graphics primitive

252 3000000

Sage 00 30000000000000000O00000DO0OOO0OREPLOOOCOOO)0O000O3000
OO0O0000000ooooooooooOO0O0b0bD [Jmel)BOOOO0O00O0O0O0JmolOOO0O0OOOODOODO
oooboooooooooDo

plot3d000O0 f(x,y)=2000000000000000:

sage: x, y = var('x,y")
sage: plot3d(x"2 + y"2, (x,-2,2), (y,~2,2))
Graphics3d Object

000 parametric_plot3d0000 z,y,2000 1000020000000 @O000000000 u
OoO00000000O0O0C0O)00O0O0DOOOO0COOO00000O0O0OOOOC0COO0O00O0000O0O0O0OAO0
oooooooooooood:

sage: u, = var('u, v'")

v

sage: f_x(u, v) =u

sage: f_y(u, v) = v

sage: f_z(u, v) = u"2 + v"2

sage: parametric_plot3d([f_x, f_y, f_zl, (u, -2, 2), (v, -2, 2))

Graphics3d Object

Sage 0 30000000000000OCOO0O0O00ODO implicit_plot3dd 0000000 (COOODOCOO
0o0o00o00) f(x,y,2)=0000000000000000000000000ODOOOODOOOOOOO
ooo:

sage: x, y, z = var('x, vy, z")
sage: implicit_plot3d(x"2 + y"2 + z"2 - 4, (x,-2, 2), (y,=2, 2), (z,-2, 2))
Graphics3d Object

O000oo0o0o00ooo30000000000000:

gobooobood:

sage: u, v = var('u,v')
sage: fx = uxv

sage: fy =

|
o
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sage: fz = v”"2

sage: parametric_plot3d([fx, fy, fzl, (u, -1, 1), (v, -1, 1),
....: frame=False, color="yellow")

Graphics3d Object

OooooO0O @Ooo):

sage: u, v = var('u,v")

sage: fx = (l+cos(v))*cos(u)

sage: fy = (l+cos(v))=*sin(u)

sage: fz = —-tanh((2/3)* (u-pi))*sin(v)

sage: parametric_plot3d([fx, fy, fzl, (u, 0, 2xpi), (v, 0, 2+pi),
....: frame=False, color="red")
Graphics3d Object

O0O0000oo (twisted torus):

sage: u, v = var('u,v")

sage: fx = (3+sin(v)-+cos(u))xcos(2*v)

sage: fy = (3+sin(v)+cos(u))*sin(2*v)

sage: fz = sin(u)+2xcos(v)

sage: parametric_plot3d([fx, fy, fzl, (u, 0, 2xpi), (v, 0, 2xpi),

....: frame=False, color="red")
Graphics3d Object

0000000 (OO0, lemniscate):

sage: x, y, z = var('x,vy,z")

sage: f(x, vy, z) = 4*x"2 x (X"2 + y"2 + 272 + z) + y"2 x (y"2 + z"2 - 1)
sage: implicit_plot3d(f, (x, -0.5, 0.5), (y, -1, 1), (z, -1, 1))
Graphics3d Object

26 000000000
000000000000000000000000000000000000000000000000000
0000000000000000000000

Sage 00000000 D0DOOOOODODODOOOODODO:

1.00,000000000000 00000000000 00PYthon0 0000000 OODOODOOODOODO
gboboboooooboooboboboboooog

sage: def f(z): return z"2
sage: type(f)
<... 'function'>
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sage: £ (3)
9
sage: plot(f, 0, 2)

Graphics object consisting of 1 graphics primitive

000000000000000000000 plot(£f(z), 0, 2)00000000000000000OO
000zO f00000000000000C0C000000000000000000000000 £(z) 00
000000000000000000000000000000000000000000000000000
000 (@O0 40000)0

sage: var('z") # zOOOOOOOO
4

sage: f(z)

z"2

sage: plot(f(z), 0, 2)

Graphics object consisting of 1 graphics primitive

ooooo £(z)y DO0DO0OO0O0OO0OO0OOOO0O0O0OOO0OO0OOCOO0DOOO0OOOO0OO0OCO00O0

2.00000000000000 004/ (callable symbolicexpression) 10 000000000000C0COCO0O00O0O
ooooooooo

sage: g(x) = x"2

sage: g # ol x0O x~2000
X |-—> x"2

sage: g(3)

9

sage: Dg = g.derivative(); Dg

X |==> 2%x

sage: Dg(3)

6

sage: type(9)

<type 'sage.symbolic.expression.Expression'>
sage: plot(g, 0, 2)

Graphics object consisting of 1 graphics primitive

gUOO0OO0O0OOODbOOODOO00O0Ob00OD g(x)y UOOODDOODODOOOODODODOOOOODODOOODO
gooooOopQoopoOoopoopoopooooooooDooODOODOODODDOODOD SO000O0000
opooo

sage: g (x)

X"2

sage: type (g(x))

<type 'sage.symbolic.expression.Expression'>
sage: g(x).derivative()

2%X

sage: plot(g(x), 0, 2)
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Graphics object consisting of 1 graphics primitive

3.Sage 000000000000 (caleulus function) OO0 0. 00 0000000000000 O0O00OOOOOO
oooooooooooon

sage: type(sin)

<class 'sage.functions.trig.Function_sin'>

sage: plot(sin, 0, 2)

Graphics object consisting of 1 graphics primitive
sage: type(sin(x))

<type 'sage.symbolic.expression.Expression'>

sage: plot(sin(x), 0, 2)

Graphics object consisting of 1 graphics primitive

000000 sin000000000000000000 cosOOOODOOO

sage: f = sin
sage: f.derivative ()

Traceback (most recent call last):

AttributeError:

sin00000000 £ = sin(x) DO000O000000O0O0O000C0O0O0O0O0 ODO0O000O000 £(x) =
sin(x) OOOO0O0OO0O0O0O0O0OOOO0OOCOO0ODOOOOOOO0OO00O0O0

sage: S(x) = sin(x)
sage: S.derivative ()

X |——> cos(x)

ooooooooooobooobooooboooon:

4. 00000000 00ODODOO0ODOOO

sage: def h(x):

if x < 2:
return 0O
else:

return x - 2

OO0 plot(h(x), 0, 4)00000000O0DODOOOOOy=2z—-20000000000000000
UhbOO00O00O00O0O0O0O0DOO0DOO00O0O0D0 plot(h(x), 0, 4)0000000000 h(x)yOOOOODO
U0 000 x000 h(x) OO0OO0OO0 x<20000000000000O0O

sage: type (x<2)

<type 'sage.symbolic.expression.Expression'>
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ooobooooobooooobooonOO0OO0O0ODOOO0OO0OOOOOO0OOOODOOOO0OOOOOODOOOOOOOODn
O00D0000 h(x) Ox-2000000000000000 x-2000000000

ooo0ooo0oo000 plet(h(x), 0, 4) 0000

sage: plot(h, 0, 4)

Graphics object consisting of 1 graphics primitive

ooooooooooooboooo

5.00000000000000000

sage: f = x

sage: g f.derivative ()
sage: g

1

0000000 g(3) 0000000000 O0O0O000O “ValueError: the number of arguments must be less than
orequalto 0.’ 00 0000O0O0OOOCOCOO

sage: type(f)
<type 'sage.symbolic.expression.Expression'>
sage: type(g)
<type 'sage.symbolic.expression.Expression'>

ghooOobooOoooboooooooooooooobobooooboooooboooooooon
ooooocoooood

e f000O0000O000O0O0O0O0DO0O0O0DO00O0

sage: f(x) = x # 'f=x'00000
sage: g = f.derivative()

sage: g

x |-—> 1

sage: g(3)

1

sage: type(9)
<type 'sage.symbolic.expression.Expression'>

000 fO00000000 g0O0O000DOCO0OO0DOO0OOOOOO0

sage: f = x

sage: g(x) = f.derivative () # 'g = f.derivative()'dQ0Q0gonogd
sage: g

X |=-=> 1

sage: g (3)

1
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sage: type(9)
<type 'sage.symbolic.expression.Expression'>

000 f0gO00D0COO0DOOCOO0ODOOOOOOOOOOO

sage: = x
sage: g = f.derivative()

sage: g

1

sage: g (x=3) # OO0 'g(3)'000n0d

1

ooooogoood £ = x0 £f(x) = x000000000000000000000000

sage: f(x) = x

sage: g = f.derivative()

sage: g.variables() # gO0O0oOOoooOge?

0)

sage: g.arguments () # gOO00O00O0DOODOOODOOO?

(%,)

sage: f = x

sage: h = f.derivative()
sage: h.variables ()

0

sage: h.arguments ()

0

ooooO0oo0oo0O0o0o0bO n(3) DOo0ODOOO0OO0OOO0O0O0OO0OO0 hOOOOoOoOOOoOooOOoOoooDo

27 00000

ooooooooooobooooooooooooboooooooooooooobooooooooooogon
O0000oo0o0O00ooo00ooo (ing O0000O0OO0OO00O0DOOOO0DODOOOO0DOOOOODODOOOOOO
ooobooooooooboooooooooobo0oobo0ooooooobOo0obbOooobooOoooooobOooD
ooooogo:

«00{.,—1,0,1,2,..},Sage 00 zz 0000

- 000 -000000000000000-000000
«000RROOOO

«0000ccOOnO

coooooboboobooooooOoboOobocOobooOoboOoooOOobOOobOOoOobOOobOO0obOObOOoOoboOooOoOon
0000000000000 000000000000000000000000 22-200000 +/200
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ooobooooobooooboooooooOoooOooOoO0ooboOoOoOoOoOoOoOoOoOOoOoOobDOoOoOobOOoOooOooOoboOooDn
ooobooooooooboooooooooobo0oobo0oooooooobOo0oboOooobooOooooooboOooD
coobooooooooboooOoooOoOoOoOoboOoO0oOOo0oOoOOoOoOoOoOOcO0ObOOOODbOOOOoOoOboOoOoDn
ratpoly O realpoly D0O0O0O00OO0OO0OO0O0OCOOOOCOODOODOOOOODOOOOOOOOOOOOO
gbobooboobooboobooognbogDnD .<e>0 .<z>00000DODO

sage: ratpoly.<t> = PolynomialRing (QQ)
sage: realpoly.<z> = PolynomialRing (RR)

000 22—-200000000000000:

sage: factor (t"2-2)

tr2 - 2

sage: factor(z"2-2)

(z — 1.41421356237310) » (z + 1.41421356237310)

ooobooooobooooboooooooooooooobooOooooooooOoooOoboOoOoobooOoOooooboOooon
oobooooboooooooooooboooboooooooooooooono bood ooooooooon o
oo oooooobooooooooo

OO I0-1000000000i0 100000000000000000000000000

sage: i # -10000
I
sage: i in QQ

False

gobogobobo ibogoobooboobobobbooobooooboobooboobboobooboon
gbobooooobogoobooboboboooooooobobOob ib000000:

sage: reset ('i'")

oooooooooooooooobbooooooOooobooboOo io -10ooObOOObOOObOOOoOoOooooo
—-10 0000000 0000CO OOO0O0000O0O0O0O0 c cc(i)y OO0 cc.oDDOODOOOOOOODOO
—-10 00 0000000000000000D00000000C00000O(ceercion) 000000O0ODOO0O
coooooooobooobooooooooo ooooa

sage: i = CC(1) # OOOOOOOO
sage: i == CC.0

True

sage: a, b = 4/3, 2/3

sage: z = a + bxi

sage: z

1.33333333333333 + 0.666666666666667*1
sage: z.imag/() # 00

0.666666666666667
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sage: z.real() == a # 00000O0OODOOODOODOO
True

sage: a + b

2

sage: 2xb == a

True

sage: parent (2/3)

Rational Field

sage: parent (4/2)

Rational Field

sage: 2/3 + 0.1 # 0000000000
0.766666666666667
sage: 0.1 + 2/3 # SAGEO0UOUOUDDDODOOOOOOO

0.766666666666667

0000 Sage 00O O0O0000O0O0O0DOOOOODOODO0O0O0O0OOOODOOOODO oQOOOO
RationalField() 00000000000 (O (ield DODO0OO0OD0OO00OODOOODOODOOOOOOOO
gooooOooooooo0o0ooooooooooooooooooo)o

sage: RationalField()
Rational Field

sage: QQ

Rational Field

sage: 1/2 in QQ

True

ooooooooooooooooooooooooooooooooDoOD 1.20 000000000000 (
D00000000D000000 000D) 00000 #0+/20000000000:

sage: 1.2 in QQ
True

sage: pi in QQ
False

sage: pi in RR

True

sage: sqgrt(2) in QQ
False

sage: sqrt(2) in CC

True

0000000000000 00Sage000000p-0000000O0ODOOO0OO0O0DOODOOODOOOOOODO
ooooooooooobooobooooooog.

sage: GF(3)
Finite Field of size 3
sage: GF (27, 'a') # 0000O0OO0OODOOODODOOOOO

Finite Field in a of size 373
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sage: Zp(5)
5-adic Ring with capped relative precision 20
sage: sqgrt(3) in QQbar # oo U OO OO (OO)

True

28 000D

Sage 0000000000 OOOO0OOOOOOOOOOOOOOOOOOOOOOOODOOOOO @OUOO)HO
oooboooobooooooooon

cooooooboocoooooooobooOooooOon:

sage: A = Matrix([[1,2,31,[3,2,11,[(1,1,111)

sage: w = vector ([1,1,-4])

sage: w*A

(0, 0, 0)

sage: Axw

(-9, 1, -2)

sage: kernel (4)

Free module of degree 3 and rank 1 over Integer Ring
Echelon basis matrix:

[ 1 1 -4]

Sage 000J00 AODOUODOOOOOOODOOODODOD wA=0000000000w0O0O000000OO

0000000000 solve_right 0O00O0O0O0O0O00O0O0O0C0O0OOA.solve_ricght(Yy)dO0OoQoonon
AX=YOOO0OOOoo @oooooo)yXoooooo

sage: vector ([0, -4, -11)

A.solve_right (Y)

Y
sage: X
sage: X
(=2, 1, 0)
sage: A * X # 0O0O0OO0O...
(0, -4, -1)

solve_right 0O00O0O0O00O0O0O0O0O0O0NOCOOOODOOCOOOODOO A.solve_right(Yy)OOOO A
\ Yooooooooo

sage: A \ Y
(_2/ ll O)

OOOO0OODOOSageOOOOOOOOODO:

sage: A.solve_right (w)

Traceback (most recent call last):
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ValueError: matrix equation has no solutions

000000 XA=Y0OOOOU XOOOUOOO A.solve_left(Y)OODOOOODO

Sage 1000000000 OOOOOOOOOO:

sage: A = matrix([[0, 4], [-1, 0]1])
sage: A.eigenvalues ()

[-2xI, 2+1]

sage: B = matrix([[1, 3], [3, 111)

sage: B.eigenvectors_left ()
(4, [

(eigenvectors_left 00O0OOOODOOOOO(@OO,000000,000)0D000D000O0O0O0O)
00000 RROOOOODDOOOODODODO MaximaOOOOODOOOOODOOOO (00O MaximaOOOO)O

gobobbooboooobooooooooobooooobobooboobooboooooboooooboooDooobooD
000000000000 matrix000000000000000Sage0 0000000000000 (z2z0O
O0)OOoOoooOo0o0o00(oboooooooooooo@®r)OOoOCOOOOOBOOO

sage: AZ = matrix(zz, [[2,0], [0,111)
sage: AQ = matrix(QQ, [[2,0]1, [0,111)
sage: AR = matrix(RR, [[2,0], [0,1]11)
sage: AZ.echelon_form()

(2 0]

[0 1]

sage: AQ.echelon_form()

[1 0]

[0 1]

sage: AR.echelon_form()
[ 1.00000000000000 0.000000000000000]1
[0.000000000000000 1.00000000000000]

dddddoooooooooooobobobbobobbobboobobddddddoooooooooooobDD
OOO0O0OOQO RDF (Real Double Field) 0 O O CDF (Complex Double Field) DO OO0 O0O0OO0OOOOOOOOOO
oo ooooooobobobobobbbobboobbbobddddoooooDooD oD D
O0RROOOO ccOOO0OODOOOOODOOUOOOOOUOOOOOOODOOOOODOOOOODOOOOOOO

sage: ARDF = matrix(RDF, [[1.2, 2], [2, 3]1)
sage: ARDF.eigenvalues () # abs tol 1le-10
[-0.09317121994613098, 4.293171219946131]
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sage: ACDF = matrix(CDF, [[1.2, I], [2, 311)

sage: ACDF.eigenvectors_right () # abs tol le-10

[(0.881845698329 - 0.820914065343+I, [(0.750560818381, -0.616145932705 + 0.
—238794153033+I)1, 1),

(3.31815430167 + 0.820914065343+I, [(0.145594698293 + 0.37566908585+«I, O.
—915245825866) 1, 1)]

281 00000

00000000000 3x300000 Matz«3(Q)DOODODODO:

sage: M = MatrixSpace (QQ, 3)
sage: M

Full MatrixSpace of 3 by 3 dense matrices over Rational Field

30400000000000000 MatrixSpace(QQ,3,4) 00000000000000000O0D0O00O
O0O0OD0O0OO0ODODO MatrixSpace (QQ, 3) O MatrixSpace (QQ,3,3) 000000000)000000O
gbobooooo:

sage: B = M.basis()
sage: len(B)

9

sage: B[0,1]

[0 1 0]

[0 0 0]

[0 0 0]

MOooooboOoooboooboooobooon

sage: A = M(range(9)); A
[0 1 2]
[3 4 5]
[6 7 8]

ooooOooooboocooboooooooono

sage: A.echelon_form()

[ 1 0 -1]
[ 0O 1 2]
[ O 0 0]

sage: A.kernel ()

Vector space of degree 3 and dimension 1 over Rational Field
Basis matrix:

[ 1 -2 1]
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ooboooooooooboobobooooboooooooono

sage: M = MatrixSpace (GF (2),4,8)
sage: A = M([1,1,0,0, 1,1,1,1, O,
0

0,0, 1,0,1,1,
R 60,0,1,0, 1,1,0,1, 0,0,1,1, 1,1,1,01])
sage: A
(11001 111]
[01 001011]
[001 01 101]
(0011 1110]

sage: rows = A.rows ()
sage: A.columns ()
(¢, o, o, 0, (1, 1, 0, 0), (0, 0, 1, 1), (0, 0, 0, 1),
(x, 1, 1, 1y, (1, 0, 1, 1), (1, 1, O, 1), (1, 1, 1, 0)]
sage: rows
(¢, 2, o, 0, 12, 1, 1, 1, (0, 1, 0, 0, 1, 0, 1, 1),
(0, o, 1, 0, 1, 1, 0, 1), (0, O, 1, 1, 1, 1, 1, 0)]

OoOoOoooOoooOoo gows)DOOOODODO Fo,OOOOOOOOOOO

sage: V = VectorSpace (GF(2),8)

sage: S = V.subspace (rows)

sage: S

Vector space of degree 8 and dimension 4 over Finite Field of size 2
Basis matrix:
[1000O01O0
(01 00101
(001 0110
[00010011]

sage: A.echelon_form()

=]

]
]
]

[1000O01O0 0]
[01 001O011]
[001 0110 1]
[00OO01O0O011]

Sage SOOODOOOO SODODOOODOOOOOOOOOOOOOOOOOOOOO

282 00000 OoOd

Sage U0 PID(OO0COO0OO0OO0OO)0000000O0O0O0O0O0O0O0O0O0OOOOOOO

sage: M = MatrixSpace (QQ, 100, sparse=True)
sage: A = M.random_element (density = 0.05)

sage: E = A.echelon_form()

Sage 00000000 OODOO0O0OODOUOUODDOUUOOOOOOODDOLD (UUDDDODODODODODDODOOOO
a):
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sage: M = MatrixSpace (QQ, 50, 100, sparse=True)
sage: A = M.random_element (density = 0.05)

sage: E = A.echelon_form()

sage: M = MatrixSpace (GF (2), 20, 40, sparse=True)
sage: A = M.random_element ()

sage: E = A.echelon_form()

Python0OO0OOO0O0O00OOO0O0OOOOOOOO:

sage: M = MatrixSpace(QQ, 10,10, Sparse=True)

Traceback (most recent call last):

TypeError: __classcall__ () got an unexpected keyword argument 'Sparse'

29 00O

00000O0Sage 000000000000 0ODOO0OODOOOOOO

291100000

oooooooooooboooooooooonod

sage: R = PolynomialRing(QQ, 't')
sage: R

Univariate Polynomial Ring in t over Rational Field

oooooooooooooOooooooOoooooOoOoooo(@oo)toooooooooooooooon
Sage 000000000 t0000000000000D00O0(#2+1000000)RO00O0OCOO000OO0
oooboOocoobooooooocooon

ooooooooogooon

sage: S = QQ['t']
sage: S == R

True

gobodobottbbdooboobbooboobboon

ooooooooocoooo

sage: R.<t> = PolynomialRing (QQ)

oooo
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sage: R.<t> = QQ['t']

oooood

sage: R.<t> QO[]

ooooogoooon

ooooooobooooobooboooDbo0 toooobooo0obooooooboooooDboooboOoonboRrRO
cOooODoO0oO00O0000O0@ObOOoO0OO0OOMagma000O0O0OOO0OOOOOOOOOOOOOOOOOOOO
MagmaOOOOOOOSage 00 0000000000000 O0O0OOOOOOODOOOOOOONO)

sage: poly = (t+l) * (t+2); poly
t™"2 + 3xt + 2
sage: poly in R

True

ooooooooooooooooooooooooboooOoOooOoooooooooooon:

sage: R = PolynomialRing(QQ, 't')
= R.0

sage: t in R

o+

sage:

True

Sage 000000 O0OODO0OO0OOO0O0OOOOOODOOOODOOOOOOOOODOOOOO 1000000000
ooooOooooOoocoobOOoOoobOooOoOoOoOoOocOoOobOoOoOobooOoOoOon:

sage: CC

Complex Field with 53 bits of precision
sage: CC.0 # ccO obOOODOOO
1.00000000000000+I

oooooooooooboooooooooooobo0oooooooooooboooooooooobooon
ooooo:

sage: R, t = QQ['t'].objgen()
sage: t = QQ['t'].gen()
sage: R, t = objgen(QQ['t'])
sage: t = gen(QQ['t'])

0000 Q00000 000DnoOoo

sage: R, t = QQ['t'].objgen()

sage: f = 2xt"7 + 3%xt"2 - 15/19

sage: f*2

4xt~14 + 12+t”9 - 60/19+t"7 + 9xt"4 - 90/19«t"2 + 225/361
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sage: cyclo = R.cyclotomic_polynomial (7); cyclo

t"6 + t°5 + M+ 73 + 72+t + 1

sage: g = 7 x cyclo » t”5 % (t”5 + 10xt + 2)

sage: g

Txt”1l6 + T+t”15 + Txt”14 + Tt 13 + 77+t 12 + 914t”11 + 914t”10 + 84%t”9
+ 84xt”8 + 84xt”7 + 84xt”6 + 14xt"5

sage: F = factor(qg); F

(7) = €75 % (£7"5 + 10%t + 2) % (£t"6 + €5 + t74 + t£"3 + t72 + t + 1)

sage: F.unit ()

7

sage: list (F)

[(t, 5), (&5 + 10+t + 2, 1), (t"6 + t"5 + t™ + "3 + t"2 + t + 1, 1)]

ocoooooooooo (o)oboooOoOOOOOOOOOOOOODOOO

O000O000d0d R.cyclotomic_polynomial UOOOOUOOODOODOODODDODOOOOODODOODODDO
OOSage0000O00OC0OODODOOO0OOO0OCOODOOODOOO0OOODOOODOOOOODOOODOOOOODOOD
0000000000 R.cyclotomic_polynomial?? 0000000000000 DOOOODOOO0O £
pari.polcyclo(n) 000000000000 O00OOODODOODOO0ODOOOO PARIOOOODOOODOODO
OO00DOO00D0OCO00DOO PARICOODOOOODOOODO

0000000000 0000D Sage00O0O0OO0O0DOO)0O00ODOOOODO

sage: x = QQ['x"'].0
sage: £ = x"3 + 1; g = x"2 - 17
sage: h = £/g; h

(x*3 + 1)/ (x*2 = 17)
sage: h.parent ()
Fraction Field of Univariate Polynomial Ring in x over Rational Field

QQx]O00OO0OO0DOOOO0ODOOOODOOOOOOOOODOOOObOOOOn:

sage: R.<x> = LaurentSeriesRing(QQ); R

Laurent Series Ring in x over Rational Field

sage: 1/(1l-x) + O(x"10)

1 +x + x"2 + x"3 + x™ 4+ x5 + x76 + x* + x°8 + x*9 + 0(x710)

oooooooooooooooo10o000000oo0oo0o0oo0o0oooooooooo

sage: R.<x> = PolynomialRing (QQ)

sage: S.<y> PolynomialRing (QQ)

sage: x ==y
False

sage: R == S
False

sage: R(y)

X
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sage: R(y"2 - 17)
x"2 - 17

goooooooooooooooooo xOooooOOOOOODOO 1000000000 O0O00O0O0O0O00O0O0
oooooooooooon

sage: R = PolynomialRing(QQ, "x")
sage: T = PolynomialRing(QQ, "x")
sage: R == T

True

sage: R is T
True
sage: R.0 == T.0

True

Sage 000000000000 D0DOOODOODOOOOOOOODOOOODOOODOOOOOO FY[T)JO0DO
00000000000 oDo00 F,(M)boobooooo

sage: R.<T> = PowerSeriesRing(GF (7)); R

Power Series Ring in T over Finite Field of size 7
sage: £ =T + 3xT"2 + T"3 + O(T"4)

sage: "3

T"3 + 2xT"4 + 2%T"5 + O(T"6)

sage: 1/f

T*~1 + 4 + T + O(T"2)

sage: parent (1/f)

Laurent Series Ring in T over Finite Field of size 7

ooobooooooooboooboooOoOooOoOoOoboOoOooooOoOoOn:

sage: GE(7)[['T']]

Power Series Ring in T over Finite Field of size 7

292 000000

coooooooOoocoobooooOooOOoOoOoOobocOoOoboOoOoOooooOon

sage: R = PolynomialRing(GF(5),3,"z") # 3 = 0000
sage: R

Multivariate Polynomial Ring in z0, zl, z2 over Finite Field of size 5

loooooooooOooOoOobOOoOOOObOODbDOODOO:

sage: GF(5)['z0, zl, z2'"]

Multivariate Polynomial Ring in z0, zl, z2 over Finite Field of size 5
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sage: R.<z0,zl1,z2> = GF(5)[]; R

Multivariate Polynomial Ring in z0, zl, z2 over Finite Field of size 5

gooooooo 1oooooooooooobooboooboooo:

sage: PolynomialRing(GF (5), 3, 'xyz'")

Multivariate Polynomial Ring in x, y, z over Finite Field of size 5

oooooooooooboooo

sage: z = GF(5)['z0, z1, z2'].gens()

sage: z

(z0, z1, z2)

sage: (z[0]+z[l]l+z[2])"2

z0"2 + 2xz0%zl + 2172 + 2%z0%x22 + 2xz1x22 + 2272

gobooboboobooboobbooboobboobooboboo

sage: R = GF(5)['x,v,z"]

sage: x,y,z = R.gens()

sage: QQ['x"]

Univariate Polynomial Ring in x over Rational Field
sage: QQ['x,y"].gens()

(2, ¥)

sage: QQ['x'].objgens()

(Univariate Polynomial Ring in x over Rational Field, (x,))

Sage 1000000000000 OOOOOOO (distributive representation) 0 Pyhon 0 00000000000
00000000ged000O0D0O0O0O0O0OOOOODOOOO Singular/Si/JO0000000OOOO0O0O

R, (x, y) = PolynomialRing(RationalField(), 2, 'xy').objgens()
sage: f = (x"3 + 2xy"2x%x)"2
<)
f

sage = X"2xy"2
sage gcd (9)
xX"2

000 fOogOUOOOOOUOOOOO (f,g)DEIIZIDDDDDDEID (f,9) 0 ROODODODOODOOODODOO
(ideal ([f,g]) 0000 ideal (f,g) OOOOOO0O)O

sage: I = (f, g)*R; I

Ideal (x76 + 4xx™M*y"2 + 4xx"2+y™4, x"2%y”2) of Multivariate Polynomial
Ring in x, y over Rational Field

sage: B = I.groebner_basis(); B

[x76, x"2xy"2]

sage: x"2 in I

False
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oooooobooooboooobobOobOoOobocOoboOobOOobOOobOOoOoboOoOoOoOOobOObOOoOoDbDOobOOoOooOOn
oobooooboooooooboooooooooboooooooboooo@boobDbobobooooooDOoOoD
ocoooooobooooooooooooooooooooooo)o

sage: B.parent ()

<class 'sage.rings.polynomial.multi_polynomial_sequence.PolynomialSequence_generic'>
sage: B.universe()

Multivariate Polynomial Ring in x, y over Rational Field

sage: B[1l] = x

Traceback (most recent call last):

ValueError: object is immutable; please change a copy instead.

(o0000oooooooo0)000oooon Sigular 000 Sage 0000000 DOOOOCOOOOOO
[:00000000000000000O0OoooooDoOO:

sage: I.primary_decomposition ()

[Ideal (x"2) of Multivariate Polynomial Ring in x, y over Rational Field,
Ideal (y*2, x76) of Multivariate Polynomial Ring in x, y over Rational Field]

sage: I.associated_primes ()

[Ideal (x) of Multivariate Polynomial Ring in x, y over Rational Field,

Ideal (y, x) of Multivariate Polynomial Ring in x, y over Rational Field]

210 000000 O0O0OoOoOoooOooOo

goooobobooboobooobooboooboob bbb bobboobboobDbooboOoo
OO000000ODO0O0ODOO0OO0Saged0O00ODOOODOOOOOOODOOOODOOODOODOOOOOOOD
ggo

ooooooo0o0oooo0o0oooo0o0ooo0o0ooOo00ooO0O00oOoOO0D0OooOO00OoOO0nOD
OO0O0ODDOODODO Sage thematic tutorial 0 O 0O 0O

2101 O

OO00 PythonOODOODODOODOOODOOOOOOOOOOCOOOXOODDOOOOOOO__add__0O__sub___
O_mul 0O0O0OO0OOODOOODOODOOOO(@COOOOOO)ODOODOOOOOOOOODOOD
gooboogo

Python 0 (COOOOOOOOOOO0)O00O0O0OO0O0O0OOO0O0OOO0OOOO0OOOOOOOOOOODOO
Python 0000000000 OOCOOO0ODOOOOOO0O0O0O0ODCOO00Python0O000000O00O <int>00
000000 <fleat>00000000000O0O0O0O0O0COOOOOOO0DOOCOOOOOOOOOOOOOO
oooooobobooboooboboooboooooOoOoboOoOoOoOobOobOOoOOoOoOoOobOOobOOobOboOooOoOooOoOn
ooo
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gooooooooo(@oo)yoooooooooooooooooooooooooooooooDooooDOon
ooobooooboooobooooooooooboooon

oooboooooocooboooooooOoooOoboOoobooOoooooOoooDooa

sage: P.<x,y> GF (3) [1]
GF (4, 'z") []

sage: type (x)==type(a)

sage: Q.<a,b>

True

o0000oooooO0o000ooooOO@oDO0000oDoOO0O0000)000 PythonOOOOOODO
oooooooooooboooo

sage: P.<a> = PolynomialRing(ZZ)

sage: Q.<b> = PolynomialRing(ZZ, sparse=True)

sage: R.<c> = PolynomialRing(ZZ, implementation='NTL'")
(

sage: type(a); type(b); type(c)

<type 'sage.rings.polynomial.polynomial_integer_dense_flint.Polynomial_integer_dense_
—flint'>

<class 'sage.rings.polynomial.polynomial_ring.PolynomialRing_integral_domain_with_
—category.element_class'>

<type 'sage.rings.polynomial.polynomial_integer_dense_ntl.Polynomial_integer_dense_ntl

>

0000000000000 00000000000000000000 PythonOOOOODOOOOOODOODO
ooobOO0o0ooooo __add__0O000COO0O0O0OO0O0O0OOCOO0ODOOOOOOOOOOOOOOOOOO0D0
ooooooooooobooooooooooooboooooooooooooobooooooooooogon
0000000000000 00oo0O00000oOoO0O0O000000O0O0O0000D0O PythonOOOOODO
ooobooooboooobooooobooooog

0000000000000 000O(coercion) 00000000000 O0DODOOO

oboboboooboobooboooobooooboooooobooooobdooooOoboob0o0gnbdn parent () O
ooooog:

sage: a.parent(); b.parent(); c.parent/()
Univariate Polynomial Ring in a over Integer Ring
Sparse Univariate Polynomial Ring in b over Integer Ring

Univariate Polynomial Ring in c over Integer Ring (using NTL)

2102 000O0O0OoOoooog

Python 00 O0O0O0O0O0OO0OCCOOO0O00O0O0O0DOOCCOOOOSage0000O0O0O0DOOOODOOOOOO
0000000000 00Sage00 0000000000000 O0O0000O0OOO (parentstructure) 300000
coobooooooooboooOoooOoOoOoOoboOoO0oOOo0oOoOOoOoOoOoOOcO0ObOOOODbOOOOoOoOboOoOoDn
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ooooooooon

sage: isinstance (QQ,Field)
True
sage: isinstance (QQ, Ring)
True
sage: isinstance (ZZ,Field)
False
sage: isinstance (ZZ, Ring)

True

OO000O0O000000000o0ooooooooooogoDD(eategory) DOODOODODODODODDOODODDO Sage
0000000000000 000000O00U0000O0O0U0DoOoOOOUODOPython OO OOOOOOODO
0000000000000 0000000000000000000000D000000 Sage0OOOOODO
oo:

sage: Rings()

Category of rings

sage: ZZ.category ()

Join of Category of euclidean domains
and Category of infinite enumerated sets
and Category of metric spaces

sage: ZZ.category () .is_subcategory (Rings())

True

sage: ZZ in Rings ()

True

sage: ZZ in Fields()

False

sage: Q0 in Fields()

True

Sage 00000000000 O0DOOOOOO0ODOOOOOODOOSage000O0OO0ODOOOODOOODOO
gogbooobobooboobobooobooboooboobooboboobbobDboobboobDbooboOoo
opooo

Sage 000000000000 OPYthon 00000000000 00D0O0O0O00O0OOO0OOOODOODOOO
oobooOooooOoooOoboooboooOoooOoboOoOobOoOoOobooOoOooOoOoboOoOoDboOonon:

sage: RR['x','y'] is RR['x','y']

True

2103 JO0O0OO0OOO

RingElement 000000 D0OO0O0000O0ODOOOO00DO0DODOOOOODOOOOOOODODOOOOODOODODO
Ubob0obooooooobob0ob0bobbod rRingElement J0O0O0O0D0OODOOOOODO:
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sage: M = Matrix(2%Z,2,2); M

[0 0]

[0 0]

sage: isinstance (M, RingElement)

False

00000 0000O0C0O00000O00O0O00 Sage000O0O0OO0OOO0OOOOOODOOODOOOOOOOOO
OO0O0OO0O0OO00Oo PpythonO (DOOOOOODOO)DOOO0DOO0O0O0O0O0O0O0O0O

sage: int(l) is int(l) # PythonU intU
True

sage: int (-15) is int (-15)

False

sage: 1 is 1 # Saged 00O

False

uoooooooboodoobooooboooooooOoOooOoOoOoOoO0OobOoOoobooOoOooOooOoboOooDn:

sage: a GF (2) (1)
GE (5) (1)

sage: type(a) is type (b)

sage: b

True

sage: parent (a)

Finite Field of size 2
sage: parent (b)

Finite Field of size 5

ggboodoboobooobooboboooboob oobboboboobboooboobbo obbooboo

2104 000000 oO
goooobobooboobooobooboooboob bbb bobboobboobDbooboOoo
0000000000000 000U0UUU0000000O0O0O OO0 (coercion) DO OO

OO0O00O0OoOocCcooooOoOd ggo (typeconversion) 0 OO0 (typecoercion) 00000000 OO0OO0OO
Sage 00 OO0 0000 OCOOOO0O0OOOO0O0O0OO0OO0OSaged 00000000 OOOOODOODOOO
O0000000CO000D SageJO0DODOO0ODODOO0ODOOOODOOODODOODO

O0000000D0o0o0o0O000000o0oDoOoO0O0O000000ODOoOD SageODOOODOOOOOOODODO
00000000 thematictutorial DO O0O0O00O0O0O

oobOooOooooboocooboboOooooooooooOooOooOooobOboOooon:

e JbOboboboobboobboobboobboobboobDboobbobDboobboobDboUbUOD
goooooo0oi10d0ooogoooo /2000000000011 + 1/20000000D00O00OO
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ooooooooon

«0R1I0O0 r10000000 R200000000000 r10RrR20O00000000000000000
ooboooooooooboooobooooboooooooOoOoooooDnn

oooooooooooon

Sage 0 O0000000000O0OPIOP2000000000plOPIO00OCOOOCOOYPp10O0P200000
gooboooooooooobobobobooobooboooobobobobobbooboooDooboDobOobOoD
gobrpioobbooobbooobbooobbooboboobbooboboobboobboobboobboon
OO00O000O000O0000O0oOoo0OoUg oo (conversion) DOOODODOODO:

sage: a = GF(2) (1)
sage: b = GF(5) (1)
sage: GF (5) (a) == Db
True

sage: GF (2) (b) =

True

a

gooo oo (@oOo)ogooOoOooU00oboo oo o0 U0bOoO 0UU0DOoUDODOoUODOoOOoOoOooOoo
gboboooooobobobobooooon

0000000000000 (ceercion) 000000000 O0O0O0O0OOOCOO0ODOOOOOODOODOOOODO
gboboooooobobobobooooogobooboboobo:

l.Pl1O0P2000000000000@MUDODO0OOOD)DO0D0ODOODDODOOODOODOPLIODOO
grp20000000000000O00O0O0OODOPIOOOOODOODODODODODOO

2. 0000000000000 000DO00C00OP3 0000000 D0O0ODOODOOD PLIODP20O0O0
gbodrp200 p300000O00OOOOOOPIODOP300O0OOOOOOOOOOODOODODOD P
O0p200pP200pPIl1O0000000C00DODO0OODOO220000000000PLODOOOOODO
gogpboooood

goodoocer(zyonoDODLDD Gr(h) DDODOOOOOO0OO0OO0O0O0OODDOOOOOO0O0O0OGE(2) O
GF(5) 0DbO0oboooobooboboboboooooon

goooobb —oo0o0 —bOooooobbooooobbbooooobbboooooDbDbbboooon
gboboboooooooogobobobobooooboooooboobobobobooooo:

sage: Rl1.<x,y> = ZZ[]

sage: R2 = ZZ['y', 'x"]

sage: R2.has_coerce_map_from(R1)
True

sage: R2(x)

X

sage: R2(y)

Yy
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ooobooooobooooboooooooOoooOooOoO0ooboOoOoOoOoOoOoOoOoOOoOoOobDOoOoOobOOoOooOooOoboOooDn
oooboooobOoooboooboboooobooooooooooOooDoboOoon:

sage: R3 = ZZ['z', 'x"]

sage: R3.has_coerce_map_from(R1)
False

sage: R3(x)

Z

sage: R3(y)

X

goboooobobooooboobobooooboobobobobooooboboboOzzi'x','y10og zzity',
'x'1go0g0obooooooo zzity', 'k 00 zzita', 'p]0000ooobOO0bO0O0OO0O0OOO0ObODOOO
obobooooooboobobobooooooooboboboo

gogboodoboboobooboooobooboooboobooboboobbobDboobboobDbooboOoo
goooboooboobobooboboboob0 ==0b0ob0b0obob00ob0b0obOb0obDbOO0obDOOobDOOoDbDOO==
gooooboboooboobooboooboooob oob ooboobbooboobboobooboon
gbdzzOb 1ooooooboobOoboOoooO 1b0obooooooooboboboboboboobobobOooD
goboobboobooboooboobooobooboobbooboobbooboobbooboon
gboboooooog:

sage: GF (5) (1) == 1

True

sage: 1 == GF(2) (1)

True

sage: GF(5) (1) == GF(2) (1)
False

sage: GF(5) (1) != GF(2) (1)

True

ooooo

sage: R3(R1.1) == R3.1
True

sage: R1.1 == R3.1
False

sage: R1.1 != R3.1

True

oobooooOoooOoooOoooOoooOoooooO(@mooooo UuoboobDoobOo(@UuDoboobDooD
ORROUOODODODDOOODOODOOODOOOODOUODOOOCOODOQOORROOODOOO RROO 0QOODO
gogoooob oooubboobboobboobbooobboobbooboooboobDboooboOoo
0000 rRROOODOOOOOOOODOODODO:
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sage: RR(1/107200+1/107100) == RR(1/107100)
True

sage: 1/107200+1/107100 == 1/107100

False

oobOoobOoO0obOocpi0OP2000000000000000O000O000OOOOCODOCOODO P3OODO
obobOpiOPpP20pP300000000000O0O00O0DOODOODOOODOODOOOOOOOODOOOD
oooooooooooboooooooobooboOooboooooooooood

sage: Pl.<x> = ZZ[]

sage: p = 2%x+3

sage: g = 1/2

sage: parent (p)

Univariate Polynomial Ring in x over Integer Ring
sage: parent (p+q)

Univariate Polynomial Ring in x over Rational Field

00000000000 zz['x']0O0OOO0ODOOO0OODOO0ODOOOSage0000OOO0O0OODO OO OOODO
oOooDOoOo0oDOoOoooOooD @oogoo'x'NobOoObOOO00ODOOOOOOODDOOOODOODbOOOOD
O000OSage000CODOOODOODOODOOODOUODOO OODDOD OUODOODOOOOODOOODOUODOOO
0000000000 thematic tutorial 00000 OO

gobooboboobobooboobbooboobbooboobn:

sage: R.<x> = QQI]
sage: S.<y> = QQI[]
sage: xty

Traceback (most recent call last):

TypeError: unsupported operand parent (s) for +: 'Univariate Polynomial Ring in x over

—Rational Field' and 'Univariate Polynomial Ring in y over Rational Field'

OO00000OCSage0 0000000 OQQ["'x"]1['y'100Q["'y"]1['x'100QQ["'x",'y"']10000OQQI'Y",
'x'] 0000000000000 O000OO00O0OCO00D 400000000 00OC0OODOOODOOO
gobooboboobobuooboobbooboobooo

211 000000000

Sage 00 0O0ODOOOODOOODO(MQOO SU(n,g)DOODOODDO (OOOODOODDOOOO)IODODDODOOOOO (O
0000)OoDODOO0ODoO0Ooo0oo0oo0oo0o00Do00o0oGAPODODOOODOOODOOOOOOOOO
ood

ooooooooodoobooooboooobooooobodooooooobooooooooooboooobooooon
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sage: G = PermutationGroup (['(1,2,3) (4,5)"', "(3,4)'])
sage: G
Permutation Group with generators [(3,4), (1,2,3)(4,5)]
sage: G.order ()
120
sage: G.is_abelian()
False
sage: G.derived_series|() # OOOOooOooOoad
[Subgroup of (Permutation Group with generators [(3,4), (1,2,3)(4,5)]) generated by,
—~[(3,4), (1,2,3) (4,51,
Subgroup of (Permutation Group with generators [(3,4), (1,2,3) (4,5)]) generated by,
—~[(1,5,3), (1,5)(3,4), (1,5)(2,4)]]
sage: G.center ()

Subgroup of (Permutation Group with generators [(3,4), (1,2,3) (4,5)]) generated by [()]
sage: G.random_element () # random O00O00O0O0O0OO
(1,5,3) (2,4)

sage: print (latex(G))
\langle (3,4), (1,2,3)(4,5) \rangle

Sage OO0 (LaTeX OO O)OOOOODOOODOODO:

sage: G = PermutationGroup ([[(1,2), (3,4)], [(1,2,3)]1])
sage: latex(G.character_table())

\left (\begin{array}{rrrr}

1 &1 &1 & 1 \\

1 & —\zeta_{3} - 1 & \zeta_{3} & 1 \\

1 & \zeta_{3} & —-\zeta_{3} - 1 & 1 \\

3&0&0 & -1

\end{array}\right)

Sage 10 O00O00O0O0O00O00O0O00O0O0O0O0O0O0O:

sage: MS = MatrixSpace (GF (7), 2)

sage: gens = [MS([[1,0],[-1,1]]),MS([[1,1],([0,11]1)]

sage: G = MatrixGroup (gens)

sage: G.conjugacy_classes_representatives ()

(

(1 01 [0 6] [O 4] [6 O] [0 6] [0 4] [0 6] [0 6] [0 6] [4 0]
(0 11, [1 51, (5 5], [0 6], [1 2], [5 2], [1 O, [1 4], [1 3], [0 2],

[5 0]

[0 3]

)

sage: G = Sp(4,GF (7))

sage: G

Symplectic Group of degree 4 over Finite Field of size 7
sage: G.random_element () # random O00O00O0O0O00O0ODO
[55 5 1]
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[0 2 6 3]
[5 01 0]
[4 6 3 4]
sage: G.order ()
276595200

(booooooooo)ooooooooooooon:

sage: F = AbelianGroup (5, [5,5,7,8,9], names='abcde')
sage: (a, b, ¢, d, e) = F.gens()

sage: d x bx*x2 % cx*x3

br2xc”3xd

sage: F = AbelianGroup (3, [2]*3); F

Multiplicative Abelian group isomorphic to C2 x C2 x C2
sage: H = AbelianGroup([2,3], names="xy"); H
Multiplicative Abelian group isomorphic to C2 x C3
sage: AbelianGroup (5)

Multiplicative Abelian group isomorphic to Z x Z X Z x Z X Z
sage: AbelianGroup (5) .order ()

+Infinity

212 0O

Sage 0000000 0ODOUDODOOODODUODODOOODODOO Z/NZODOOODODOODOODOODOO:

sage: R = IntegerModRing (97)
sage: a = R(2) / R(3)

sage: a

33

sage: a.rational_reconstruction()
2/3

sage: b = R(47)

sage: b"20052005

50

sage: b.modulus ()

97

sage: b.is_square ()

True

Sage 1000000000000 O0O0O0OOOOODOOODOO

sage: gcd(515,2005)

5

sage: factor (2005)

5 % 401

sage: c¢ = factorial(25); c

212. 0O 49




Sage00O0OO0OO,0000 8.0

15511210043330985984000000

sage: [valuation(c,p) for p in prime_range (2,23)]
(22, 10, 6, 3, 2, 1, 1, 1]

sage: next_prime (2005)

2011

sage: previous_prime (2005)

2003

sage: divisors(28); sum(divisors(28)); 2x28
(1, 2, 4, 7, 14, 28]

56

56

ooooooooooooon

Sage O sigma(n,k) 0O00 nO00 EKOOOOOOOO:

sage: sigma(28,0); sigma(28,1); sigma(28,2)
6

56

1050

O000oo0o00ooo00oooO00ooD ¢-0000D0000ODOOOO0ODOOOO:

sage: d,u,v = xgcd(12,15)
sage: d == ux1l2 + vx15
True

sage: n = 2005

sage: inverse_mod(3,n)

1337

sage: 3 x 1337

4011

sage: prime_divisors (n)

[5, 401]

sage: phi = nxprod([l1 - 1/p for p in prime_divisors(n)]); phi
1600

sage: euler_phi (n)

1600

sage: prime_to_m _part(n, 5)
401

ooo3sn+100000COCOOODODOO

sage: n = 2005

sage: for i in range(1000):

et n = 3 x odd_part(n) + 1
e if odd_part (n) ==

e print (1)

et break
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38

ooooOooooooobooooboooo

sage: x = crt(2, 1, 3, 5); x

11
sage: x $ 3 # x mod 3 = 2
2
sage: x $ 5 # x mod 5 =1
1

sage: [binomial(13,m) for m in range(14)]

(1, 13, 78, 286, 715, 1287, 1716, 1716, 1287, 715, 286, 78, 13, 1]
sage: [binomial (13,m)%2 for m in range(14)]

(., 1, o, 0, 1, 13, o0, 0, 1, 1, 0, 0, 1, 1]

sage: [kronecker (m,13) for m in range(l,13)]

1, -1, 1, 1, -1, -1, -1, -1, 1, 1, -1, 1]

sage: n = 10000; sum([moebius(m) for m in range(l,n)])

-23

sage: Partitions (4).list ()

(41, I3, 11, (2, 21, (2, 1, 11, [1, 1, 1, 11]

2121 p-00

Sage 00 p-00000000000000O00OO0OO0O0OOO00OD p-000000OO0O0OOOOOODOOOOO
oobooooooooobocoooog

sage: K = Qp(ll); K

ll-adic Field with capped relative precision 20

sage: a = K(211/17); a

4 + 4x11 + 1172 + 7x11"3 + 91175 + 5%1176 + 4%11"7 + 8x1178 + 71179
+ 9%11710 + 3%11711 + 10%11712 + 11713 + 5x11714 + 6%11715 + 2%11"16
+ 3%x11717 + 11718 + 711719 + 0(11720)

sage: b = K(3211/11"2); b

10%x11%-2 + 5x11"-1 + 4 + 2%11 + 0(11718)

p-0000000 QEUDODOODODODOOOO0OOOOOODODOOOOO0OOOO0ODODOOOO0OOOOOO
O Google 1000 sage-support 0000000000 OOCOOCOOO

NumberFieldOOOOOOOOO0OO0O0OO0OCOOO0O0OCOOOOOOOOO

sage: R.<x> = PolynomialRing (QQ)

sage: K = NumberField(x"3 + x"2 - 2xx + 8, 'a')
sage: K.integral_basis()

[1, 1/2*%a™2 + 1/2%a, a”2]
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sage: K.galois_group (type="pari")
Galois group PARI group [6, -1, 2, "S3"] of degree 3 of the Number Field

in a with defining polynomial x"3 + x"2 - 2xx + 8

sage: K.polynomial_ quotient_ring/()

Univariate Quotient Polynomial Ring in a over Rational Field with modulus
X3 + x"2 - 2xx + 8

sage: K.units()

(3xa”2 + 13%a + 13,)

sage: K.discriminant ()

-503

sage: K.class_group()

Class group of order 1 of Number Field in a with
defining polynomial x"3 + x"2 - 2%x + 8

sage: K.class_number ()

1

213 0000000

2131 0000

Sage 0000000 DOO0OOODOODOOOOODOODOOOOOOOOD QOOODOODODDOOODOOOOO
oooooooooooooo2000000000000000O0O0O0O00CCOOO0O000O0O0O0O0O0OOOO0
ooooo

sage: x, y = AffineSpace (2, QQ, 'xy').gens/()
sage: C2 = Curve(x"2 + y"2 — 1)

sage: Curve (x"3 + y*3 - 1)

sage: D = C2 + C3

sage: D

Q
w
I

Affine Plane Curve over Rational Field defined by
X5 4+ x"3xyt2 + x"2xy"3 + y°5 - X3 - y*"3 - x"2 - y*2 + 1

sage: D.irreducible_components ()

[

Closed subscheme of Affine Space of dimension 2 over Rational Field defined by:
x"2 + yr2 - 1,

Closed subscheme of Affine Space of dimension 2 over Rational Field defined by:
x"3 + y*"3 -1

00020000000000000000000000000D00000D0O0O0ODODOO0ODOAO

sage: V = C2.intersection(C3)
sage: V.irreducible_components ()

[
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Closed subscheme of Affine Space of dimension 2 over Rational Field defined by:
y - 1,
%,

Closed subscheme of Affine Space of dimension 2 over Rational Field defined by:
Y
x - 1,

Closed subscheme of Affine Space of dimension 2 over Rational Field defined by:
x + vy + 2,
2+«y"2 + 4dxy + 3

oooooo0oo (1,000OOoOD (0,1) 00000000000 DO0ODDOO0O0O0DDDOOO0OONYOOO0
242 +4y+3=000000 Q0O0)0D0DO0O000OO00OO0O0O0O

Sage 00 0300000000000C0O300000000000000000O0O00O0DOOO0O:

sage: R.<a,b,c,d> = PolynomialRing (QQ, 4)

sage: I = ideal (b"2-a*c, c”2-bxd, axd-b*c)

sage: F = I.groebner_fan(); F

Groebner fan of the ideal:

Ideal (b"2 - axc, c™2 - bx*d, -bxc + axd) of Multivariate Polynomial Ring

in a, b, ¢, d over Rational Field

sage: F.reduced_groebner_bases ()

[[-c"2 + bxd, -b*c + axd, -b"2 + ax*c],

c”"2 + bxd, b"2 - axc, -bxc + axd],

c”"2 + bxd, b*c - axd, b"2 - a*c, —-c”3 + axd"2],

"3 - a*xd”2, -c™2 + bxd, bxc - axd, b"2 - axc],

"2 — bxd, -bxc + axd, -b"2 + axc],

~"2 - bxd, b*xc - a*d, -b"2 + axc, -b"3 + a"2xd],

"2 - bxd, bxc - a*d, b*"3 - a”2*d, -b"2 + axc],
[c"2 - bxd, b*xc - a=*d, b"2 - axc]]

sage: F.polyhedralfan()

[_
[,
[c
[c
[c
[c

Polyhedral fan in 4 dimensions of dimension 4

213.2 0000

Sage 00 0O00O0O0ODOO PARIDOOCOCDOOOOODOOOODODOOOOCremona0 00000000
ocoooooO0OoO0ooO0oooO0oU0oO0 (UooU0ooOoooDOooOU0ooO0ooOOoOoDOooOUooDoooO)Yoooo
Second-descent 0000000000 Mordell-Weil 00O OO0 mwrank OO0 O OOOD0OOOSEAOOOOO
0000000000000 00000000QUUOO0O0000O0O000000O000ODOODenis Simon
goooOoO00oQ0O0oO0oO0U0OO0O0OOUULOUUUOooo

0000000000000 EllipticCurve0000000O00O0O00OO:
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EllipticCurve([a1, as, as, aq, ag ]): D0 00
2 _ .3 2
y° + a1y +azy = x° + axx” + aqT + ag,

ooo00o0oood ;0 0000000000000 0O0O0OO0000O0000 ;000000 Z0O0
0000 e, 0 QOOOODODOOO

EllipticCurve([ay, ag 1): a1 = a2 =a3=000000000000

EllipticCurve(D 00 ): Cremona 0 (00 0)00000000000OCremona0 000000000000
0000ooo0oooooono "11a"0 "37p2" 0000000000 0O0C0O0000O0OCO0OOOOO0O)0O
ogooooooooood

EllipticCurve(j): j-O000 j 0000000000000

EllipticCurve(R,[a1, as, as, as, ag 1): 00000000 ¢, 000000 ROODODODOOOOODOOO

goboobooobbooboobbobbad:

sage: EllipticCurve([0,0,1,-1,0])
Elliptic Curve defined by y"2 + y = x*3 - x over Rational Field

sage: EllipticCurve ([GF (5) (0),0,1,-1,0])
Elliptic Curve defined by y"2 + yv = x"3 + 4%x over Finite Field of size 5

sage: EllipticCurve([1,2])
Elliptic Curve defined by y"2 = x"3 + x + 2 over Rational Field

sage: EllipticCurve('37a'")
Elliptic Curve defined by y"2 + y = x°3 - x over Rational Field

sage: EllipticCurve_from_j (1)
Elliptic Curve defined by y"2 + xxy = x*3 + 36%x + 3455 over Rational Field

sage: EllipticCurve(GF(5), [0,0,1,-1,01)
Elliptic Curve defined by y"2 + vy = x"3 + 4*xx over Finite Field of size 5

0(0,0000 4> +y=2—-20000000000 E0O0O000OSage000000000000000E([O,
0]) 000O00D0Sage 0000000000000 O00O00O0O0OOOOOOD (000O0O0000OO0O0
0000000030000000000000000000000000):

sage: E = EllipticCurve([0,0,1,-1,01])

sage: E

Elliptic Curve defined by y"2 + y = x*3 - x over Rational Field
sage: P = E([0,0])

sage: P + P

(L : 0 : 1)

sage: 10«P

(161/16 : -2065/64 : 1)
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sage: 20«P

(683916417/264517696 : —-18784454671297/4302115807744 : 1)
sage: E.conductor ()

37

OOO0OOOOOO0OO00O0 j-000000000000O0Sage00 j-000000000000000A0O:

sage: E = EllipticCurve([0,0,0,-4,2]); E
Elliptic Curve defined by y*2 = x"3 - 4xx + 2 over Rational Field
sage: E.conductor ()

2368
sage: E.Jj_invariant()
110592/37

rO0O0y-00000000000000000O00O0O0 FOOOOOOOOOOOOCOCOCODOOOBOOO
0000 (conductor) 000 00000000000

sage: F = EllipticCurve_from_7j(110592/37)
sage: F.conductor ()
37

0000 FO200000000 ((wis OOODOOOODOO

sage: G = F.quadratic_twist (2); G
Elliptic Curve defined by y*2 = x"3 - 4xx + 2 over Rational Field

sage: G.conductor ()

2368
sage: G.Jj_invariant ()
110592/37

ooooooooo L-0o0oo000oooo0oooon Efzoanq"DDD a, DOO0O00ODO0OOO0OOOOOO
PARIO C-0000000000OO0O:

sage: E = EllipticCurve([0,0,1,-1,01)

sage: E.anlist (30)

(o, 1, -2, -3, 2, -2, 6, -1, 0, o6, 4, -5, -6, -2, 2, 6, -4, 0, -12, 0, -4,
3, 10, 2, 0, -1, 4, -9, -2, 6, -12]

sage: v = E.anlist (10000)

e, 0n<10°000000000000 10000000000:

sage: S$time v = E.anlist (100000)
CPU times: user 0.98 s, sys: 0.06 s, total: 1.04 s
Wall time: 1.06

0000000000 Ceemona0 00000000 OCO0ODOOODOOODOODODOOOODOODODODODOODO
O0O0O0O0O0O0O0O0O0O00 (egulator) 0000000 OOOCOODODODOO:
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sage: E = EllipticCurve ("37b2")

sage: E

Elliptic Curve defined by y"2 + yv = x"3 + x"2 - 1873xx - 31833 over Rational
Field

sage: E = EllipticCurve ("389a")

sage: E

Elliptic Curve defined by y"2 + yv = x"3 + x"2 - 2xx over Rational Field
sage: E.rank ()

2

sage: E = EllipticCurve ("5077a")

sage: E.rank ()

3

Cremona 0000000000000 0O0OOOOOOOO

sage: db = sage.databases.cremona.CremonaDatabase ()

sage: db.curves (37)

{'al': ([0, O, 1, -1, O], 1, 1], 'b1': [[O, 1, 1, -23, =501, O, 31}
sage: db.allcurves (37)

{'alx': ([0, O, 1, -1, O], 1, 11,
'b1': ([0, 1, 1, -23, -50], 0O, 31,
'b2': ([0, 1, 1, -1873, -31833], 0, 1],
'b3': ([0, 1, 1, -3, 11, O, 3]}

oo0oob0oooboboOobOoobOo0oo0obooOobboOobOoO EllipticCurveD00000OO0O0ODOOOOOOO
000000000000000000000000000D0000000000000D0 SageOOODOODO
0000000 <c1oooocooooooooobobo0ddOCeemonal000000O0O0O0COOOOOOOOO
OO000o000oo0o0ooO0oooooo0oooooo0 120000000000000000000000O
(20050 10000)00000Sage 000000000000 OOOO0O (2GB) 00O Stein-Watkins 00000
oobooooooooobocooboboooboooo

2133 0000000

00000000000 ROODOOODO000 (Z/NZ)* — R*00 ged(N,z) >10000 20000000
000000 Z—ROODOO0OD00OO0OO0O0

sage: G = DirichletGroup(12)
sage: G.list ()

[Dirichlet character modulo 12 of conductor 1 mapping 7 |--> 1, 5 |[-—> 1,
Dirichlet character modulo 12 of conductor 4 mapping 7 |--> -1, 5 |--> 1,
Dirichlet character modulo 12 of conductor 3 mapping 7 |--> 1, 5 |-—> -1,
Dirichlet character modulo 12 of conductor 12 mapping 7 |--> -1, 5 |-—> -1]

sage: G.gens()
(Dirichlet character modulo 12 of conductor 4 mapping 7 |[--> -1, 5 |--> 1,

Dirichlet character modulo 12 of conductor 3 mapping 7 |--> 1, 5 |[--> -1)
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sage: len(G)

cobooOooooocoOobOoOoobOoOoOoOoOoOboOoO0obOOoO0OobOOoOoOooon

sage: G = DirichletGroup(21)

sage: chi = G.1; chi

Dirichlet character modulo 21 of conductor 7 mapping 8 |--> 1, 10 |--> zetab

sage: chi.values|()

[0, 1, zeta6 - 1, 0, —-zeta6, -zeta6 + 1, 0, 0, 1, 0, zeta6, -zetao, 0, -1,
0, 0, zeta6 - 1, zeta6, 0, -zeta6 + 1, -1]

sage: chi.conductor ()

7

sage: chi.modulus ()
21

sage: chi.order ()

6

sage: chi(19)
-zeta6 + 1

sage: chi (40)
-zeta6 + 1

000000000000 Gal(Q(¢w)/Q) 000000000000 DODn (modulus) DO OO ODOODOOO
ooooooooooooogno

sage: chi.galois_orbit ()
[Dirichlet character modulo 21 of conductor 7 mapping 8 |--> 1, 10 |--> -zeta6 + 1,

Dirichlet character modulo 21 of conductor 7 mapping 8 |--> 1, 10 |--> zetab]

sage: go = G.galois_orbits()
sage: [len(orbit) for orbit in go]
(1, 2, 2, 1, 1, 2, 2, 1]

sage: G.decomposition()

[

Group of Dirichlet characters modulo 3 with values in Cyclotomic Field of order 6 and,
—degree 2,

Group of Dirichlet characters modulo 7 with values in Cyclotomic Field of order 6 and,
—degree 2

]

O00Omod200 00000 Q:) 000000000 DOOOOODOODOOO:

sage: K.<i> = NumberField (x"2+1)

sage: G = DirichletGroup (20,K)

sage: G

Group of Dirichlet characters modulo 20 with values in Number Field in i with defining,_

—polynomial x72 + 1
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oobobOecUOOOOOObOOoOoOoOooOOoOoon:

sage: G.gens|()
(Dirichlet character modulo 20 of conductor 4 mapping 11 |[--> -1, 17 |[--> 1,

Dirichlet character modulo 20 of conductor 5 mapping 11 [--> 1, 17 [-—> 1i)

sage: G.unit_gens()
(11, 17)

sage: G.zetal()

i

sage: G.zeta_order()
4

Oo0O00o0ooooO0oo000o0ooo0O0000000010000000000 DirichletGroupd 30000
ooooooooooooogno

sage: x = polygen(QQ, 'x'")

sage: K = NumberField(x"4 + 1, 'a'); a = K.0
sage: b = K.gen(); a == Db

True

sage: K

Number Field in a with defining polynomial x*4 + 1

sage: G = DirichletGroup (5, K, a); G

Group of Dirichlet characters modulo 5 with values in the group of order 8 generated,
—by a in Number Field in a with defining polynomial x"4 + 1

sage: chi = G.0; chi

Dirichlet character modulo 5 of conductor 5 mapping 2 |[--> a”2

sage: [(chi”i) (2) for i in range (4)]

1, a~2, -1, -a"2]

000 NumberField(x"4 + 1, 'a')OOOOOOOOSageOUOO 0000 KOOO (e00O0O0O0ODO
00000024+ 1)00000000000000000000 «0000000000000a = K.0(a =
K.gen() 00D0D0D0O0)000000000 ¢0000 24+100000000000

2134 0000000

Sage 00 000000000000 O00000OO0O00DO0O00OOHecke 000000000000 DODOOOO
coobooooooooboooooooooooboa

ooooooobooooboooooooobooboOoobo0oooooooood

sage: dimension_cusp_forms (GammaO (11),2)
1

sage: dimension_cusp_forms (GammaO (1),12)
1

sage: dimension_cusp_forms (Gammal (389),2)
6112
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000000100000 12000000000000000 HeckeOOOOOOOOOOOO

sage: M = ModularSymbols(1l,12)

sage: M.basis ()

([X"8xY"2,(0,0)], [X"9xY, (0,0)], [X"10,(0,0)1)

sage: t2 = M.T(2)

sage: t2

Hecke operator T_2 on Modular Symbols space of dimension 3 for Gamma_0 (1)
of weight 12 with sign 0 over Rational Field

sage: t2.matrix()

[ -24 0 0]
[ 0 -24 0]
[4860 0 2049]

sage: f = t2.charpoly('x"); £

x"3 — 2001%xx"2 - 97776xx — 1180224
sage: factor (f)

(x — 2049) % (x + 24)"2

sage: M.T(1l1l) .charpoly('x").factor ()
(x — 285311670612) % (x — 534612)"2

Io(N)DO Ty(N)0ODO0O0D0D000000000

sage: ModularSymbols (11, 2)

Modular Symbols space of dimension 3 for Gamma_0(11l) of weight 2 with sign
0 over Rational Field

sage: ModularSymbols (Gammal (11),2)

Modular Symbols space of dimension 11 for Gamma_1(l1l) of weight 2 with

sign 0 and over Rational Field

ooobod¢g-000b0000000d

sage: M = ModularSymbols (Gammal (11),2)
sage: M.T(2) .charpoly('x")
X"l = 8xx710 + 20%x79 + 10%xx"8 — 145xx"7 + 229xx76 + 58%x"5 — 360xx"4
+ 70%xx"3 — 515xx"2 + 1804%x — 1452
sage: M.T(2) .charpoly('x").factor ()
(x — 3) * (x + 2)"2 x (x4 — 7+x"3 + 19xx"2 — 23xx + 11)
* (X" — 2+x™3 4+ 4xx"2 + 2xx + 11)
sage: S = M.cuspidal_submodule ()
sage: S.T(2) .matrix()
[-2 0]
[ 0 -2]
sage: S.g_expansion_basis (10)
[
g - 2+«g™2 - g"3 + 2xg™4 + g”"5 + 2xg"6 - 2xg"7 - 2xg”9 + 0O(g”1l0)
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oooooooboocoobooooooOoooboooboooOooooOon

sage: G = DirichletGroup (13)

sage: e = G.0"2

sage: M = ModularSymbols(e,2); M

Modular Symbols space of dimension 4 and level 13, weight 2, character

[zetab], sign 0, over Cyclotomic Field of order 6 and degree 2

sage: M.T(2) .charpoly('x"').factor()

(x — zeta6 — 2) x (x — 2*zeta6b — 1) * (x + zeta6 + 1)"2

sage: S = M.cuspidal_submodule(); S

Modular Symbols subspace of dimension 2 of Modular Symbols space of

dimension 4 and level 13, weight 2, character [zeta6], sign 0, over

Cyclotomic Field of order 6 and degree 2

sage: S.T(2).charpoly('x").factor ()

(x + zeta6b + 1)"2

sage: S.g_expansion_lpasis (10)

[

g + (-zeta6 - 1)xg”"2 + (2xzetab - 2)*xg"3 + zetabxg™4 + (-2%zetab + 1)=*g">
+ (-2xzetab + 4)xg”6 + (2xzetab - 1)*g"8 - zeta6*xg"9 + 0(g”1l0)

0000000000000 D00000000000C0000 HeckeOOODOOOOOSageOOOOOOOOO
oooood

sage: T = ModularForms (GammaO (11),2)

sage: T

Modular Forms space of dimension 2 for Congruence Subgroup GammaO (11) of
weight 2 over Rational Field

sage: T.degree()

2

sage: T.level()

11

sage: T.group ()

Congruence Subgroup GammaO (11)

sage: T.dimension ()

2

sage: T.cuspidal_subspace ()

Cuspidal subspace of dimension 1 of Modular Forms space of dimension 2 for
Congruence Subgroup GammaO (11) of weight 2 over Rational Field

sage: T.eisenstein_subspace()

Eisenstein subspace of dimension 1 of Modular Forms space of dimension 2
for Congruence Subgroup GammaO (11) of weight 2 over Rational Field

sage: M = ModularSymbols(l1l); M

Modular Symbols space of dimension 3 for Gamma_0(ll) of weight 2 with sign
0 over Rational Field

sage: M.weight ()

2

sage: M.basis ()

((1,0), (1,8), (1,9))
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sage: M.sign ()
0

T7,0000 Hecke OO0 (pO00)0000Hecke 0OO 7,0 730 75 00000000000000000
oooooooooooon

sage: M.T(2) .matrix()
[ 3 0 -1]
[ 0 -2 0]
[ 0O 0 -2]
sage: M.T(3) .matrix()
[ 4 0 -1]
[ 0 -1 0]
[ 0O 0 -1]
sage: M.T(5) .matrix()
[ 6 0 -1]
[ 0O 1 0]
[ 0O 0 1]
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030

Juoood

OO0000000000D00DOO000D sage00O0OD0ODO0ODODO SageOOOOOOOOOOOOOOOODOODO
O0O0OD0O0D0OD0D0 sage0000 IPython OO OOOOOOOOODOOODOODOODOODODODODODOODO
0000000000000 S$SSAGE_ROOT/ipythonre OOOODOOOO0O0OOOOODOOOODOOOOODO
OOO0OO0OO0OO0OO0SageOOOOOOOODOOOOOOOOOOOOO:

| SAGE Version 3.1.1, Release Date: 2008-05-24
| Type notebook () for the GUI, and license() for information. |

sage:

Sage 0000000 0OCul-DOOOOO 0000 quit0000 exit0OOOOOO

sage: quit
Exiting SAGE (CPU time Om0.00s, Wall time O0m0.89s)

“Walltime” O0OCPUOOO0O0O0O0O0O0O0O00O0000000O00O0O0CPUDODOOO GAPO Singular 00000
tobooooooodoobooobooooooooobOoO0oboboOooboooOoOooDOoOoOoooa

(0000000 kill -900000 Sage00000000000000000000kill -900 MapleO
00000000000000000 $HOME/.sage/tmp 0000000000000000000000O
oooo)

3.1 Sage OO0

OOOOCOO0O0O0SageCOOOOOOOOOOOOOOOOOOODOODOODODOODODODODADO Sage O OSage O
DooOoOooOoOoOo Ipython0 000000000000 OO0O0O00000000)00000000O000 Sage
OOOOOOOOOODOO0O0000 shistory (OO shist)0O0O0O0O0O00O0O0OOOOOOOOODOOO




SageJOOQOO0OOO,0000 8.0

O000O0IPython0O0OO0O0O0OO0000000O0Sage0 00000 20000000 “IPython offers numbered
prompts ... with input and output caching. All input is saved and can be retrieved as variables (besides the usual arrow
key recall). The following GLOBAL variables always exist (so don’t overwrite them!)” 0 0 00000000000
goboooo:

gooooooodo0o (oobobobooooooooobocoooooon)
_ : booboooooooo@ooooooboobooono)
_oh : O0OO0OO0OOOOOOOO (OOOODOOCOOOO)

ooooooooog:

sage: factor (100)
_1 =272 x 572
sage: kronecker_symbol (3,5)
2= -1
sage: %hist # OO0O0OOO0O0O0OOOCOOOOOObDOOobOOoboDOoOobOooOoDo
1: factor (100)
2: kronecker_symbol (3, 5)
3: %hist
sage: _oh
4 = {1: 2”2 = 5%2, 2: -1}
sage: _il
5 = 'factor (ZZ(100))\n'
sage: eval(_1i1l)

6 = 272 x 572

sage: %hist

: factor (100)

: kronecker_symbol (3, 5)
: %hist

_oh

_i1

: eval(_il)

: %hist

~ o U w N

OOO0OOO0OOOO0OObOO0O0O0oO0oO0oOg SageOODOOODOOOOOOOOOOOOOOOO

oooooooboooobooooooooooooboooooooooooOooonon

sage: E = EllipticCurve([1,2,3,4,5])
sage: M = ModularSymbols (37)

sage: %hist

1l: E = EllipticCurve([1,2,3,4,5])

2: M = ModularSymbols (37)

3: %hist

sage: Smacro em 1-2

Macro ‘em’ created. To execute, type its name (without quotes).
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sage: E

Elliptic Curve defined by y"2 + xxy + 3xy = x"3 + 2xx"2 + 4xx + 5 over
Rational Field

sage: E = 5

sage: M = None

sage: em

Executing Macro...

sage: E

Elliptic Curve defined by y"2 + xxy + 3xy = x"3 + 2xx"2 + 4xx + 5 over
Rational Field

oo0oo0ooo0ooOoo00o0OoO0o00o0 ‘000000000 UNIXOOOOOooooooooooooooo
ooo

sage: !ls

auto example.sage glossary.tex t tmp tut.log tut.tex

goboobobooboobbooobooboobobooboon

00000 PATHOOODODO SageD binO0OOOOO0O0OCOO00ODOOOOgp OgapOsingular Omaxima
OO00O00O0O00OO0Sage0OOOCOCOOOOODOOOOOUOOUOUOOOOOOOOOOO

sage: !gp
Reading GPRC: /etc/gprc ...Done.
GP/PARI CALCULATOR Version 2.2.11 (alpha)
1686 running linux (ix86/GMP-4.1.4 kernel) 32-bit version
sage: !singular
SINGULAR / Development
A Computer Algebra System for Polynomial Computations / version 3-0-1
0<

by: G.-M. Greuel, G. Pfister, H. Schoenemann \ October 2005

FB Mathematik der Universitaet, D-67653 Kaiserslautern \

32000000000

Sage 000000000 OOO0O0ODOOOODOOD (CODUUODODOUODODOUOODODOOD OODO)DODOOOOOO
O000000000D0000 logstart0O0D0OO0OO0OO0O (ODODOOCOOCOOOOOOOO)OOOOOOOO
logstart? 00000000000 logstart 00000000000 0OODOODOOODOODODOOOOOD
Oo({@ooooooooooooooooooo)obooobooooOoOooobooboobooboobo

was@form:~$ sage

| SAGE Version 3.0.2, Release Date: 2008-05-24
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| Type notebook () for the GUI, and license() for information.

sage: logstart setup

Activating auto-logging. Current session state plus future input saved.

Filename : setup
Mode : backup
Output logging : False
Timestamping : False
State : active

sage: E = EllipticCurve([1,2,3,4,5]) .minimal_model ()
sage: F = Q0”3

sage: x,y = QQ0['x,y"'].gens ()

sage: G = E.gens|()

sage:

Exiting SAGE (CPU time Om0.61ls, Wall time Omb50.39s).

was@form:~$ sage

| SAGE Version 3.0.2, Release Date: 2008-05-24 |

| Type notebook () for the GUI, and license() for information. |

sage: load("setup")

Loading log file <setup> one line at a time...

Finished replaying log file <setup>

sage: E

Elliptic Curve defined by y"2 + xxy = x"3 - x"2 + 4xx + 3 over Rational
Field

sage: x*xy

Xxy
sage: G
[(2 ¢+ 3 : 1)]

Saged Linux KDEO OOOO konsole0OOOOOO0O0OOO0O0OO0O0OOOOOOODOOOOODOOOOOOO
00 konsoleOO Sage 0000000 “settings” (000 000000ODODO0OO)00000O0OO “history” (00O
00)0 “setunlimited”’C 00 00000)00000000000000000000000000DD0 “edit”"C0O
O0)000 “savehistoryas..” (0 000000000000)00000000000000O0O0O0O0O0OOOO
oobooO0o0oDbOo0ooo0ooDboOooo0oobbo0oooooDOoU0oDOoO xemacs JO0OOODOOOOOOD
ooooooooocooooocooooboono

33 0000000000000 0D0DO0OOO

Sage 00 0OOOOO0OOO PythonOODODOOOODOOOOSageJ0O0DOODOOOODOOOOOOOODOOOO
oooobd >>»>0sage: 000000 O0OO0ODOOOODOODODODOOODODOODODOOOODOOO
O0000000 Sage 00000000000 DDO0ODOODOODOODOODOODOO Sage0OOOOODO
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OO0 PythonOOOOOOOO >>>0 sage: OO0O0O0O0O0O0O0O0OOOCOOCOOOOCOOOODODOO

sage: 2”10

1024

sage: sage: sage: 2710
1024

sage: >>> 2710

1024

34 000000

0000000 stime 00000000000 DOO0OO0O0DOO0O0DOOO0O0DOOOOODOOODOOOODOOOO
0000000000000 000b0000000b00o0b0000bO0o0O000o0bO0o0bOO00oo0oOOoO0oDOOoOn
O000000000 Sage 0000000000000 0O0DODO0DO0O0OO0O0OOOPythonO0OO0O0OODO
Oo0o:

sage: S$time a = int (1938)7int (99484)
CPU times: user 0.66 s, sys: 0.00 s, total: 0.66 s
Wall time: 0.66

O00000oooooe600000 “Walltime” 0000000000000 O0O0OD0OO066000000O0O0
00000000000 0000O0O00000000000000ODO0O0O000 “Walltime”O CPUOOOODO
oooboooooooooDo

OO0O0O0O0O00000 SageOOO0O0O0 Integer 000O0O0ODOOO0O0O0000000O00O00O00OOSaged Integer
O00CythonOOO GMPOOOODOODDOOODOOOOOO:

sage: Stime a = 1938799484
CPU times: user 0.04 s, sys: 0.00 s, total: 0.04 s
Wall time: 0.04

PARIO C-O00000COOOOOO

sage: Stime a = pari(1938) "pari(99484)
CPU times: user 0.05 s, sys: 0.00 s, total: 0.05 s
Wall time: 0.05

GMPOOOOOO0OO000000000 (SageODOODODOOOO PARIDOOOOOGMPOOOOOO0O0O0OOO
gooooopoooo)o

00000000 cputime 0000000000 O0O0OOO0ODOCOOOOOOODOCOOOOOOOOOOOO
oo0:
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sage: t = cputime ()

sage: a = 1int(1938)"int (99484)

sage: b = 1938799484

sage: c = pari(1938)"pari(99484)

sage: cputime (t) # random 0O OO0OO0OOO0O0O
0.64

sage: cputime?

Return the time in CPU second since SAGE started, or with optional

argument t, return the time since time t.

INPUT:

t —-—- (optional) float, time in CPU seconds
OUTPUT:

float —— time in CPU seconds

walltime OUOUODOOODODOODOODOOO0ODOOODODOO0ODOO cputimeddooooboonoO

O0000000O0O0Sage0000O0O0O00O0OOOOOO0OOOOOOOODOOCOOOOODOODOOOOOODO
ooobooooooooboooooooooobo0oobo0oooooooobOo0obbOooooboOooooooboOooD
000000000000 (walltime) 000000000000 CPUOODOOOODOOOOOODOOOOOOD

oobobooooooooboooboooooooooobooOoooog

sage: time 1938799484;
CPU times: user 0.01 s, sys: 0.00 s, total: 0.0l s
Wall time: 0.01
sage: gp(0)
0
sage: time g = gp('1938799484")
CPU times: user 0.00 s, sys: 0.00 s, total: 0.00 s
Wall time: 0.04
sage: maxima (0)
0
sage: time g = maxima ('1938799484")
CPU times: user 0.00 s, sys: 0.00 s, total: 0.00 s
Wall time: 0.30
sage: kash(0)
0
sage: time g = kash('1938799484")
CPU times: user 0.00 s, sys: 0.00 s, total: 0.00 s
Wall time: 0.04
sage: mathematica (0)
0
sage: time g = mathematica ('1938799484")
CPU times: user 0.00 s, sys: 0.00 s, total: 0.00 s
Wall time: 0.03
sage: maple (0)
0
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sage: time g = maple('1938799484")

CPU times: user 0.00 s, sys: 0.00 s, total: 0.00 s
Wall time: 0.11

sage: gap (0)

0

sage: time g = gap.eval('1938799484;;")

CPU times: user 0.00 s, sys: 0.00 s, total: 0.00 s
Wall time: 1.02

0000000000000 00000GAPO MaximaOOO (0 OODOOO0OODOO sage.math.washington.
edu0000)IDDOOO0OUOOO pexpect 00000000 0ODOOOOOOQOODOOODOOOOODOODO
000 Sage 00000000000 0DDOO0OODOOODOOOOO

3.5 IPython OO0 OO

OO000000000Sage0 000000000000 IPythonOOOO0OD0OO0OO0OOO0OO IPythonOOO0ODO
OO00000o0opoooCoOo0oo0ouooooooooOooOoo oogo full IPython documentation 0 0O 0O O
OoOooooOoooooooooIpython0 000000000000 0O0O0O0O0O0O0OOOOOODOOODOODO
ooooDpooon:

e sbgO0O0O00OO0DOOODOODOOOOOOOCOCOOCODODOD jobsOOOOOOOOOOOOODOM@O
OO00QO not tested 0000000000 DOOODOODO sbghDODO SageOOOOOOODODODODODODOD
oobooooooOoooobooobOoo0oOoOoOOoO0O0oOO0OOobOOoOoOobOOOO0ODOOOObOOOOOOn
ooo0oOoO0Ooo0o0ooo0ooooooooooooooooooon)

oooooooood

sage: def quick(m): return 2xm

sage: %$bg quick (20) # not tested

Starting job # 0 in a separate thread.

sage: Jjobs.status () # not tested

Completed jobs:

0 : quick(20)

sage: jobs[0].result # the actual answer, not tested
40

O000000000000000D0 Sage00O0O0O0OOO0O0ODOOOODOOOOODO -OO0OD0OOOOOO
O:Sageld Python OO OO0 ODOOOODODOOODOOOODOOO(@OOOODOOOOO)OOODOOO

sage: %bg eval (preparse ('quick (20)"')) # not tested

ooooooooo

gogboobobooboobbooboobboobuoobboobo spbgbgoboobo
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* $edit (%ed U edJ00D0O0)0DO000DOCO0ODOOO0ODODOOODOOODOOODOOOODODOSageOO
00000000 EDITOROOCOOODOOOOOOODOODOODN (export EDITOR=/usr/bin/emacs
000 export EDITOR=/usr/bin/vimO 0000 .profiled000000O0O0CODOOOO)NO
000 Sage0 00000 %sedit0000000D0OOO0DOOOODODOOOODOOOODOOOO

def some_function(n) :

return n+*2 + 3%*n + 2

oobooooooOooobOooobo0ooboo0ooboo0o00n00dn some_functionOOOOO0OO
O00000O000000000 SageOODOODOD %edit some_functionOOOOOODOOO

- J00000000DOCOCO00O0O0O000D000 srepO000O0D0OCOCOO0O0OOOODOOOOOOOODO
O0000O0O0OO0 SageO0OOOOOODOODDOODO:

sage: f(x) = cos(x)
sage: f(x).derivative (x)

-sin(x)

OD0000 Sage 0000000 srep0000000000 Sage0O000000O00O -sin(x) 00O
gbobobooooooooboobo

IPython DO OO0 O0OO0OOO0OODOOOODOODO squickref 0000000 OODO (20110 40)00
Sage 0 IPython DO O OODO 09.1 00000000 documentation for its magic commands 0 0 0000000
0000000000000 0U000U00oO00Uo0o0UooOoUOIPythond DOOOOOOOOODODOO
gobooood

36 J0OOODOO0O

0000000000000 00C0OO0PythonOOOOOOODO(exception) JO0OOO0OOOOOOOOOOODO
gogobbobooooobobboooobbbiooouubbibd NameError U ValueError DO OO OO
o000 (pythonOOOOOOOOODO /PyJOO00O0OO0OODCOODCOOO)IDOOOOODOOO:

sage: 3_2

Traceback (most recent call last):

SyntaxError: invalid syntax

sage: EllipticCurve([0,infinity])

Traceback (most recent call last):

SignError: cannot multiply infinity by zero

gboboooooboboboobooobooboboboboooobobobob spdo0oooOODOD
oOo/oo000oOoobO@obooobooOo)yoboooboo0ooDo00oDOooDOo00DOoOb0OOOn ipdb>
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ooobooooobooooboooooooOoooOooOoO0ooboOoOoOoOoOoOoOoOoOOoOoOobDOoOoOobOOoOooOooOoboOooDn
ooobooooog

sage: Spdb
Automatic pdb calling has been turned ON
sage: EllipticCurve([1l,infinity])

<type 'exceptions.TypeError'> Traceback (most recent call last)

ipdb>

oobobOOoO00oOo0o0obOooobOoO0ooooboOon ipde>0000000 200000

ipdb> ?

Documented commands (type help <topic>):

EOF break commands debug h 1 pdef quit tbreak
a bt condition disable help list pdoc r u

alias ¢ cont down ignore n pinfo return wunalias
args cl continue enable b next pp s up

b clear d exit Jump o) q step w

whatis where

Miscellaneous help topics:

exec pdb

Undocumented commands:

retval rv

SageOOODOOOCul-DO quitOOOOOO

3.7 0000000000000 00O0

ooO0o0:00000000000O0000C0C ctrl-p(@OO0OO0O0O0OOOO0)O000O0C0O0O0O0DOOOOO
OO00000000C000000000000000O0Sage0 00000000 O0O0ODOOODODBOOODBOO
Ctrl-rdb000O00O0O00O0O0OD000O00O00ODOO0OO0OO00O00O0O00O000O0O0O0O0DOODbOO0OOODOO0O0
readline0000000OOOOOOOOOCOCO LinuxO0O0O0O0O0O0O0O000O000O00O00OO

0000000000000000300000000V=Q30000000:

sage: V = VectorSpace (QQ, 3)
sage: V
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Vector space of dimension 3 over Rational Field

oobooooooooobocooboocooobo:

sage: V = Q0”3

000000000000 vVooooooooooooooooooooov.0000ooooo [tab]l OO0
goooo:

sage: V. [tab key]

V._VectorSpace_generic__base_field

.ambient_space
.base_field
.base_ring

.basis

< < < < < -

.coordinates

V.zero_vector

oo0ooo0oooboocOobO0oobOonon [tep OO10000C0O0O0C0COO0OCODOOCODOOOOOOCOOOOODO
oooooooo

sage: V.i[tab key]

V.is_ambient V.is_dense V.is_full V.is_sparse

0000000000000 0D00O0Odcoordinates D 0000000000 DODOOOODODOOO0O V.
coordinates? 000000000 O0OOO0OOOOOOOO V.coordinates??2U0000O0OOO0O
oodooooooooooon

38 J000O0OOOO

Sage 0000000000000 0ODOO0ODOOODOOOODOOOODWO00O0O0O0DO0O0O0ODODOO0O0OOO
gbobooooogoogo

sage: V = QQ"3
sage: V.coordinates?

Type: instancemethod
Base Class: <type 'instancemethod'>
String Form: <bound method FreeModule_ambient_field.coordinates of Vector

space of dimension 3 over Rational Field>

Namespace: Interactive

File: /home/was/s/local/lib/python2.4/site-packages/sage/modules/f
ree_module.py

Definition: V.coordinates (self, v)
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Docstring:

Write v in terms of the basis for self.
Returns a list c¢ such that if B is the basis for self, then
sum c_1 B_1 = wv.
If v is not in self, raises an ArithmeticError exception.
EXAMPLES:
sage: M = FreeModule (IntegerRing (), 2); MO,M1l=M.gens ()
sage: W = M.submodule ([MO + M1, MO - 2%M1])

sage: W.coordinates (2+xM0-M1)
[2, -1]

gogboodoboboobooboooobooboooboobooboboobbobDboobboobDbooboOoo
goboboooooooooobobobooooboobogooobobobobobboooooDooDobOoDbOoD
goboobooobbooboobo

O00000000OSage0 000000000 DODODOO0OUOOODOE0O PythonOOOOODOOOOOO £220
obob0o f00b0obob0ob0oboboboooooboooDobOobo

sage: V = Q0”3
sage: V.coordinates??

Type: instancemethod

Source:

def coordinates(self, v):

Write $v$ in terms of the basis for self.

nun

return self.coordinate_vector (v) .list ()

O0O00000 coordinates 00O coordinate_vector0O00O0O0O0O0O00O00O0O0O0OOCOOOOOOOOO
000000000000 coordinate_vectord0doodoooooooon:

sage: V = QQ"3
sage: V.coordinate_vector??

def coordinate_vector (self, v):

return self.ambient_vector_space () (v)

coordinate_vector JO0OOOOOODODODO (ambientspace) 0 0000000000000 0»000OO
000000 VOO0O00000000OD0DOO0000000000000VO Q300000000000000
Uooooobgbobo0obOobO00ibOdl coordinate_vector DO O0O0O0O0OOO0OOOOODOOOODO
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ooooooooocooooooooo:

sage: V = QQ"3; W = V.span_of_basis([V.0, V.1])

sage: W.coordinate_vector??

def coordinate_vector (self, v):

nun

nun

# First find the coordinates of v wrt echelon basis.
w = self.echelon_coordinate_vector (v)

# Next use transformation matrix from echelon basis to
# user basis.

T = self.echelon_to_user matrix()

return T.linear_combination_of_rows (w)

(000000000000 00000000000000000000000000000000000000
oooooo)

help(ODOODOO) D000 help(@DOOO) DOODOODODD ODOOD man OO OO0DOOOOQOOODODO
ooobooooooon

sage: help (VectorSpace)

Help on class VectorSpace ...

class VectorSpace (__builtin___.object)

| Create a Vector Space.

|
|  To create an ambient space over a field with given dimension
|

using the calling syntax ...

gUbooooooboobooobooboooooooDooDoboobDobob0boboboboboboboobooo
function_name? 00000 000000000 0DO0O00O0O0OD0O0OD0O0O0O0OOO0OO help(OOODOO
U)o uobobobbb sage.modules.free_modulelU0U00O0O0O0OOOOOODODO
Joobbbb0o0oobbb000dubDl help(sage.modules.free_module) UOOOODODOOO
gobooooo0ooooUoooOoOoCocO0O0oDOoO0obD /00b0O0O0OOO0OO0OOUO0ODO ?0OO0O0OO0OOODOOD
oboboooo

39 000oOooooooooog

ooobooooobooooboooooooOoooOooOoO0ooboOoOoOoOoOoOoOoOoOOoOoOobDOoOoOobOOoOooOooOoboOooDn
ooobooooooooboooooooooobo0oobo0oooooooobOo0oboOooobooOooooooboOooD
oobobOooooOooobOocOoobobocOoobOoOoOoooOoOoOooon
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l.0000000C0:00000000000O0O0OO0O0O00O0 (GAPOMagmal O)O
2.00000:0000000000000000000000000 (GAPO PARDO
3.000:000000000000000000000000000 (Singulard PARI)O

PythonOOO Sage 0000000000000 O0000OO0(@MOO)000DO0DOOOOOODOOOOODOOOO
OO00O000000ooooooooooooooooOO0OC0OOO0O000000OoO PARIOOOOODOO
coobooooooooboooooooOoooOooOooboOoO0OoOooOoOoooObo0O0obOOOoobOOoOoOoooOoboOoon
O{@oooooo)0oooooo0ooooooooboO00o0ooooooo0o0O00o0oooooOoO0Od Python
ooooooooooobooooboooooo

O000D0 SageO0ODO0O0D0 xO00 00D0O save(x, 00000) (000000000 x.save(OOODO
0))ooboooooooooooOooooooOooooooOooooOooOoooooOoooOoOooOooOboOoOoooon
000 lead(DOOOO) OO0OD0OOOO

sage: A = MatrixSpace (QQ, 3) (range (9)) "2
sage: A

[ 15 18 21]

[ 42 54 66]

[ 69 90 111]

sage: save (A, 'A'")

0000000 Sage 0000000000000 ADDOOOOOO:

sage: A = load('A")
sage: A

[ 15 18 21]

[ 42 54 66]

[ 69 90 111]

gobooboboobooboooboobooobooboobbooboobbooboobbooboon
gbobooooooobooboboboooooooobobobobooooo

sage: E = EllipticCurve('lla')
sage: v = E.anlist (100000) # 0DOO0OO0OO0OOOO
sage: save(E, 'E'")

sage: quit

Oo0oooooo0 E0O0OO0OO0OO0O0OoOOOO000 e, 000 100000000000000153KO000O0O0O
gpoooo

~/tmp$ 1ls -1 E.sobj
-rw—-r——-r—-— 1 was was 153500 2006-01-28 19:23 E.sobj
~/tmp$ sage [...]
sage: E = load('E")
v

sage: = E.anlist (100000) # 0000
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(Python OO OO0OOOOOOOODOO cPickleJOOODOOOOODOOOOODOSageO00OO0OODO xOOO
O cPickle.dumps(x, 2) 000000CCOOOOO0OOOOOOO20000)

Sage 00 OOOO0O0O0DOOO0O0O0OOGAPO SingularD MaximaOOOOOOOOOOOCOOOO0OOOOQOO
OO0000o0o0o0U0ooooo0oooo0o0ooDo0DO “mvalid(0C000)00000000O0O0DOOGAP
coobooooooooboooooOoOoOooOboOoOoOOoO0OoOOoOOoOoOOO0O0ObOOObODbOOOOoOoOboOoOoDn
oooboooooooboooooboooooboo

sage: a = gap(2)
sage: a.save('a')
sage: load('a"')

Traceback (most recent call last):

ValueError: The session in which this object was defined is no longer

running.

GP/PARICOO0O0COO0O0O0O0O0O0000000000000O0O0O0O0O0O0O0O0O0O0O0O0OOOOOOOOO

sage: a = gp(2)
sage: a.save('a')
sage: load('a')
2

O0000ooopoooo0o0o00UoooDoooo000oooDoo0o0o0oOoUoon SageOOOOO
000000000000 032000 0SXO0OOODOOOOOO0OOO0O0 640000 LinuxO SageO0OO00OOODO
gooo0ooooooooooSXoooooooooooooooooooooooooooooooooDooo
0000000000 SageO0ODOOODOOOO0OOOOOOOOOCOOOOOOOODOOOOOOOOOOOOO
oooboooobooooobooooooooobooobo0oooooooobObooobboooboooooboOooon
ooooooboooooooboooOooooOooooooO@oooboOooooOoO)0ooOoboOoooooboOooooon
OOOOCCOOQ0OO0OC Sege0000000O0O0O0O0OOOOOOOOOOOOOOOOOOOOOOOOOOOO
O00000o0o0o0ooooooooooooooooD(x.__dict_ 0)000O00O0 xOOO0OOODOO
coooooooooobooobooOoOoOoOoOoOoO0OobOOoO0ObOOoOoOoboOoOoOoOooDooOon

391 00000000000

goooooo ASCIooooooooooooooooooooooooooooooooooooboooobooo
oooooooooooooOoooooooooooo0oooo @ooooooooooooooooooo
ocoooooo)oooooooobooOoDOOoOOOOOOOOOOOOOOOOOOOOO

sage: R.<x,y> = PolynomialRing (QQ, 2)
sage: f = (xty)"7

sage: o = open('file.txt','w")

sage: o.write(str(f))

sage: o.close()
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310 0000000 Ooooooooon

Sage 00000000 DDOO0DOOOODOOOOODOOODOOODOOOOOOO

0000 save_session(D0O00O000) ODO0O00O0OO0O0O0O0O0OOO0O0OO0O0O0OO0O0OO0OO0O0OOOOOOOOODO
000000 oooooooooooooooo@uooooooooooooooDooooOooooooDoon
oOooOoO0oo0O00O000O00DOO0cO0OOO00000000)0000 .scbjO0O000O00O0O0O0O0CODOCOODO
ooobooooboooooboooooooooboooboOoooooooobObooobboOoobooOooooooboOooon
ooooooobooooboooooooobooboOoobo0oooooooood

gbobooobooboooboobouob bobobobobobobobdibn loadosession(DOOOOO) OO
goboboooooooboooboobobobooooobooooooboboboboboobooooobDobOobooD
gobooboobobooboobboobda

OO0 Sage00O000O0O0O0O0OOOODOODODO

sage: E = EllipticCurve('lla')

sage: M = ModularSymbols (37)

a = 389
t = M.T(2003) .matrix(); t.charpoly().factor()
(

x — 2004) x (x - 12)72 x (x + 54)"2

sage:
sage:
4 =

gogobboooobboooobbooobbbooobobbuooobbb.scbjdbbooobbboOoO
o000 3KOOOooooooooo

sage: save_session('misc')

Saving a

Saving M

Saving t

Saving E

sage: quit

was@form:~/tmp$ 1ls -1 misc.sobj

—-rw-r——r—-— 1 was was 2979 2006-01-28 19:47 misc.sobj

0000 Sage 00000000000 D0OO0O0ODOO0OOODO0ODOO0OOOOODOOOODOOOOOO

sage: b = 19

sage: load_session('misc')
Loading a

Loading M

Loading E

Loading t

oobooOooooOoooobOoobobooOooboOoOoOoOoOOoOoO0oOOopObOOOOOOOOOOOOODO

3.10. DO0OO0OOOOOOOOOOO 77




SageJOOQOO0OOO,0000 8.0

sage: M

Full Modular Symbols space for Gamma_0(37) of weight 2 with sign 0

and dimension 5 over Rational Field

sage: E

Elliptic Curve defined by y*"2 + yv = x*3 - x”2 - 10xx — 20 over Rational
Field

sage: b

19

sage: a

389

3.11 J0oooooooooooo

Sage 000000000000 OOSage00O0OOOOO

sage: notebook ()

000000000 Sage0 00000000000 DODOOO0OO0OODOO0OO WebOODODDODOOOOOOOO
000000000 DO00O000D0DOO0D00 $HOME/ .sage/sage\_notebook.sagenb OO OOOOO

goboobooobobooboooo

sage: notebook ("ULUOOOOOM)

O000OO00O0D0O00O0DOO $HOME/.sage/sage_notebook.sagenb 000 OOD0OO OODOOOODO
.sagenb 0000000000 O0OOOODODOODODODODODODODLODODOODOOOOOOOOOODOOO
goobooboooooooooboboboooooboobogoooboboboboboooooDooDobDOobOoo
oboboooooog

O0000O0000O0O00D0O0O SHOME/.sage/sage_notebook.sagenb 00000000 O0OOOODO
goood:

conf.pickle
openid.pickle
twistedconf.tac
sagenb.pid
users.pickle
home/admin/
home/guest/
home /pub/

OooooOoooOOO0ooOo0oO0ooOooooo webooooooooooo

O00000O0O@motebook) 00D ODD0OOO0OOD0OOOO0OOODOOOOODOODODOODOOOOODODOOD
oboobO0oobOOooobOooobOOobooobOooobOooobOoobOoocooboOooboooboobocboobcbOooDn
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home/username/number 0000000000000 O0O0O0COO0OOCOOO0DOOOOOOOOOOOO
worksheet .html 0000000000000 0000000000000O0O0O00O00OO SageCOO0OO0OOO0O
coooooooOooooboobobooOoobooOoOoOoOoOOoOoOoOOoO0OoObO0OOobOboOooboOoOoOooOoDOboOoon

Sage 00 notebook? 000000000 DDOO0ODOO0ODOOOODOOODDOODOOOOOOO

O00D00000Sage000OO0O0ODOOODOO:

firefox/safari

\

\

\

\
javascript \
program |
\

\

sage | SAGE process 1
web | ———————————= > SAGE process 2 (Python processes)

server | pexpect SAGE process 3

00000000 Sage 000 ODODOODO OCODOOODOOODOOODOOODOODODOUODOUODOOODO OOD
O0?200000 <tab>000000 (<shift-enter>0000)O

goboobboobooboobobooboobbooboobibO HelpOOoOobooLDbOoOD
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Juooodoodotd

Sage 00 0O0OO0O0O0O0O0O0OCOOOOOOCOOOOODOOCOOOOOOOOOOOOOOOOOOOODODOO
OO0 PythonODOO0O000OCO00O00OCOO0O0O0OCO0O0O0DODOOO SageO00O0ODO0OO0O0ODODBOOOODO
oooooooooooboooboooooon

Ubobobobobobuobobd consoled0UOO0U interact 000000000 OOOOOODOODO
OO0O0GAPOUOOOOOOOOOOOOOO:

1. gap.console (): 0000000 GAPOOOOOOODOOOO0O0O0D0OODOOOO GAPODODO OO Sage
O0OO0O0C0OLnuxO bashOOOOOOOOCOOOOOOOOOOOOOOOOOOOOOOOQ

2. gap.interact (): J0000000Sage 00000000000 0000ODO GAPOOOOOOOO
ooo0oOoO00oOOoOo0ooOoOoO0oO0DOOO0UODbDOOoUooDbDGAPODODOOODO(@COOOODOOOOOO
O0)Sage00O0O00D0ODOO0ODOOOODDOOODODOO

4.1 GP/PARI
00000000000 00O000 PARIDOOOOOOOCOO0OOOOO00OOODO00OONODOON0ONoooo
OO0Sage 00 PARIDOOOOOO0000O0O0200000000000000000000:

s gp-“GoPARI’0000000O

e pari-PARICOOOO0O

ooobooooooooboooOoooooooOooOoOoboOooobooOoOoooOooOobboOooboOoOooooOoboOoon
oooboooooooboooooooooo0oobOo0ooooooooObOU0oDOoOoobooOoOoOoooDo

sage: gp('znprimroot (10007)")
Mod (5, 10007)

sage: pari('znprimroot (10007)")
Mod (5, 10007)




SageJOOQOO0OOO,0000 8.0

ooooooOoOoooGepOOO0O0OOCOO0OOCOOOOODOOOCODODOOOOOOOOODOOOODOOOCOD
'znprimroot (10007)' 000000OGPOOOOOOOOODOOODOOODOODOOODODOO (BODOO
GpOOODOOOOOOOODODOODOODOOODOODOO)YWOOODOUOODODOUODOUODOODOOO
O000000o0oooooooo00000o0ooooooob0000d '"znprimroot (10007) ' O PARICO
OO00000ooooooOoU0oUoooooDoooCo pythonODOOOOCOOOOOOODOOOCOOOOOOOODOO
gogooooobooboobbbboboooooooooobbboooooooobbbbboooooooooooDo
goooo:

sage: type(gp('znprimroot (10007) "))
<class 'sage.interfaces.gp.GpElement'>
sage: type (pari('znprimroot (10007) "))

<type 'cypari2.gen.Gen'>

0000000000000 0000000000000000000000GPOOCOOOCOOOO GP/PARIDO
O000000000000000000GP/PARIOOOO0O0OO0O000O0O000000000000O0OO PARI
oooooooooooooooOoooDoOoooOoooOooOoOooO0oooOoooOooOoOoooOooOocCcooooOoooon
OHPARIOOOOOOODOOODOCO0OOOO0ODOOOOOOOOOODOOO0ODOOOODOOOODOOOOOD
Oo0O00o0o0oo0ooOoOO0o0O0000o0O0O0C0O00 PARIDOOOOOOOODOOCOOOO0O0OOOOCOPARIOO
goooooo GpO000O0O0OO0OOOOOOOOOOOOODOO

(bbooooooooooooooooooGcepOoOOOOOOOOCOOOOCOODOOOOOOOOOOOOOO
ooobooooboooooboooooooooobooobooooooooobOboooboOoOooobooOoooooOobOooD
Oooo0oooooOoooO0ooooooOO GpOOODOOCOOOO0O0OOODOOCOOOOOOOPARICOOODOON
Ooooo0oooooooooooooooooooOOO0O0cOoCoO000O000g  PARIOOOOOOODOODO
0o0000oooO0o0o0ooo000oooO0o00oooO000oOoO000oooO00ooD 1IoOMBOOOOODO
ooobooooobooooboooooooOoooOooOoOooboOo0oOoOoOoOooOoOboOoOobOoOoOobOOoOooooOoboOooon
goooOoOopoOoooooooooooooo)

OO0O0O00O0Saged PARICOOOO0O0O0O0O0ODO GP/PARIOOOOCOOOOOO0O0O0O0O0O0O0OOODOODN
0000000000 ooooog python 00000 O0OOODOOOOOOOOODODOO

OOOOPythonOOOOOO PARIOOOOOOOOOODOO

sage: = pari([1,2,3,4,5])

v
sage: Vv
(1, 2, 3, 4, 5]
sage: type(v)

<type 'cypari2.gen.Gen'>

PARIDOOOOOO000O GenO00O0O000D0O0000O0O0O00OOO0OOO PARIOOOOOOOOOOOO
00000000 type 0000

sage: v.type/()
't_VEC'
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PARIOOOOO0O0O0O0O0COOOOellinit([1,2,3,4,5])0000008Sage0000000O00Oellinit
000 t_VECvOOODOOOO PARIDOOOOODOO0ODOOOOOOOODOOOODOOOOO

sage: e = v.ellinit ()

sage: e.type()

't_VEC'

sage: pari(e) [:13]

(r, 2, 3, 4, 5, 9, 11, 29, 35, -183, -3429, -10351, 6128487/10351]

coooooooOoocoobooooOooOOoOoOoOobocOoOoboOoOoOooooOon

sage: e.elltors|()

(1, [1, [1]
sage: e.ellglobalred()
(ros3s1, [, -1, o, -1J3, 1, [11, 1; 941, 1], [(1, 5, O, 1], [1, 5, O, 11]]

sage: f = e.ellchangecurve([1l,-1,0,-11)
sage: f[:5]
(1, -1, 0, 4, 3]

4.2 GAP

Sage 00 GAP44.10000000000000000000000000000000

000000000 GAPD IdGroupO00COOOOO0O0O0O0O0OODOOOOCOOOOOOOOOOOOOO
goobooooooooooobobobooboooboobogLDobDobobobobooDoDoLDobDUDbOoD
gbobooooooood

sage: G = gap('Group((1,2,3) (4,5), (3,4))")

sage: G

Group( [ (1,2,3)(4,5), (3,4) 1)

sage: G.Center()

Group ( () )

sage: G.IdGroup () # optional - database _gap UOOUO0O0O - database_gapO0O0O
[ 120, 34 ]

sage: G.Order ()

120

COOOOOOO0OGAPOOO=000000D0000000000 SageO0OOOO0O00OO:

sage: G = PermutationGroup ([[(1,2,3), (4,5)1,0(3,4)11)

sage: G.center ()

Subgroup of (Permutation Group with generators [(3,4), (1,2,3) (4,5)]) generated by [()]
sage: G.group_id() # optional - database gap OOU0OO0OUOO database_gapUO00O0OO0OOO0O

[120, 34]

sage: n = G.order(); n

120
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(GAPOODODOOUOODOUOOODOOO Sage0O0OODOOOOODODODOOODODODOUOOODDOOOO
00000 sage -optional OO0 DOO00O0O0O0O0OOODODOOOODODODDODOOOODODDOOUOODDDUOODD
0 gap\_packages-x.y.zO0O00OO00O00OO00OO00ODO sage —-i gap\_packages-x.y.zOODOODOODO
CoOoOoOoOoOO0OO0OD0O0OD0ODOD0DDO database\_gap-x.y.zO0OOOODOOOOCOOOODOOODO GPL
O000 GAPOUOUUOODOCOGAPOOOOOO [GAPkg/OOODOODODOOO $SAGE_ROOT/local/lib/
gap-4.4.10/pkg0000000O0OC0OODOOCOODOOOODOO)

4.3 Singular

Singular 000000000000 O00000 ged0ODOOOO Rieman-RochOOOO0O0O00O0OO00O0O0O0OOO
ooobooooboooobooooooooooooobooOooooooooOooooboOoobooOoOooooboOooon
00 Sage0O Singular 00 0000000000000O00O0OO00OO (....00000000):

sage: R1 = singular.ring(0, '(x,y)"', 'dp')
sage: R1

polynomial ring, over a field, global ordering
// coefficients: QQ

// number of vars : 2

// block 1 : ordering dp
// : names Xy
// block 2 : ordering C

sage: f = singular('9xy"8 - 9*x"2xy"7 — 18xx"3xy"6 — 18%x"5xy”6 +'
oot "TOxxM6xy™4 + 18xxNTxy "5 4+ 36%x78xyt4 + 9xx710xy"4 - 18%x71lxy”2 !
et "OxxM124yn3 - 18%x7M13xy"2 4+ 9xx”16")

fO00000000O00O0OOO00OOOO0OO0OOOOOOOO

sage: f
9xx716-18xx"13*xy"2-9%xx"12xy"34+9%x710xy"4-18%x"11xy"2+436%x"8xy"4+18%x"T7xy"5-18*x"5xy”"
5 6+94xN6xy N 4-184xX"3xy N 6-94xX"2xy"T+94y "8
sage: f.parent()
Singular
sage: F = f.factorize(); F
[1]:

_[11=9

_[2]1=x"6-2xx"3%y"2-x"2xy"3+y"4
[3]=—x"5+y"2
[2]:

1,1,2
sage: F[1][2]
XN6=24X"3xy N 2-x" 24y 3+y T4

GAPOUOOOO GAPOUOOODOOOCOCSmgular D00 O00OOOO0DOOOOODOOOODOOOOOOOOODO
D000 Sage0O0D0OO0OOODOOO Singular 000000000000 O0OOOOOOOOO0DO)YOODOoOoOoOOO
....0ooogooo:
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sage: x, y = QQ['x, y'l.gens()

sage: £ = (9xy"8 — 9%x"2xy"7 — 18%x"3xy"6 — 18%x"0xy"6 + 9xx"6xy"4
ceeet F 18xxMTxy 5 4+ 36xx78xy ™4 4+ 9xx”10xyt4 - 18xx711lxyt2 — 9xx"12xy"3
ceeer = 18%x713xy"2 4+ 9%x716)

sage: factor (f)

(9) * (=x75 + y"2)72 % (X6 — 2xx"3xy"2 — x"2xy"3 + y"4)

4.4 Maxima

Maxima OO LISPOOO0O0O00000O00 Sage000000000MaximaOOOOOOOOODODODO)gnuplot
OO000000Sage000000O0O0DOOCOOCOO000000O0O0MaximaOODOOOOOOOOOOO00O0O0OO
Maxima OO OOOOOOO0O0OO0O0O0O0OO0O0O0100000000 (ODE)DOOO0OOO0 20 ODEOOOOOO
000000000000 OoODEODONOODOOONONODODODOONDNDDOOOD MaximaODOOOODOOOOOOOD
OO0000Ognuplot 000000000000 DOOOO@OOO0OO0OODDOODOOOOOO)O0O0OOOOO
oobooOooooOoocoobOocOoOoboocOooboOooobooOon

Sage/Maxima 0000 00000000000000000000,j000004/j000000000000
0D00000004,j=1,...,40000

sage: f = maxima.eval ('ij_entry[i,J] := i/3")

sage: A = maxima ('genmatrix(ij_entry,4,4)"); A
matrix([1,1/2,1/3,1/41,12,1,2/3,1/21,13,3/2,1,3/41,14,2,4/3,11)
sage: A.determinant ()

0

sage: A.echelon()
matrix([(1,1/2,1/3,1/41,1(0,0,0,0],(0,0,0,0]1,10,0,0,01)

sage: A.eigenvalues()

[[0,4],[3,11]

sage: A.eilgenvectors()
(rro,41,103,111,10¢((1,0,0,-41,10,1,0,-2],100,0,1,-4/311,10[1,2,3,41111

gogbooooobooo:

sage: A = maxima("matrix ([1, O, O], [1, -1, 01, [1, 3, -21)")
sage: eigA = A.eigenvectors()
sage: V = VectorSpace (QQ, 3)

sage: eigA

(re-2,-1,11,101,1,111,10(10,0,111,000,1,311,(12,1/2,5/6]111]

sage: vl = V(sage_eval (repr(eigA[1][0][0]))); lambdal = eigA[0][0][O0]
sage: v2 = V(sage_eval (repr(eigA[1][1][0]))); lambda2 = eigA[0][0][1]
sage: v3 = V(sage_eval (repr(eigA[1][2][0]))); lambda3 = eigA[0][0][2]

sage: M = MatrixSpace (QQ, 3,3)
sage: AA = M([[1,0,0],[1, - 1,01,[1,3, - 211)
sage: bl = vl.base_ring()
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sage: AAxvl == bl (lambdal) xvl
True

sage: b2 = v2.base_ring()
sage: AAxv2 == b2 (lambdaZ2) xv2
True

sage: b3 = v3.base_ring()
sage: AAxv3 == b3 (lambda3) *v3

True

O000Sage000 openmath 00 000000000000000000O000O0O0O0OODODODOOMaxima
oobooooooooobocooboboooboooo

ocoooooooooooooo (...00ooooo)

sage: maxima.plot2d('[cos (7*x),cos (23xx)"4,sin(13*x)"3]"',"'[x,0,1]", # not tested

el '[plot_format, openmath] ")

ooooooo30oooo0oooooooooooooooo0O0 (....000000):

sage: maxima.plot3d ("2"(-u*2 + v~2)", "[u, -3, 31", "[v, -2, 21", # not tested
et '[plot_format, openmath]')

sage: maxima.plot3d("atan (-x"2 + y*3/4)", "[x, -4, 41", "[y, -4, 41", # not tested
e "[grid, 50, 501", '[plot_format, openmath]')

gooooooooooo 3pgooopoopopoo (....0o0o0000).

sage: maxima.plot3d("[cos (x)* (3 + yxcos(x/2)), sin(x)*(3 + y*cos(x/2)), y*sin(x/2)1",
—# not tested
e "[x, -4, 41", "ly, -4, 41", '[plot_format, openmath]"')

ocooooooooooooooooooooooo (..., 00O000g):

sage: maxima ("expr_1l: 5%cos(x)*(cos(x/2)*cos(y) + sin(x/2)*sin(2xy)+ 3.0) - 10.0")
5%xcos (x) * (sin(x/2) #sin (2*y) +cos (x/2) cos (y)+3.0)-10.0

sage: maxima ("expr_2: -5xsin(x)*(cos(x/2)+*cos(y) + sin(x/2)+*sin(2*y)+ 3.0)")
—-5%sin (x)* (sin(x/2)*sin (2*y)+cos (x/2)xcos (y)+3.0)

sage: maxima ("expr_3: 5% (-sin(x/2)+*cos(y) + cos(x/2)+*sin(2+y))")

5% (cos (x/2) *sin (2*y)—sin(x/2) *cos (y))

sage: maxima.plot3d ("[expr_ 1, expr 2, expr_3]", "[x, -%pi, %pil", # not tested

e "ly, —%pi, %pil", "I['grid, 40, 40]", '[plot_format, openmath]"')
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Sage TeXOOOOODOOODOD LaTeXOOOOOOOOOODOODOODOODOOOOOOoOoOoooooo
ooboooOOoOooOoOooOobOoOoOoOf0OooO0oDOoOoOo0OOoOoDOoO0oO0ObO@E@UDOOOoDOoOooOobooOoD
00000oO00ooooooooooog)

51 00

Sage O LaTeXOOOOOOOOOOOOOOOOOOO0OO0O0OO0OOOOOOOOODOOOOOOOOOOOOO
ooobooooboooobooooboooo

1. Sage 0000000000000 LaTeXOOOOOOOOOODOOOOOOSageOO0OO0O0O fool
LaTeX OO OOOOO0O00000000OSage000000000 Sage0O0OO0O0D0OOO latex(foo)
ooo00oOoOo0oOo0oOoboOoboOo TeXOoOOoOooO(OOOObOOO sOooOooboOoboH)ooOooooDo
ubdbd feolOOOOOOOUOOOOODODOOOOOOOOOODOO

00000000 SageO LaTeXOOODOOOOOOOOO0OOO0OOOOODOOOOODOO SageO OO
U00O00obO0o0oDO0o0OD0o00O000000000 latex() OO00OO0OO0DOO0D00O LaTeXOOODOO
0o/o0000000000

2. 0000000000000000web00000C0000000CO000DOODOO MathlaxOOOOOOO
O0000000MathJax O JavaScript 0 0000000000000 0000000O0O0O0O00O0OO0OO
OO00O00O0O0TeXOOOOOOOOOOOOOOOOOOOOO,00000000C000000O00O
o0000 TeXDOOOOUOOOOOOoOoDOOoOooOoOoooooOoooooooooooboooooooooDo
oobooooooOoooobooobOooOoOoOoOOoO0O0oOOO0O0obOOoOoOoOOOO0ODOOOb0ObOOOOOOn
O0000 latex() 000 MathJax OO O OO0 HTMLOOOOOOOOODOOO OO OO O MathJax
OO000o00OO0OO00000OO0cO0000D0O000000DOO0O0O0 TeXOOOOOOOOOOOOoOoooo
oobooooooooobooobooooooboooono

3.S5age 00000000000 OCOCOOOOOOMathJaxOOOOOOOOOOO LaTeXOOOOOOOO


http://www.mathjax.org

SageJOOQOO0OOO,0000 8.0

O0O000000000000CO000000000 LaTeXOOOOOOOOOOOOOOOSageOd OO
Sage 0000000000 DOOOO0O0O0DOODOOOO0OODOOOOOO0ODTXOOOOOOOOO
ooooooOoooooTeXOOOOOOOODODDOODDOODODODODOODODOODODOOODOOODOODO
ooboooooooooboooboooooboooooo

000 latex() OOOO0OOOOODCOOOCOCOO.

sage: var('z")

z

sage: latex(z"12)

z" {12}

sage: latex(integrate(z”4, z))
\frac{1}{5} \, z"{5}

sage: latex('a string')

\text {\texttt{a{ }string}}
sage: latex(QQ)

\Bold{Q}

sage: latex(matrix(QQ, 2, 3, [[2,4,6]1,[-1,-1,-111))
\left (\begin{array}{rrr}

2 & 4 & 6 \\

-1 & -1 & -1
\end{array}\right)

000000000 MathJaxOOOOOOOODOOCOOOOO0O0O0O0DO0O MathJaxOOOOODOO MathJax O
O00000000000000000000MathJax0000 eval OO0 Sage0000000 LaTeX OO
OOO0OO0O0OO0OO0CSSO “math» 00000000 HTMLOOODOODO MathJax OO0 0000

sage: from sage.misc.latex import MathJax

sage: mj = MathJax()

sage: var('z")

zZ

sage: mj(z"12)

<html><script type="math/tex; mode=display">\newcommand{\Bold}[1]{\mathbf{#1}}z"{12}</
—script></html>

sage: mj(QQ)

<html><script type="math/tex; mode=display">\newcommand{\Bold}[1]{\mathbf{#1}}\Bold{Q}
—</script></html>

sage: mj(Z2Z[x])

<html><script type="math/tex; mode=display">\newcommand{\Bold}[1]{\mathbf{#1}}\Bold{Zz}
— [x]</script></html>

sage: mj(integrate(z”4, z))

<html><script type="math/tex; mode=display">\newcommand{\Bold}[1]{\mathbf{#1}}\frac{1l}
{5} \, z"{5}</script></html>
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52 0000000

OO00000000OSaged LaTeXOOOOOOOOOODOOOO0ODOOOD latex() OODOOO0ODOODO
O0D00 LaTeXOODOOOOOOOODOODOOOOOODOOOD LaTeXODOOODOOD LaTeXODO
0000000000000 000D0O0O00D0O0O00D0OO SagedOOO00OODOOOODOOODOOOO

OO0O0O0000000D0 view() OOOO0OOO0OOO0OO0OSage0O00O0D0O00O00O view(foo) OOOOODO
fool LaTeX O OOOOOOOOOOOO LaTeX OO OOOODOOOOODOOOODODOOOODOOOOD
TeXOOOOOOTeXOOOOOOOOOOOOOODOOOOOOOOODODOOOO0O0 TeXOoOOOooOooOoo
OOOOCOOOOOO0OO0O00O00000000O0gg (LefexooboOooooo DooODO)O

OO0000D0000O,view(foo) JOODOO MathJax OO OOO0OOOO LaTeXOOOOOOOOOOODODO
OOOooCOoOOHTMLO CSSOOOOOOOOODOOODOOODOOOD SageO0OOOO0O ASCIIOOOOODO
O000000oooooo000oooooooo0o0ooooonD Sage00D00O0OODOOOOOO MathJax
O000CO LaTeXOOODOOOOODOOOOOOOOODOOOO MathJaxOOODOOOOODODO TeXOOD
goooobobooboobooobooboooboobooboboobbobDboobboobDbooboOoo
0o0b00o0o0oooooobg LelexD0oooooooboob 0Oo0OoDOOD

00000000 TeXOOOODOOOODODOODOOOOOODOODOODODOODODODODOODDOODOOD
OO00000D0CO00DOO000O0O0DnO “Typeset’00000C00DOCO0ODOOODOOODOOODOOOD
D000 Mathlax 00 0000000000000 0O0O0O0O0O0O0OOOOOOOOOOOOOOOOOOOO0O0
00000000000 00o0oDooo0o0C00O0O000000oooonO “Typeset” D 0000000 OODOOO
goboobbobbod view() DO0DOOODODOODOODLOOOODOODOOODODOOO

OO000000 TeXOOOODOOOOOOOOOOOOOOO TeXODOOOOOOOOOOOoOOooooooao
OO0o00000oooooooooooO0o0ooO0b00000000000 <shift-click>000 TinyMCE QOO
0000000000000 000000000000000000000000000 WSIWYGOOOOOO
OHTMLO CSSOOO0O0O0O0O0O0O0O0O0O0O0O0O0O0OO0OOOODOOODOOODOOODOOOOOOO000O0AO0
oooooooooooogooooooooooog (g obopogoooo 20 (ss)boooooooooO
O Mathlax 00 0000000000000 0O0O00OO0O0OOOOOOO0OO

53 LaTeXDOOOOOOODODOODO

latex () 0O00ODOD0O0O LaTeXOODOOODOOOOODOOODOOOODOODODOODODOODDOODOOD
000 Sage OO0 OO0OOOOODDOD latexOOODOOODOOOOODDOOODODOO latex.(OOOD .
000)0000D0 [Teb] OOODOOOOOOOOODODOOODOOODOOOODO

0000 latex.matrix_delimiters 000000000000 COOCODOOOCOOOODOOOCODO
gogooobooboobooboooboobooobooboobboobbobboobboobDbooboOoD
O0000000000O0O00U00oDOoOLaTeXOOOOOOOOODODOOOOOOPythonO OO0 ooo
oO000o0o00oO0 100oo00obo00ooo0ogooooooooooo
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sage: A = matrix(ZzzZ, 2, 2, range(4))

sage: latex(A)

\left (\begin{array}{rr}

0 & 1 \\

2 & 3

\end{array}\right)

sage: latex.matrix_delimiters(left='[', right=']")
sage: latex(A)

\left [\begin{array}{rr}

0 & 1 \\

2 & 3

\end{array}\right]

sage: latex.matrix_delimiters(left="\\{', right="\\}")
sage: latex(A)

\left\{\begin{array}{rr}

0 & 1 \\

2 & 3

\end{array}\right\}

latex.vector_delimiters 000000000 OOOO0O

(000000000 0)00000000000000000000 latex.blackboard boldOOOOO
ooobooooooooboooooooooobo0oobo0oooooooobOo0oboOooobooOooooooboOooD
OO0 (@IU0000)0DDO0O0O0O0O0O0000000 Sage0 00000000 \Bold{}O0OOOOODOODODODOO

sage: latex(QQ)

\Bold{Q}

sage: from sage.misc.latex import MathJax

sage: mj=MathJax ()

sage: mj(QQ)

<html><script type="math/tex; mode=display">\newcommand{\Bold}[1]{\mathbf{#1}}\Bold{Q}
—</script></html>

sage: latex.blackboard_bold(True)

sage: mj(QQ)

<html><script type="math/tex; mode=display">\newcommand{\Bold}[1]{\mathbb{#1}}\Bold{Q}
—</script></html>

sage: latex.blackboard_bold(False)

0000000000000 000o00oDOdTeXOOOODOOOOOODODOODDODODDOODODDO0OOOoOoOOooOoo
MathJax OO0 TeXOOODOOODODOOOOOOOOOOOOOOOOOOOODOOO

sage: latex.extra_macros()

I

sage: latex.add_macro ("\\newcommand{\\foo} {bar}")
sage: latex.extra_macros()

"\\newcommand{\\foo} {bar}"

sage: var('x v')

(x, v)
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sage: latex(xty)

X + vy

sage: from sage.misc.latex import MathJax

sage: mj=MathJax ()

sage: mj(x+y)

<html><script type="math/tex; mode=display">\newcommand{\Bold}[1]{\mathbf{#1}}
—\newcommand{\foo}{bar}x + y</script></html>

0000000000 000000000OMathlax OO0 000000000000 OO0OOOOOO
OO0O00 TeXOOOOOOOOOOOOOOOOOOOOO LaTeXOOOOOOOOOOODOODO
latex_extra_preampble JO0000000O0000D00OO000O0O00DO0OO00O0O Python OODOOODO
coobOooooocoOoboooooOooOoboOooooa

sage: latex.extra_macros('"')

sage: latex.extra_preamble('")

sage: from sage.misc.latex import latex_extra_preamble
sage: print (latex_extra_preamble())

\newcommand{\Zz} {\Bold{Z}}

\newcommand{\Bold} [1] {\mathbf{#1}}

sage: latex.add_macro ("\\newcommand{\\foo} {bar}")
sage: print (latex_extra_preamble())
\newcommand{\Zz} {\Bold{Z}}

\newcommand{\Bold} [1] {\mathbf {#1}}

\newcommand{\foo} {bar}

OO0D000 LaTeXOOOOOOOOOOOLaTeXOODODOOODODOODOOOODOOOOOODOOOOOOD
OO00O01latex.add_to_preamble UO0O0O0OO0O0OOOOOOODOODODODODODODODODODODODOO latex.
add_package_to_preamble_if_ availableUOUOUOO0OO0OODO0OO0OOOOODOOOOOODOODDOOOOO
oooooOoooOoOoOoDbDOoO0OoooOoobooooooo

OO000000000000 geometry 0000000000 O0O000O0 TXOO0OOOOOOO @OOODO
O000)0OoOoOooUooooooooooOo PythonODOOOODOOODOODODOODOODODOODOOODODODOOO

sage: from sage.misc.latex import latex_extra_preamble

sage: latex.extra_macros('"')

sage: latex.extra_preamble('")

sage: latex.add_to_preamble ('\\usepackage{geometry}")

sage: latex.add_to_preamble ('\\geometry{letterpaper,total={8in,10in}}")
sage: latex.extra_preamble()
'"\\usepackage{geometry}\\geometry{letterpaper,total={8in, 10in}}"

sage: print (latex_extra_preamble())
\usepackage{geometry}\geometry{letterpaper,total={8in,10in}}
\newcommand{\ZZ} {\Bold{Z}}

\newcommand{\Bold} [1] {\mathbf{#1}}
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oooooobooboobooooooobOobOoOoOoOoOoOobOOobOOoOOoObOOobOOObOOobOObOboOobOOooOOn
oooboooooooboooooooooboobooooDo

sage: latex.extra_preamble('")

sage: latex.extra_preamble ()

I

sage: latex.add_to_preamble ('\\usepackage{foo-bar—unchecked}")
sage: latex.extra_preamble ()

'"\\usepackage{foo-bar—-unchecked}'

sage: latex.add_package_to_preamble_if available('foo-bar-checked')
sage: latex.extra_preamble ()

'"\\usepackage{foo-bar-unchecked}"'

54 LaTeXOOODOODOOD

OO0O000D0O0O0O000000 TeXOOOOOOOOOOOOOOOOOODODOOOOOoOoOoOO0O0OoO0oooaO0
0000000000 MathJax(OO TeXOOO)0O TeXOOOO (OO0 LaTeXOOO)OOOOOOOOODO
oooooooood

latex.engine () OO00O0O0OD0QCO0O0OCO LaTeXOOOOOOOOOODOOOODODOOODODOOO TeXDO
0000 latex,pdflatex 000 xelatexUUOOO0ODOOOOO0OO0OOD0ODOO0OOOOOOOOOview()
Osage0000000D0OOCODOOOOCODODOODODO latexOOODOOODOOODOODOdAviODODOOOO sage
00000000 xdviODOOO)dviODODODODOODOOOOOO0DODO0OOTeXOOOOOOO pdflatexO0
O00DO00O0 sage0000D0O0O0OO view() OOOOOOOO PDFODOOOODODOO SageOOOOOOD
000000000 PDFOODOOOOODOO (acrobatd okular, evince 0 0) 0000

O000D00000000 TeXOUOOO Mathlax 000000000000 OQOODO LaTeXOOOOODO
ooood TeXOOOOOooooooooogooooobboboooooooboboobooooooggooo
O0000000D00D0O00000000 LaTeXOOOOOOOODOODOODODOOO MathJax D OO 0O
O latex(CODOO latex.engine() OO0O0OOOOOOODOOOO)OD0O0OO0OODOOOODODOOOOOD
latex.add_to_mathjax_avoid_list OO0 latex.mathjax_avoid_ listO00O0O0O0OO0O0OOOOO
ooo

sage: latex.mathjax_avoid_list ([])

sage: latex.mathjax_avoid_list ()

[]

sage: latex.mathjax_avoid_list(['foo', 'bar'l])
sage: latex.mathjax_avoid_list ()

['foo', 'bar']

sage: latex.add_to_mathjax_avoid_list ('tikzpicture')
sage: latex.mathjax_avoid_list ()

['"foo', 'bar', 'tikzpicture']

sage: latex.mathjax_avoid_list ([])

sage: latex.mathjax_avoid_list ()

[l
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OO0D0O0O0O0DO view() DOODOCOODOD “Typeset’ DO00DOO0OO0O0OOO0DODOOO LaTeXOODOOOOD
OO0 latex.mathjax_avoid list D0O0O0O0OO000O0O LaTeXDOODOODOODODOOOOOOOOODO
OO0 LaTeXOOO (latex.engine () OOOOD0)00O0 TeXOOOOOOODOOOOOOOOOOUO SageD
(0ooo0obooUoboo)0oo00ooOoO00DOOoO0U00OOO0U0bOOOoUOOoDOOoOUODODODOODOoOODOoOg
o000 100000000000 boOo0oooooooooo

0000000000000 00000DO00oO0Do0o00ooO0Do0Do0ODOoooOooOgTeXOOOoooo
oo0o0o00o0o0ooO0oO0oooOoO0OoDOOo00DOOoO00oDOOoO00oDOOo00DO00DOO00DObO00dvips, ps2pdf,
dvipng OO0 ImageMagick OOOOO convert DOOOOODOODOODOODOODOODOOOOOODOOOO
0000000000000 00000000000000000 PNGOOODDODOODOOODOOLaTeXODO
O0dvilO0O0 LaTeXOOOOOOOOOODOOOODOOOdvipngOOOOODOOODOOOOLaTeX OO
OLaTeXOOOOOOOODO dviOODO dvipng OOO0O0O0O special 000000000000 OdvipsdO0O0O
00000000 0DO0OCO0DOO0ODO0O0OO0ODO0OD0ODOO pdflatex000000OOO0OCODO PDFODO
000 convert 000O0O0O0OODOOOO PNGOOODOOOOOODDOOOODOODOOOODOOODOOOD
have_dvipng () O have_convert () DOO0O0O0O00O0D0OO0O0O0O0OOOOOOOOO

goboobobooboobooobooboooboobooobbuooboobbooboobbooboon
gbobooooobogooboobobobooooooobooboboboobooo

00000000 LaTeXUODOOOODOOODOOOODOOODOOOO(@OOO thkzgraph OO0 OO0OOOO
O00)00 LaTeX O tkz-graph 00000000 OOO0OOCOOCODOODOOODOOODOODOOODOOODO
gobooboboboboooboobobooboboobobooboboboboobDbOb0o obDbOobDbg sage.
misc.latex.LatexExamplesOOOOOOOOOO0O0OODO sage.misc.latex.latex_examples 00
goobooooooooooboboboboooboobogoooboboboboboooooooDobOobOoo
pstricks 00 0000000000000 xy, tkz-graph, xypic, pstricks 0 0 00000000000 O0O000O0O
00000000 latex_examplesU0OO000OO00OO0OOD0OO0OO0OODODOOOODODOOOOOODO
0000000000000 0000O000DODO00DO00O@WoOOoOOOD laexOOOOOOOOOOOOD
OO00D0OO0O0)000oDbO0o0DbOoO00b0 view() OODOOODOOOODO

sage: from sage.misc.latex import latex_examples
sage: latex_examples.diagram()
LaTeX example for testing display of a commutative diagram produced

by xypic.

To use, try to view this object -- it won't work. Now try

'latex.add_to_preamble ("\\usepackage [matrix,arrow, curve,cmtip] {xy}")",

and try viewing again -- it should work in the command line but not
from the notebook. In the notebook, run
'latex.add_to_mathjax_avoid_list ("xymatrix")' and try again -- you

should get a picture (a part of the diagram arising from a filtered

chain complex) .
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55 0000 tkz=.graph D OO0 OOOO0OOO

tkz-graph O00000COCOOO0O0O0O0O00O00O0O0(@OOOOOOOOOOOOO)ODOOOODODOOOOOO
Uob0oO0b0b0O0 pgfd0000D0 tikzOOOOOOOOOOOOOOOOODOOOOOOOOOODOODO
O00O00b00 TeXOOOOOOOODODOOOOoOooOOTeXOOOOoOoooooooooOooooooooo
0000000000000 00000000000000000000000000000 texmfOOOOOO
OooooooooO00oooooboO00o0ooooOo0O00oooooO0 TeXOOOOOOOOooOoOoOoOOooooo
ooooooooooooooOoooboooDbbo0oooooooDboO0ooooDOoOooDboOooOn0 rexooooo
goboooooooocooood

00000000 LaTeXOOODOODODOOOODODODODOODODODODDODODODODODOODOOOOOOD
OO0 dvilO000000000000000000000latex00000000 pdflatexO0OO0ODOOODOODO
O0000000000OSage0J000000DO0O view(graphs.CompleteGraph(4)) 0000000000
0000000 K,O00OOO PDFOOOODOODODODODOO

0000000000000 D0DooooooDo0Oooo0oOoon LaTeX OO OO MathJax 000000
mathjax avoid list 000000000 0OO0OODODOOO0O0O tikzpicture OO OGO OOOOOO
00000 tikzpicture U mathjax avoid list 0UO00O0DO0O0OOO0OODOOOOOOOODOO0OO
view (graphs.CompleteGraph(4)) 0O OOO0O pdflatex O PDFOOOOODOOOODOOQO convert
O000000ooooo PNGUOOOOODODOODOOOOOOO0OODODODODOOOOOOOOODOOOOO
00 LaTeXOOODODOOOOODODODOODODOODODDOODOOODODOOOO

sage: from sage.graphs.graph latex import setup_latex_preamble

sage: setup_latex_preamble ()

sage: latex.extra_preamble() # random — U0OUOOOOOOOOOO TexO OO
"\\usepackage{tikz}\n\\usepackage{tkz—graph}\n\\usepackage{tkz-berge}\n'
sage: latex.engine('pdflatex')

sage: latex.add_to_mathjax_avoid_list ('tikzpicture')

sage: latex.mathjax_avoid_list ()

["tikz', 'tikzpicture']

0000000000 view(graphs.CompleteGraph(4)) DD O0OD0OO0OO0O0ODOOODOO tkz-graph
O000000000 pdflatex000000000000000O00OO0OLaTeXO tkz-graphOOOODO
oooooOoooOoOoO0obDOoOoO0OooOOoO0OooOOoO00oDOoO0OoOoOoOoOOoDOOO00ODO0OoDbOOOoOOooOboOOoD
0000000 “LaTeX Options for Graphs” 0 0 00000000

56 TeXOOODODODDODODOOOO

TeX O Sage OO0OOO0OODOOODOOOOCOOODOODOOOODOOODOODODOOOODO TeXOOOD
OO000000LnuxOO00000 TeXlive OOOOOOO TeXOOODODOOOOOOOOOOOOOOOO
OO0O0O0O0OD0O00OSX OO TeXshopd Windows 00 MikTeXOOOOOODOOOOconvert 000OO0OOODO
ImageMagick 0O OO0 (DOO0O0O0O0O0O0O0O00)0000000O00O dvipng,ps2pdf 0 dvipsOOOO
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OO00000 TeXO0OOOOOOOOOOOOOOOOOO dvipng O http://sourceforge.net/projects/dvipng/ O
00 ps2pdf O Ghostseript 000000000000 OOOOO

OoOoCoOoOOoOOoOoOoOOoCoPGFOO0O0O0O0O0O0O0O0O0O0O0O0O0O0O0O00 tkz-graph.styO tkz-arith.styO
OO000000 tkz-berge.styOOODOO0O0OO0O0000OO0OtkzOOOOODOODOOO Altermundus site 0 O
ooopoooooog

57 J00O0OOOO

TeX O Sage 000000 D0O0O0O0O0OCOCOOOOO0OO0O0O000000000O sagetexOOOO TeXOOOOO
O00 LaTeXOOODO SageOODOOOO0OODOOOOODOOOODOOOODOOO latex() DOOOQOD
OO0000000000000000LaTeXO0OOOOO0000000O0Sage0 000 LaTeXOOOOODO
oo0oobo0oboobbo0oobUbboobbo0ob0bdODsagetex D000 O0DOo0oDOoooOoOoOobDOOD
0000000000 Sage0O0OOO0ODOOOODOOOOUOOODOODODOODODODUOODODOODOLOD
SageleX OO OODODOOODOOO

tex2sws 0 LaTeX OO0 Sage 0000000000 O00O0OOCOO0ODOOO0O0ODOOCOOOOOOOOODOOOO
OO0OMathJax OO 0000000000000 00000000 Sage000000000 SageOODOOODO
OO0O0O0O0O0Otx2swsOODOOO0O0O LaTeXOOOOOOOO Sage00000000000O0O0O0O0OOODOO
000000000 00Do0o00ooo000oooo0Uooon Sage00O0OOO0OOOOO SageOODO
OOOOOO0OO0OO0O0O0O0O0000000000000 tex2sws @ BitBucket D OOOODOO

DO0000D00sws2tex D Sage 0000000 LaTeXOOOODOODO LaTeXOOOOOODOOOOOOODODO
OOOOOODOOODOODODO sws2tex @ BitBucket 0000000
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6.1 Sage O OOOOoOoOOO0OO0O

0000000000 00000000000000 Sage00000000000D0ODDOO000ON0 example.
sage U0 0O0O0OO0O0OOOODOODOODODO:

print ("Hello World")
print (273)

example.sage U0 OOODOODOOOODOODOOO loadOOOO ODOOO

sage: load("example.sage")
Hello World
8

OO0ODO00OD0D0D00O Sage0O0OODODOODODODODDO attachOO0O0O0O0O0O0O:

sage: attach("example.sage")
Hello World
8

0000 attachOOO0O0OD0O0O example.sageDOOO0O0O0O0OQO SageODOOD0OOO0OODO (returnOD
0)0Sage 00000 example.sage DO 00O0O0O0OO0OOOOOO

attach 0000000000 O0OO0COOOOOOOO0OO0OO0OCODOOOOOOOOOO0OOO0OOO0O0ODOO00AO0
gooobooboobobbubb lecedbibbOO0obOO0DOOODOODOODODOODDOODDOODOODOD
ood

example.sage 00000 Sage OO0 Python 00000000000 OOO PythonODOODOODOOOO
0000 PythonUOUOODOOUOOOOOODOOODODOOOOOODOD Integer() DO0O0OODOODODODODO
RealNumber () OODO0ODOO "0 «+x 0000 R.20 R.gen(2) DO0UOD0OODOODOOOOODOODOODOOO
00 example.sage DO O0OO0O example.sage U OOOOOOO0OO example.sage.py U OOOOO




SageJOOQOO0OOO,0000 8.0

OO0O000000000000000 example.sage.pyd0O0O0O0ooooOoO:

print ("Hello World")
print (Integer (2) »+Integer (3))

0000000000000 0O0O0U0 "0 »x00O0D00O0OD0OO(PythonODO "O00000O00M »+«000O
goooooooo)

00000000 sage/misc/interpreter.py 00000000000

000000000000 0000000000000000000000000 SageO00DO0O00O0ODOOODO
OO0 {@dooO00oDOo0oDOoO0DbObOO00OO000O0O00DOO0DOO)I0O0OO SageObOOOoOoOOOOOOOOD
gboboboooboobobobobobooooobob attachO0OoooooonO

6.2 0000000

co0ooOoO00ooOo0oO0OOoo0oOOoOo0oDOoOoOooOCOPythonOOOOOOODOOOOOOOOODOOOOOOO
ooobooooboooooboooooooOooooboooobo0oooooooobObo0obOoOoobooOoooooOobOooD
O000Sage 00000000 PythonO0OOOOO0DO0O0O00O0OOO0O0O0D0DO0OOOD0OOOOOODODOODOOO
OO0O0000000000000Saged CythonOOOODOOOOOOOOO PythonOOOOOOO ([CytJ0O
[Pyr)O Cython O OPython 0 COO0OODO0DO0O0O0O00O0O0O0OOO0OO0O0DODOODOO +=00000 PythonO
OoOOoOoOoOOoOOOoooOoooOopython0 000000000 O0O0O0O0O0OOOOOOOOOOOOOOOOC
Oo0oo00oooooooooooOoo coo0gooooooooooOOoU00oooooooOCython OO
ooooocoooooocoooooOoOoOoOOoOOOOObOoboboDoo

Sage 00000000000 0DOODDOOOOODOOODOO (.saged000) .spyx00000000
gooooOoOoOoOoOoO0UOO0O0O0OOC0O0O0O0O0U0UL0UULOU0ULOUULOUULOUUOULDUOUDOUOUO attach
0000 lead 00000000 (UUODO0ODOODOUODOODOODOOODOO CythonOOOOOOOODO
0o0oooooo0oo)yoouooooouooooooooooooooooooooooooooooooo
0000000000000 00D00O $SHOME/.sage/temp/hostname/pid/spyx 0000000 O Sage O
gooooooooo

Sage 0 spyx 000000000 D0ODOOODODOOODOD spyxO000O0OO0O 1/300001/300000
OOO0OQ00O0OQ0OSage00OODDODODDOODODODO fool spyxUOOOOOOOOOOOO sage.all00O0O0O
00000 sage.all.fooOODOOOOOOOOODOO

import sage.all
def foo(n):

return sage.all.factorial (n)
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6.21 000000 COOOOO

00 *cO00O0O0OO00O0ODOOO0 COO0ODOOO0ODOOOOOOOOOOO0O0OOO0OOOO0O0DODOOO0OOD
test.c U test.spyxUUOO0O0OOOOOODOOOOOOOOOOO:

ooocoopooDoDoODOO0OD test.c:

int add_one (int n) {

return n + 1;

Cython 00000000 0O00OO0O test.spyx:

cdef extern from "test.c":

int add_one (int n)

def test (n):

return add_one (n)

0O00DO0oO000O0 cogbooooopoooooooon:

sage: attach("test.spyx")
Compiling (...)/test.spyx...
sage: test (10)

11

CythonO0OOOO0O000000O00O0COOOOOOOOOOOOOOOOOOOOOODODODO fooOOOOO
00000 CythonOODODO clib fooOOOOOODOOODOOODOOOO COODODOODOD barOOoODOODO
Cython 00 000000000000 cfile barJ00000O00O0OOO0DODOOO

6.3 0000000 Python/Sage O OO0

00000000000 Sage0000DOOOO0ODOOO0ODDOOODOOOO:

#!/usr/bin/env sage -python

import sys

from sage.all import =«

if len(sys.argv) != 2:
print ("Usage: <n>" % sys.argv[0])
print ("Outputs the prime factorization of n.")

sys.exit (1)

print (factor (sage_eval (sys.argv[1l])))

6.3. 000000 DO Python/Sage D OO0 99
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Co0OO0O0O0O0OD00000000SAGE_ROOTO PATHOOOOOOOOOOODODOOOOOOOOO factor
ooooooooooobooooogn:

bash $ ./factor 2006

2 % 17 = 59

bash $ ./factor "32xx"5-1"

(2xx — 1) x (1l6%x™4 + 8%x"3 + 4%x"2 + 2*xx + 1)

64 0000

Sage 0000000000000 OOOOOOOOOOOOOOOOOOOOOOOOPython 0000000
000000000000000000000000000 SageJO0O000000PythonD 00000000
0 Ostring(0 0 0)Olist0 0 0)0 000 (twple)DingD 0)DfloaD 00 000)000000000000000
ooo:

sage: s = "sage"; type(s)

<... 'str'>

sage: s = 'sage'; type(s) # 0000O0O0OODOO0O0O OQOOOOOODOOobOOOobDoOooo
<... 'str'>

sage: s = [1,2,3,4]; type(s)

<... '"list'>

sage: s = (1,2,3,4); type(s)

<... 'tuple'>

sage: s = int(2006); type(s)
<... '"int'>

sage: s = float (2006); type(s)
<... '"float'>

Sage 100000000000 O0O0O0O0O0O0O0O0O0O0O0O0O0O0O0OO:

sage: V = VectorSpace (QQ, 1000000); V

Vector space of dimension 1000000 over Rational Field

sage: type (V)

<class 'sage.modules.free_module.FreeModule_ambient_field with_category'>

g vooboobooobooobooboobobooboboobuoobooobooboobbobobooobbooo
OO0D0OO0DOOo0Ob0OoO0DbDO0d foo(v,...) 0O00O0OOOOODODOOOOOOOOOSagedO vOO (@moO)
OOoOoOoOoOoOoOoOoOOoOoODOO0Ob0JAVAD C++O0000O0O0O0O0O0O0O0O0O0O0O0O0O0O00O00O v.foo(...) O
goboboooooooboooboobobobooooobooooooboboboboboobooooobDobOobooD
goobbooopobbooobbooobbbooobbbddn foohlOOOoLDLOOOODLDDOODO
gogbooobobooboobobooobooboooboobooboboobbobDboobboobDbooboOoo
OO00OOO00DOOCO00OO00DO0O0O0O00DO0O0O00DOO0O0 (D00 zetaOOOUOODOODOOOOD
gO000o0OO0O0O00O0oo0oOooo oS00 0UULOUUOOOgg s=.5; s.zeta() OOOOOOODOO)O
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sage: zeta = -1
sage: s=.5; s.zetal()
-1.46035450880959

coobooooooooboooOoooOoOoOoOoboOoO0oOOo0oOoOOoOoOoOoOOcO0ObOOOODbOOOOoOoOboOoOoDn
ooboboooooooobboobooooooboooooooooooOooboOoooboobooooboooboooon

sage: n = 2; n.sqrt()
sqrt (2)
sage: sqrt(2)
sqgrt (2)
sage: V = VectorSpace (QQ, 2)
sage: V.basis ()
[
(1, 0),
(0, 1)
]
sage: basis (V)
[
(1, 0),
(0, 1)
]
sage: M = MatrixSpace(GF (7), 2); M
Full MatrixSpace of 2 by 2 dense matrices over Finite Field of size 7
sage: A = M([1,2,3,4]1); A
(1 2]
[3 4]
sage: A.charpoly('x")
X2 4+ 2%x + 5
sage: charpoly (A, 'x'")
X"2 + 2xx + 5

AO0O0OOOOO0OOO0ODOOUOOUOOOUOOO0OODOOOOOOOOOODOO0OODOOOOOOD OO
gboboooobobaAa.O00OO0O0OO0OO0ODOODODOD [teblOODOOOOOOOOO

65 000000000000

OOOo0oo00o0oo0ooooooooooooooooDooO@Ooooooooooooooooooon)CcO C++
O00000000Sage0 00000 ODOOOOODOOOOO:

sage: v = [2, 3, 5, 'x', SymmetricGroup(3)]; Vv

[2, 3, 5, '"x', Symmetric group of order 3! as a permutation group]
sage: type (V)

<... 'list'>

sage: v[0]

2
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sage: v[2]

O0O000OU0O0OU0O0OPython D int0 00000000 OSageD Integer 00000000000 DOODOODO
(Rational 00000000 __index 00000000000 OCOODOOOOODO)O

sage: v = [1,2,3]

sage: v[2]

3

sage: n = 2 # SAGEO OO
sage: v[n] # O00O0O0DOOO
3

sage: v[int (n)] # O00O0OO0OO

3

range JO0O0OPython O int 0000000000000 (Saged Integer 10 OO0OOOOD0O):

sage: range(l, 15)
(1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14]

U0 range0000000C0O00O0OCOO0O0OOOOO0OO0OO0O0OOO0C:

sage: L = [factor(n) for n in range(l, 15)]

sage: L

(r, 2, 3, 2~2, 5, 2 » 3, 17, 23, 32, 2 = 5, 11, 2”2 » 3, 13, 2 * 7]
sage: L[12]

13

sage: type(L[12])

<class 'sage.structure.factorization_integer.IntegerFactorization'>
sage: [factor(n) for n in range(l, 15) if is_odd(n)]

(1, 3, 5, 7, 3*2, 11, 13]

gooooooOoOoOoooooooooooooooooog (pjooooo

oooboodooboooooooboOooooooooOboO00obOo0 0000000 Lm:n] OO0 mOOOOOO
Ooon—-10000000O0DOO0OOOOOOOOOOCOOOOO:

sage: L = [factor(n) for n in range(l, 20)]
sage: L[4:9]

[5, 2 = 3, 7, 2”3, 3"72]

sage: L[:4]

[1, 2, 3, 272]

sage: L[14:4]

[]

sage: L[14:]

[3 5, 274, 17, 2 % 372, 19]
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0000000000000 000000000000000000000000 (immutable) D000O0O0O0O
ooooogo

sage: v = (1,2,3,4); v

(1, 2, 3, 4)

sage: type(v)

<... 'tuple'>

sage: v[1l] = 5

Traceback (most recent call last):

TypeError: 'tuple' object does not support item assignment

Sage 00000000 OOOOOOOOOOOOOOO0OOOOOOOOOOOOOOODOODOOOOO Python
ooboooooobooooooobDboooo0ooD0oooObo00ooO00bOb0000O00DD sequenceddn
00000 set_immutable0000000O0O0O0O0COOO0OOO0DOCOOOOO0OO0ODOOOOOOOOOO
oooooooboooobooobooooooon

sage: = Sequence([1,2,3,4/51)

v
sage: v
(1, 2, 3, 4/5]

sage: type (V)

<class 'sage.structure.sequence.Sequence_generic'>
sage: type(v[l])

<type 'sage.rings.rational.Rational'>

sage: v.universe()

Rational Field

sage: v.is_immutable ()

False

sage: v.set_immutable ()

sage: v[0] = 3

Traceback (most recent call last):

ValueError: object is immutable; please change a copy instead.

ooooooooodoobooobooooooooooooooooooooooooooooan:

sage: v = Sequence([1,2,3,4/5])
sage: isinstance (v, list)

True

sage: list(v)

(1, 2, 3, 4/5]

sage: type(list (v))

<... 'list'>

ooobooooobooooboooooooOoooOooOoO0ooboOoOoOoOoOoOoOoOoOOoOoOobDOoOoOobOOoOooOooOoboOooDn
ooooogooon
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sage: V = Q0"3; B = V.basis(); B

sage: type (B)
<class 'sage.structure.sequence.Sequence_generic'>
sage: B[0] = B[1]

Traceback (most recent call last):

ValueError: object is immutable; please change a copy instead.
sage: B.universe()
Vector space of dimension 3 over Rational Field

6.6 O0ODODOOO

0000000 (@oU0ooo0o0o0oo00oo0oU0O0oLD)LO00OOO00O0OU00OU0DDODODDOO0DDOUODOODOOOD
000000000000 o0oo0o0o0oooU0o0Dooo@UOo0Do0O0ooDoUOooooUoooooon
http://docs.python.org/tut/node7.html O http://docs.python.org/lib/typesmapping.html O 0O 0 O)

sage: d = {1:5, 'sage':17, ZZ:GF(7)}
sage: type(d)
<... 'dict'>
sage: d.keys()
[1, 'sage', Integer Ring]

sage: d['sage']

17

sage: d[ZZ]

Finite Field of size 7
sage: d[1]

5

ooooooooooooocooooooooOooooboOoooOo@o)boooooooooooooooooon
ooooooooooon

ooobooooooooboooboooOoOooOoOoOobOOoOoOoooOoOoOn:

sage: list(d.items())
[(1, 5), ('sage', 17), (Integer Ring, Finite Field of size 7)]

ooooooooodoobodoobooooboooooooooooooboooooooooood:

sage: d = {2:4, 3:9, 4:16}
sage: [axb for a, b in d.items()]
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[8, 27, 64]

coooooooOoocoobooooOooOOoOoOoOobocOoOoboOoOoOooooOon

6.7 OO

PythonOOODO (set) DOOODO0D0DO0O0OO0O0O0DO0O0OO00O0DOOO0O0O0DOOO0OOO0OOOOOODOOOOO
coobooooooooboooooooOooOoboOoOobOoOooOoOoOoOoOoOboOoOobOoOooobooOoo

sage: X = set([1,19,'a']l); Y = set([1,1,1, 2/37)
sage: X # random sort order

{1, 19, 'a'}

sage: X == set(['a', 1, 1, 19])

True

sage: Y

{2/3, 1}

sage: 'a' in X

True

sage: 'a' in Y

False

sage: X.intersection(Y)
{1}

OO0O00Sage O (PythonO OO OODOODOOOOOOOCOOOOOOOOO)0ODODOOODOOODOODOO
OO0 Sage000OCOO0OO0O0O000O0ODODODOOOOOOOO Sage00O0OO0OOOOODODODO Set(...)
ooobooboo

sage: X = Set([1,19,'a']l); Y = Set([1,1,1, 2/31)
sage: X # random sort order

{ra', 1, 19}

sage: X == Set(['a', 1, 1, 191])

True

sage: Y

{1, 2/3}

sage: X.intersection (Y)

{1}

sage: print (latex(Y))
\left\{1, \frac{2}{3}\right\}
sage: Set (ZZ)

Set of elements of Integer Ring
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6.8 000CODO

OO0000 (terator) DO O0O0O0O00O Python OO0 OO0O0O0O000O0O00O0O0OOOOOOOOOODOODODO
ooooooooooooooooooooooooooooo0o0 /pTJO0000C0C0CODO 10000000000
oobooooooooobocooboboooboooo

sage: v = (n”2 for n in xrange(10000000))
sage: next (v)

0

sage: next (v)

1

sage: next (v)

4

ocooooopbOO 4+1000000000O0C0O0ODOOOOOOOOODOOOOOOOOOOOOO

sage: w = (4+p + 1 for p in Primes () if is_prime (4xp+1))
sage: w # 0000 0xb0853d6c DOODOODOOODOO 1600
<generator object <genexpr> at ...>

sage: next (w)
13
sage: next (w)
29
sage: next (w)
53

goboobbgoobooboobobooboooboobo:

sage: [x for x in GF(7)]

(0, 1, 2, 3, 4, 5, 6]

sage: W = ((x,y) for x in ZZ for y in Z7Z)
sage: next (W)

(0, 0)

sage: next (W)

(0, 1)

sage: next (W)

(0, -1)

69 J00O0OO0OOOooOOoOoon

forJ0000000000D0DO0OO00DO0O00DO0O0O00DO0O0O0O0O0OOPythonOODO forOOOOOOO
ooobooooooooooooobooon:

>>> for i in range(5):

print (1)
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Sw NN RO

forJ0O000 : 0000000000 0O0O0O0DO0O0 print(1) 000000000 0O00O0OOOD (GAPO
Maple 00000 “do” 0 “od” 00 0)OPython 000 O0O0O0OOOOODOOOOCOCOOOOOO0O0O0O0O00O0O0O
O000OSage0O0 : 0000 enter 0000000000000 O00OO00OODOOOO

sage: for i in range(5):
et print(i) # OO0OODO [Enter] O 2000

U000 =0000000==00000:

sage: for i1 in range(1l5):
if gcd(i, 15) == 1:
el print (i)

if0d forOOO whileOODOOOOOOOOOOOOODOOODOOOODOOOOODOOOO

sage: def legendre(a,p):

e is_sqgr_modp=-1

e for i in range(p):

if a $ p == 172 % p:
e is_sqgr_modp=1

e return is_sqgr_modp

sage: legendre(2,7)

sage: legendre(3,7)
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0000000000000 Python/Sage D0 DODOODOO0ODOOOOOOOOOOOOOOOOOLegendre 000
O000000000D00000Sage0 00000000 kronecker JOPARIO COODOOODOOODO
Legendre 00000 O0O0O0OOOO

gogooooboood == '=0<=0>=0>0<0000000000000DO00O00O0DLDbOo0ObLbOo0On
obobooooooobooogo:

sage: 2 < 3.1; 3.1 <=1

True

False

sage: 2/3 < 3/2; 3/2 < 3/1
True

True

goboobboobiodol boolOODOODO:

sage: x < x + 1
x < x + 1
sage: bool(x < x + 1)

True

Sage 10 0000000000000 O0O0O0O0O0O0O0O0O0O0O0OOOOOOOOOOODOOODOOOOOO (O
0)H)OOOOOO@oOO0OOO(oercion) 00000000 ODOOOODODOODOODOOOOOOOD)QDODODOO
coobooooboooobooooooOoooboOoobOoOoO0OoOooOoOoOoOoObo0OobOOoOoOobOOoOoOoooOoboOoon
ooooooooooooocoOooooooooooooOooooooooooooOoo(@uoooo)yooon
000000000000 1is0000000 PythonO int0 1 000000Saged Integerd 1 000:

sage: 1 is 2/2

False

sage: int (1) is int(2)/int (2) # optional - python2
True

sage: 1 is 1

False

sage: 1 == 2/2

True

0000000000 00000000 FalsedOODODODOOOOODDQ—=F;000000F;0010
1eQO00D00OO0O0OO0DOOOOO0OOOOODOOOOOOODOOOOOOOO0DZ—-F;0000000 True
oobooOooooOooOoobooOoOobooOooboOoOoooOoooooOooon

sage: GF (5) (1) == Q0(1); QQ(1l) == GEF(5) (1)
False
False
sage: GF(5) (1) == ZZ(1); ZZ(l) == GF(5) (1)
True
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True
sage: ZZ(l) == QQ(1)

True

O0:Sage0 000000000 1€eF;01€QO00000O00Magmad00000000O0

sage: magma ('GE (5)!1 eg Rationals()!1") # optional - magma UUOUOUOUOO magmaUOOO

true

610 O0O0ODO0OO0O0OO

O O : Martin Albrecht (malb@informatik.uni-bremen.de)
godoooooooooooooooboo —-ooooooooo

coobooooooooboooOoooOoOoOoOoboOoO0oOOo0oOoOOoOoOoOoOOcO0ObOOOODbOOOOoOoOboOoOoDn
ooobooooboooooboooooooooboooboOoooooooobObooobboOoobooOooooooboOooon
0000000000000 0OOPython/Sage D0 0000000000000 O0O0OOO0O0OOOOO

O00D0o00000000000 prun00000000D0C000Dprun0000000000O0O0O0OCOODO
oooooooooooo0oooo0o0ooooooo0oboO(@OoOooD 100000 DOOO0)0DDOOO0OO
oooooooood:

sage: k,a = GF (2%xx8, 'a').objgen()
sage: A = Matrix(k,10,10, [k.random_element () for _ in range(10%10)])

sage: Sprun B = AxA
32893 function calls in 1.100 CPU seconds

Ordered by: internal time

ncalls tottime percall cumtime percall filename:lineno (function)

12127 0.160 0.000 0.160 0.000 :0(isinstance)

2000 0.150 0.000 0.280 0.000 matrix.py:2235(__getitem__)

1000 0.120 0.000 0.370 0.000 finite_field_element.py:392(_mul__ )

1903 0.120 0.000 0.200 0.000 finite_field _element.py:47(__init__ )

1900 0.090 0.000 0.220 0.000 finite_field_element.py:376 (___compat)
900 0.080 0.000 0.260 0.000 finite_field _element.py:380(__add__)

1 0.070 0.070 1.100 1.100 matrix.py:864(_mul_ )
2105 0.070 0.000 0.070 0.000 matrix.py:282(ncols)

O00 ncallsOOODDOOOODODO tottime JO0DODODOODODOOO(@CODODOOODOOOOD
OO0O00000D0)O percall O tottime O ncallsJO0OO00ODODOCOCOCOOOOOODO cumtime O
00000000 oDooDoooo0o0U0oU0oU0oDO0oDO0O0D0o0Do0D0 CoODOooDoDoOooDoOooDooDooDOoon
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SageJOOQOO0OOO,0000 8.0

0000000)0000 percall cumtime 000000 OD0DOOOODOOOOODOODOODOOD
filename:lineno (function) UO0O0O0O0O0OD0OOOOOOOOODOODODOOO prunD00O0OOO0OOO
god0oooooooboooobdoobooooooooobooooboooooooooooobooooDo

gooboooboboolb prun? bbb ooobooobbooobboobboobboOon
gooo

goboobobdoobdoobbooboobbooobuoobbooboobbo:

sage: S$prun -r AxA
sage: stats = _

sage: stats?

O0:stats = prun -r AAxA0O0O00O0O0OOOODOOCO0OOOO0OOOCOO0O prunO IPythonOOOODO
gbobobooooobooboboboboooog

0000000000000 0000000000Ohotshot00000O00O0O hotshot2cachetree00000O
O kcachegrindO0O0OD0O0O (UnixOOO)00000000000O0O0O0OOOO hotshotOOOOOOODODO
goo:

sage: k,a = GF (2%xx8, 'a').objgen()

sage: A = Matrix(k,10,10, [k.random_element () for _ in range (10x10)])
sage: import hotshot

sage: filename = "pythongrind.prof"

sage: prof = hotshot.Profile(filename, lineevents=1)

sage: prof.run("AxA")
<hotshot.Profile instance at 0x41l4cllec>

sage: prof.close()

0000000000000 00O0U0O0O00 pythongrind.prof 00000000 OOOO cachegrind 000
goboobobooboobbooboobobooboobboobo

ooooooooocooobooono

hotshot2calltree -o cachegrind.out.42 pythongrind.prof

000d0dddoobobob0oO0OgOodd cachegrind.out.4200000 kcachegrindOOOOOOODOO
0000d0DbO0o0ob00boboOo0obOOdn cachegrind.out.XXOOOODOOOOOODOOO
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SageTeX O OO

SageTeX 0000000000 Sage 00000000 LaTeXOOOOOODOOOOODODO0OOOOO0OOOOO
00000000 SageTeX 0OODODOOO0O0O0OO0O0O0O0OOOOOOOD (TeXO SageleX1OOOOODO OO
00)0

71 000

000000000000 0000 SageTeXODODODODDDODODDODODOODODODDDODOOODODOOOOoOOO
0000000 O00D0 SAGE_ROOT/local/share/doc/sagetex 0O OO0 0O OSAGE_ROOT/local/
share/texmf/tex/latex/sagetex 000 Python 0000000000000 OOCOCOOOOOODO
SAGE_ROOTUOOSageD0ODOOODODODOOOOOOOOOOO

SageTeX OO OOODOODOOOOODODO SageTeXOOOOODOOODO (TeXO SageTeX OO ODOOOO O)0O
Ub0b0000o0bOnDg st_example.tex U O0O0ODUO0ODO0O0ODOODOOOOOOO:

O0: ODOOO0OODOO “livevdO00O0OO0O0OOOOODOOOCOODOOOOOOODDOOOODODOOO
“static’ 000 0000OOOOO

\documentclass{article}

\usepackage {sagetex}

\begin{document }

Using Sage\TeX, one can use Sage to compute things and put them into
your \LaTeX{} document. For example, there are
S\sage{number_of_partitions (1269)}$ integer partitions of $12695.
You don't need to compute the number yourself, or even cut and paste

it from somewhere.

Here's some Sage code:




SageJOOQOO0OOO,0000 8.0

\begin{sageblock}
f(x) = exp(x) » sin(2xx)
\end{sageblock}

The second derivative of $f$ is

\ [
\frac{\mathrm{d}"*{2}}{\mathrm{d}x~{2}} \sage{f(x)} =
\sage{diff (f, x, 2)(x)}.

\]

Here's a plot of S$f$ from $-1$ to $15:

\sageplot{plot (f, -1, 1)}

\end {document }

00 st_example.texOOO000O0 LaTeXODOOOOOOO LaTeXODODODOODODDODOOOODOOOODO
oo:

Package sagetex Warning: Graphics file
sage-plots-for-st_example.tex/plot-0.eps on page 1 does not exist. Plot

command is on input line 25.

Package sagetex Warning: There were undefined Sage formulas and/or
plots. Run Sage on st_example.sagetex.sage, and then run LaTeX on

st_example.tex again.

0000000000 LaTeXODOOOODODODDODOO0OD0OD0ODODO0OO00O0D0D0O0 st_example.sageOOOOOO
OO0000D000000000 st_example.texO0OOODOOOODO0O SageOOOOOOOOODOO LaTeX
O00D00OD0OD0ODO00O0 st_example.saged Sage 000 O00OO0OO0OODOODOODOOOOOODODODO
st_example.tex OO0 LaTeX OO OOODOOODOOOOOOOOODODOOODOO st_example.sout O
0000000000000 0D0O000ODO Sage00O0OODO LaTeXOOOODOOOQOOOODOOOOOD
0000000000000 0o0 EPSO00000000000000000000000000 LaTeXOODO
O0O0O00OCOSage000O0O0O0OO0OOOCOOOODU LaTeXOOOOOOOoooooooQ

0000000000000 0000000000000000O0sageblockd00 Sage0ODOOOODOODO
000000000 Sage00000000O0DOOOODODO \sage{foo} 00000 SageO0O latex(foo)
00000000 b00oUu LaTeXOOOOOOOooobooobobooobobooobuooobboobooo
0 \sageplot{foo} O foo.save('filename.eps') UO0DOO0DOOO0ODOOOOOODOOOODODOOOODO
ooo

coooooooooobooooooon:

e LaTeX O texOOODOOOO
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« 00000 sageO00O0O0O0O SageO OO
e LaTeX O tex DO 000000
D000 LaTeXOOOO SageOOOCOOODOOODOOOOSage0OOOOOOODOODDODODOOO

SageTeX OO UOODODUOODOUOODOUODOOODOSageD LaTeXOOODUOODOOODDOODOOOSAGE_ROOT/
local/share/doc/sagetex 000 SageTeX OO DO ODODOO0OOO0OODOODOOOOO

7.2 TeX O SageTeXOOOOOOO

Sage 00 0O0OO0O0O0O0O0OOOOO0O0OOCOOOOO0OOOOOOOOOOOOOOODOOOOOOODOOO
OO00D0O0O0SageTeX O OOOOOOOOOOOOO

SageTeX OO OOOOOOO Sage JOOO0OOOOOO0OD LaTeXOOOOOOOOOODOOOQOOOSageTeX
O000000 Sage J0DOOOO0OOO0OO0O0O00OLaTeXO0OOOO0OOO0ODOODODOOOOO TeXOOOODO
SageTeXOOOOOOOOOOOOOODOO

0000000 TeX DO sagetex.styOOOOOOOOOOODOODOODO sagetex.sty OO SAGE_ROOT O
Sage OO0 OO0DO0OOO0ODOOODODOOOODOOOODDOOODSAGE_ROOT/1ocal/share/texmf/tex/
latex/sagetex/ 00000000000 TeXO sagetex.styO0OODO00O0O0O0OOOODDOSageTeX
ooo0ooOoooOoO0O0oDpOoO0OooOoOoOoboOoOoOooooOooooOoooD

- 0000000000 00D0DO0 sagetex.styOOOD0O0O0O LaTeXOOOOOODOOOOOOOOD
ODO00oO0o00ooOoOgTeXOOOOOOODOOODOODOOOOOODOOODOODOODOOODOO
ggo

O000oO0o000oooO0o0U0ooO0o0o00oooO0o00Do0O0DoOOo0oUoOoOoOoOooooOooOoo
goobD0DbD sagetex.styouooooooooooooooooooooobbbbbDbbn
O Sage 000000 SageTeX OO OODOOOODODOOOOOODOSageTeXOODOODO PythonOO OO
LaTeXOOOOUOOOOOUOOOOUOOOOOUOOOOUDOOOOUODOOO

- 00000000000 TEXINPUTSOUOOOOOODOOOObash OO OOOOOODOOO

export TEXINPUTS="SAGE_ROOT/local/share/texmf//:"

000000000000 SAGE_ROOTO Sage O O0ODOOOOOODOOOOOODODOOOOOOO
O0000C0O0D200000000000D000DO00C0ODO0ODO0OTeXO000000 SageTeX
gboboboooboobobooooboobuobobobounD JpashrcOOOOOOOOOOOODOO
000000000000 Obash DO OOOODODOOOOOOOO TEXINPUTSOOOOOOOOODODO
goboobbooboobboobooboboooboobbooboobbooboobbooboon

0000000000000 0D0 TeXShop O KileDO O OO Emacs/AucTeX 0O O0OO0O0O000O0O00OO
ooboooooooooboooobooooooooooboOooooooooOoooOoDoOoOobooOoOoOooon
O LaTeXOOOOOOOOOOOOOOO
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000000000 Sage0OOOOOOO0OO0O0O0ODOODOOOOOOODOOOOOOOOOOODO
Ubobobooboobod sace_rROOTOOOLOOOOOOODOODOOOODODO

« TeX O sagetex.sty00 00000000 (@OOOO)00000CCOOOOOOOOOOOOOOO

000000000000 DbO000000O00D0DO0bOU0TeXOOOooOoooooOoDbDobOooooDo
U0obooboboobooooooobUolb texmf 00000000000 DOODODODODODODOO
ggbooobobooboobboobooboo

kpsewhich -var-value=TEXMFHOME

O000OO00C0D00O /home/drake/texmf O /Users/drake/Library/texmf 00000000
000000 SAGE_ROOT/local/share/texmf/ 00 tex/ 0000000000 OOOODOOO
texmf 00000000

cp —R SAGE_ROOT/local/share/texmf/tex TEXMFHOME

O0O0O000O00000 sAGE_ROOTUODODOD Sage 000D ODODOODOODOODODOOODODODOODODODO
gbdboobd TEXMFHOME UOUODOO kpsewhichOOUOOOOOOOOOOOO

Sage 00000000000 SageTeXOOOODOODODODOODOOO0OOOOO0OO0OOODOOOOOOO
00000 SageTeX O Saged TeXOOOOOOOODOO

000000000000 0O0O00DDO0000OD0O00DO sagetex.styOOOOODODO TeXOOO
goboobbooboobbobboobboobbo0 rTexMFHOME UDOOO0ODOO0ODOOODODOOO

kpsewhich -var-value=TEXMFLOCAL

O0000000000000000 /usr/local/share/texnf 0000000000 O0O0O0OCOO
OtexO0OOOO0OOO TEXMFLOCALOOUOODOOODOOODOOOD TeXODOOODOOODODO
oboboboooobooboobobobooooooogoo

texhash TEXMFLOCAL

Uooo0ooobooOoon TEXMFLOCALOOOOOOOOO0OOOOO0O0O000000000000000
0000 SageTeXOOOOOOOOOODOOOOOOSageOOOOODODO SageTeXOOOOOOODODODO

O0: DOO0O0OOLaTeXOOOOOODODO sagetex.sty OOO0O0OOSage 00000 SageTeX
OO0DO0O00O0CDODOO0O00OO0OO0ODOO0OOSage0O0O00OCOOCODOOOOOODOOOODBLDOO
sagetex.sty 0O OO0O0OO0O0OO00O0O0OO0OO0OOOO0DOODOODO

SageTeX OO ODOODOOODOOCOOOCOO0OO texmf 0000000 OO0OOOOOOOOOO0@OOO
OoooooO0)ooooooooooo0ooo00ooOo0oooOD00ooOOo0O0OO0OOSagednO
SageTeXODOOODOOODOOOOOOOOOOOOOOOOOOOOOOODOOOODODOO
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7.21 SageTeXO OO OOO

0000 Sage 00 O0ODOO0OOOODOOOOODOOOCDODOO SageTeXOOODOOOOO SAGE_ROOT/
local/share/doc/sagetex/sagetex.pdf 0000000000 DO0OO0OOOOOOOOOOOOOOO
OO0000000000 LaTeXO SageTeXOOOODOOOOOODOOOOOODOOOOOOO (example.tex
0 example.pdf O00)DOO0OO0OODOOOO SageTeX bitbucket 100 OO0 OO0D0OO0OO0ODOOOODOOOO

7.2.2 SageTeX U TeXLive

000000000000 000000000C00 TeXOOOOOOODODOOO TeXLive 2009 O SageTeX OO
0000000000 oooooooooo0O0OC00O0O00000O0oOOSageTeXOOOOOOOOO SageO
LaTeX OOOOOOOOOOOOO0O0ODOSaged SageTeX DO OOODODOOODOOOOOOO TeXLiveOOOO
O00o00000o0oooooooooooooooooooobo0 (2013030)000000 LinuxDOODO
000000000000 TeXLiveOOOOODOOOOODOOOODODO20000000000000000DO
OOOD0O00ODO SageTeXOOOOOOOOOOOOOOOOOoOooooooooo

OOOOO0O0OO0OO0ODOODOOODOOOODODSageTeXO LaTeXOOOOOOOOOOOOOOOOOO SageO
OO0000000000D000C0000D0000000OSageTeXO SageO0O0 LaTeXOOOOOOOOODODO
0000000000000 0000SageTeXO LaTeXOOOOO TeXLive OOOOO0O0O0OO0O0O00O0O0O0OO
oooo
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8.1 OO PyhtonO OO

8.1.1 Python O OO
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